>

-

AN = G

FAEE E A A

SA: JIE0ArA
M HE2IZHI(OI= 0
chefr QIR (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
JI2loiaa 10,785,829 9,126,325 1,659,504
& 20,124 0 20,124
o 10,765,705 9,126,325 1,639,380
SHE2HAYI(JIEI0lAHA) 188,067 181,044 7,023
olEAZ H| 83,024 71,747 11,277
QIZAH[ (D El0fl ArAY) 83,024 71,747 11,277
101 @1244| 75,899 64,247 11,652
01 8=+ 75,899 64,247 11,652
OAlIZt2I 22 F(18Y) 19,173 18,476 697
—6= 9,6912*6H*10AI2H 123 6,978 6,756 222
-2 8, 7543 *9H+10AI 2+ 12& 9,455 9,155 300
—8= 7,859&x2H*10AI2H12F 1,887 914 973
—9= 7, 10423 1H*10A1 2128 853 1,651 AT798
o= 8, 7543+ 18H+30Al 2++12& 56,726 45,771 10,955
203 R=&H| 7,125 7,500 A375
01 J|22FARF 3,135 3,300 A165
OuflarE 2t 2165 0 2165
04 FN2ISERF 3,990 4,200 2210
ONlatEZ A210 0 A210
J|123| 105,043 109,297 A4, 254
Jl2gdul(O1=0faral) 105,043 109,297 A4, 254
201 2| 64,564 66,687 22,123
01 AtR2telt] 40,332 42,455 A2,123
OollsrE 2 A2,123 0 22,123
202 Ot 40,479 42,610 A2,131
01 SLHOYI 38,199 40,210 A2,011
OullarE 2 A2,011 0 22,011
02 WL 2,280 2,400 A120
ONlatEZ A120 0 A120
T HIEYN A2} 1,431,262 1,306,413 124,849
& 20,124 0 20,124
i 1,411,138 1,306,413 104,725
Su&Eel 2E D& =F 249,624 214,530 35,094
=& FRYLF FA 161,344 139,510 21,834
201 Ler2ZH| 79,562 83,750 A4,188
01 At22teld| 75,762 79,750 3,988
ONlatEZ A3,988 0 A3,9838
03 A2 ZEHI 3,800 4,000 A200
OlllarE 2 A200 0 2200
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SA: JIE0ArA
M ZEIFUAX G225
chelr QeI 2F D8 =F (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
202 04| 27,246 28,680 A1,434
01 =LHOHI 27,246 28,680 A1,434
OollarEZ A1,434 0 A1,434
203 S =&H| 1,900 2,000 A100
03 A RFRHRFEIH| 1,900 2,000 A100
oollarEZ A100 0 2100
207 SH1IHEH| 20,000 0 20,000
01 AR=EHH| 20,000 0 20,000
OgET 058 EZHE Y 20,000 0 20,000
301 LetB A3 9,436 9,880 A444
10 HAAHIE &3 8,436 8,880 N444
OoflarE 2t N4 0 N4
401 AEHIZL 20| 8,000 0 8,000
01 Al&HI 8,000 0 8,000
OZAHEXE & LI &A= EH| 8,000 0 8,000
lAE =& 28,500 30,000 A1,500
202 Ol 28,500 30,000 21,500
04 =2 Xz 28,500 30,000 1,500
oollarEZ A1,500 0 A1,500
SHWE AHY =& 59,780 45,020 14,760
201 2| 31,090 14,820 16,270
01 At22teld| 4,370 4,600 A230
OoflarE 2 230 0 A230
02 S=23| 5,220 220 5,000
OZMst XN&|s 253 5,000 0 5,000
03 A2 EHI 21,500 10,000 11,500
O=H23tuE 2tCet AFRA 12,000 0 12,000
Ol &= 2 A500 0 2500
202 Ot 10,640 11,200 A560
01 =LHOAHI 1,140 1,200 AB0
OoflarE 2 260 0 260
03 =220l 9,500 10,000 A500
oollarE 2 2500 0 2500
301 LB AZ 18,050 19,000 A950
07 2I2+e1=22I 04| 8,550 9,000 A450
OoflarE 2 2450 0 2450
08 28I=&0N| 9,500 10,000 A500
OollsrE 2 A500 0 2500




SA: JIE0ArA
M ZEIFUAX G225
chel: S8HQI Hldt 23 EERE))
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
SEHOI Hl& 2 72,000 52,198 19,802
S0a & =30 B 70,500 52,198 18,302
201 2| 41,622 22,760 18,862
01 At22teld| 41,622 22,760 18,862
Oge=2H| 39,400 19,400 20,000
—0llAbN RHIZE 20,000 0 20,000
ONlatEZ A1,138 0 1,138
202 04| 6,840 7,200 A360
01 =LHGHI 6,840 7,200 A360
OuflarE 2t 2360 0 2360
203 S F=&| 3,800 4,000 2200
03 AIHZ=XHRFAI| 3,800 4,000 2200
ONlatEZ A200 0 2200
FREAMAH 2 1,500 0 1,500
201 2| 500 0 500
01 At22teld| 500 0 500
OFLIH0A OXZE A S X 500 0 500
301 LEIEAZ 1,000 0 1,000
12 JIEt2 43 1,000 0 1,000
O=RIE0AH HHA 24t 5,000& 200X 1,000 0 1,000
OlatES2S 344,210 295,000 49,210
latsE2E 344,210 295,000 49,210
201 22| 122,210 65,000 57,210
01 At22teld| 82,710 45,000 37,710
oyt ZE+2HI(2 20,000 10,000 10,000
OAZAR3 EE-LHE) 70,0003 *428H 29,960 15,000 14,960
O3S3AbI(E) 15,000 10,000 5,000
OEXl, A2, &4, X AUE(E) 20,000 10,000 10,000
ONlatEZ A2,250 0 A2,250
02 2223l 20,000 10,000 10,000
OAIEEEl |XIHl S(E) 20,000 10,000 10,000
03 A2 19,500 10,000 9,500
OLBEA 2LXIA(E) 20,000 10,000 10,000
OulatEZ 2500 0 2500
202 Odb| 161,500 170,000 A8,500
01 =LHOHI 66,500 70,000 A3,500
OollsrE 2 23,500 0 A3,500
04 =HISt01H] 95,000 100,000 25,000
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PHEEY AL
seg (el m2)
A - FHB . GI(BH) - HRA - BES Ol ko AlimE=T
OOl A= 5,000 0 A5,000
LB AZ 47,500 50,000 £2,500
DI2roI= 2l 07| 28,500 30,000 21,500
OoollarE 2 A1,500 0 1,500
AL A 19,000 20,000 A1,000
OOl Az 2t 21,000 0 A1,000
Az 3,000 0 3,000
ERNS 3,000 0 3,000
OlAS IS & 245 ZAZ 3,000 0 3,000
MAROl AISHE =T 58,403 41,320 17,083
A Y FAIRIS XX 44,153 26,320 17,833
201 Ler2g| 17,79% 14,520 3,274
AR el 13,794 14,520 A726
OollarE AT26 0 NT26
A2 | 4,000 0 4,000
02013 BAR 2ol ¥ =T 4,000 0 4,000
202 018 6,384 6,720 1336
=40 6,384 6,720 1336
OulatEZ A336 0 A336
eyl 1,425 1,500 AT5
03 A= R ETY| 1,425 1,500 AT5
OoollarEZ AT5 0 AT5
207 IR 13,000 0 13,000
02 TARL| 13,000 0 13,000
OZ&dlel AHADAIAEH 2H
500,00021+8JH 2 4,000 0 4,000
0222 HEU A ST 2
300,00024%20% 6,000 0 6,000
OASTLY HUT FINALY 2= 29 3,000 0 3,000
P A 3,550 3,580 A30
10 EAAHI 2 A 570 600 A30
OullatEZ 230 0 A30
303 LAl 2,000 0 2,000
N3 2,000 0 2,000
OHEZAL S22 SFTAKY Ot AlAZ3 1,000 0 1,000
— zes 500, 00024+ 12 500 0 500
-2 % 300,000+ 12 300 0 300
- & 200,00024+1 200 0 200
OSH Se2A 73 3
200, 00025 1,000 0 1,000
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ma: 2
Al

AREOI 2 AFHE (cHel:&J)
SA - M G2(3H) - HRAY - BY Of] AboH JIEA HwsZ
A AFZEE] 14,250 15,000 AT50
201 LEr2 2| 12,480 12,600 A120
01 At22teld| 12,480 12,600 A120
OoflarE 2t A120 0 A120
202 il 1,770 2,400 A630
01 2| 1,770 2,400 A630
Ol atE 2 A630 0 AB30
2 ASAR9 115,754 121,320 Ab,566
ML 11,400 12,000 A600
201 LEH2 | 10,800 11,400 A600
01 AtR2telt] 10,800 11,400 A600
OulatEZ 2600 0 2600
E=Es 104,354 109,320 4,966
201 LEr2 2| 93,634 98,600 A4,966
01 AtR2telt] 93,634 98,600 A4,966
Ol &t 2 A4,966 0 A\4,966
=5t SHZAH 35,212 36,591 21,379
HEAL L 22| 35,212 36,591 1,379
201 B2 | 25,591 26,970 1,379
01 AtR2elt] 25,591 26,970 1,379
ONlatEZ A1,379 0 A1,379
&e 28 EE A 556,059 545,454 10,605
& 20,124 0 20,124
i 535,935 545,454 29,519
N8 ¢z L WX + 41,420 43,600 A2,180
201 L2 | 41,420 43,600 A2,180
01 At22teld| 41,420 43,600 A2,180
ONlatE 2 A2,180 0 A2,180
ZEE & EE=S MH 438,065 443,254 AN5,189
201 LEH2 | 389,784 409,634 219,850
01 AtR2telt] 377,140 396,990 A19,850
oollarE2 219,850 0 A 19,850
202 04| 3,249 3,420 A7
01 =LHOHI 3,249 3,420 A171
OollarE 2 A7 0 A7
203 FLF&| 23,750 25,000 A1,250
03 Al =R 23,750 25,000 A1,250
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S Dol
M PHIYUN AU
ol ChYst 2% 22 &Y (Sr9): 1)
SA - FH - S2(33) - MPAY - BAS Ofl At )= F{ImE=ST
OulatE2 A1,250 0 A1,250
301 LetBA=3 6,082 5,200 882
12 JIEtEA3 6,082 5,200 882
ORH2I0DIN 2125 L 2aEY
7,0003*21H+63] 882 0 882
303 Z&= 3,200 0 3,200
01 Z&3g 3,200 0 3,200
OSNS & ZZLCl0DIA &5 SF=2A A&z 1,800 0 1,800
—z|f 700,000&* 11 A 700 0 700
-2 £ 500,000&* 11 A 500 0 500
-3 300, 000215222 A 600 0 600
OSNS 2 BHLLIIDIN BE SE22H AlL
=2 1,400 0 1,400
—z 300,000&*1H 23] 600 0 600
-2 200,000& 18 23] 400 0 400
& d 100,000& 2 *23] 400 0 400
405 XHHH S| 12,000 0 12,000
01 ML ESEH S 12,000 0 12,000
OArl 28 A0 12,000,000 =1CH 12,000 0 12,000
o E2E 22 35,724 15,600 20,124
= 20,124 0 20,124
i 15,600 15,600 0
401 Al ZHIL O] 20,124 0 20,124
S 20,124 0 20,124
01 Al&HI 20,124 0 20,124
O £ S73AHEHZTIEH) 20,124 0 20,124
== 20,124 0 20,124
HE1S018 2321 40,850 43,000 £2,150
201 24| 40,850 43,000 22,150
01 At22teld| 40,850 43,000 A2,150
OollarE 2 22,150 0 22,150
Neas 6,657,079 2,750,100 3,906,979
ERWNE 6,657,079 2,750, 100 3,906,979
=CHIEXZ Btels 2,606,979 500,000 2,106,979
802 Btet=zJIEt 2,606,979 500,000 2,106,979
01 = N2X3ttez 2,280,071 300,000 1,980,071
OZNEXZAMSTHBIEF 0 300,000 /300,000
O=0I=X14 371,687 0 371,687
—2012 FHOHOISTHE X ZAK 12,082 0 12,082
—2012 ZOHOtSHEXIZ AL Ol Xt 422 0 422
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A JI=0AA
Hu: JRBS
o©el: 2dXIE (cHel:&J)
S - ZB . CRI(EI) - HIRAY - BES il ko J|Eo HimE=]

—A&0I0IE20tsLE+Y 434 0 434
—EBK|E=sAMEIA 91 0 941
—SESAIEXHA(2LEZM4&]) 189 0 189
—SBRAEX2(LIHPLEI) 732 0 732
—HAESEMARE OlA 5 0 5
—HAESNEHAAASKAMEHE2Y O A 3 0 3
—SCEEE 29 0k 4 0 4
—Ot0I=20IArE 5,643 0 5,643
—OtOIZ=20IArY OIXt 101 0 101
—XG0tsHH 2S K& 846 0 846
—OtsS=XI A XI& 19,94 0 19,964
—2010 JtELIEOls A28 =E X~ 441 0 441
—2010 LLIELIEOtSA2IXIZ XA 840 0 840
—2010 OtsSLEX2AH X XA 1,461 0 1,461
—2012 Ot LE X2 AH K& 6,239 0 6,239
—HRL= oIk 29,704 0 29,704
—SIRLIIEXA(0ISLKHI) 2,642 0 2,642
OHE XAt 2,714 0 2,714
—HEZEs SSIIE A=A & OlA 2,703 0 2,703
—SEHMHUSHA =AY OIXt 2 0 2
—ZES0tSEZ 2t SEAS OIAt 9 0 9
OF =Xt 39,420 0 39,420
—MIINSHES & SHEAZUHRFH(2011) 39,420 0 39,420
OZst2-& 1t 3,031 0 3,031
—2012 GBS ™HALS 123 0 123
—2012 Z2AZHEAL SEAIL 2,908 0 2,908
OAZ=AAD} 23,406 0 23,406
—2012 AEX=HIRH At 2,170 0 2,170
2012 LRSS RIS A BHXI AL 1,840 0 1,840
—2012 LQIMGMEMSF RIS BHXIA 19,320 0 19,320
—AlZordae| ZZRSB(EHES! pc) 76 0 76
OtE =X 106,536 0 106,536
—2012 EtAIQOIE OIMIEIE K& 195 0 195
—2012 M=2A HU &XI XI&AE Okt 70 0 70
—2012 O == LIoHHIZAIE &X 3,353 0 3,353
—2012 Or== TIoHHEAIE &XI Ok 40 0 40
—2012 =AY 988 0 988
—2012 S AtE OIXt 21 0 21
—2012 M SZLAHE XS 517 0 517
—2012 MSZHAHEES OlAt 14 0 14
—2012 HM=IHIIAS 33,137 0 33,137
—2012 M= RIIAIY Ol At 663 0 663
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M JI=0AHA
. ess
o9l BHXE (cr): =2
S B SRA(SH) - NRAY - B 0 apot pE-L HIDZ
—2012 ASHIOILQUA WS 3,877 0 3,877
—2012 AEHIOIR0iA WS OIAt 78 0 78
—2012 B2 ESAMY 2,138 0 2,138
—2012 HI 2SS A OIA 43 0 43
—2012 ATHF AKX A 11,000 0 11,000
—2012 ATHFMALKIZ ALY Ol Xt 220 0 220
—2012 BA2ZRRP 24= 901 0 901
—2012 &2 &SRt 20,000 0 20,000
—2012 SdI0OIEXC] XIR&AHS 28,824 0 28,824
—2012 ==oiMdIDIx el 457 0 457
Ozlgdsdu 451,89 0 451,8%6
—2011 =&Y HAZNEAIE XA 270,000 0 270,000
—2012 HASEHYENAIE 1,767 0 11,767
—2012 Z€=sHA=HAIS 59,775 0 59,775
—2012 E2HEN KI&AA 3,764 0 3,764
—2012 sHI&=2 S XZA 1 0 1
—2012 ABBSHHINSH 1 0 |
—2012 AEE=sFI e K72EE 3,900 0 3,900
—2012 LBHAGIAIL (SIRAIMNE =) 25,996 0 25,996
—2012 DFHIDHE THEHAIE X~ 9,869 0 9,869
—2012 sSSHLUI| AIZHHEI| X2 4,720 0 4,720
—2012 HIUXIZZAIL(CIEE2294H) 2,290 0 2,290
—2011 OI2 OIUXIZZAIE(CIEE23HE) 564 0 564
—2012 ATHANIH X (SHZS) 30,924 0 30,924
—2008 JISHAA 602 0 602
—2011 JI=SYIAIS 153 0 153
—2012 AD[0I1=EHl K& 1,400 0 1,400
—2012 & HEEAE NEAS 26,170 0 26,170
Ool ==kt 1,173,552 0 1,173,552
—2011 EEt TS SBAAA(ZSERIIM
SAANAS 180,000 0 180,000
—2011 =0 OILXl 0l &3 At 976,330 0 976,330
—2012 &0 ({2HH 2XZ A 451 0 451
—2010 ol MelD| HatEotE &X 25 0 25
—2010 o MelD| HaEeHE &XI OIX 1 0 1
—2011 oHMeD| HdadoHE &XI 270 0 270
—2011 o MelD| H&EGHE &XI OlX 2 0 2
—2011 =S LM eD| ==0HAH 1,469 0 1,469
—2011 Y S AUAMY D] =0HALS OIX 4 0 4
—2012 oHitel MIHAM 15,000 0 15,000
OZHIeHH It 32,283 0 32,283
—XLSSHL XA 328 0 328
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I IN,
B HREs

©@e: BEXE (el &)
S - T - SRI(SH) - HRA - BES 0 apot plEE" AimE=T
—2009 Hl483] CRIMEHIS ZBIIALE HE=
AN 25E &F) 2,258 0 2,258
—2009 OI2 St FRIME HFS2 ZdA
& 800 0 800
Og& =1t 27,203 0 27,203
—2012 A 85 0 85
—2012 ZEAtE OIRt 2 0 2
—2012 M SIS AH Y 156 0 156
—2012 ASHIAH AL 0Kt 5 0 5
—2012 BRI A 7,958 0 7,958
—2012 AM=IIRIIAIE Ol At 160 0 160
—2012 ASTHESXJ WS 224 0 224
—2012 M STHRASKZ WS OIAt 5 0 5
—&E SR 9,000 0 9,000
—2012 £dI0IEXM] KIZAAS 9,608 0 9,608
OzlgZd=sEu 120,453 0 120,453
—2012 sHHIXEAS RS KIFAALS 32,281 0 32,281
—2012 sIt=<01 XIFA 1,184 0 1,184
—2011 34 AXZNEAIE XA 27,000 0 27,000
—2012 ELNSH KRAAS 537 0 537
—2011 s&EMo2E2 NJAAS 230 0 230
—2012 s&H=M2EE XNJAAS 4,459 0 4,459
—2012 2EEsHI e XRES 1,950 0 1,950
—2012 RII=AAES 113 0 113
—2012 LEHEMNISLE0l 3= 3,947 0 3,947
—2012 MSESMUSESTAIZ RAYRE 10 0 10
—2012 AME N FRs A S MR 1,222 0 1,222
—2012 LEHACIAIE (AIEGIRA HE=) 3,959 0 3,989
—2012 DFHIJE THHHAIE XI& 1,481 0 1,481
—2012 =SS AIZMAIZEI| 22K 708 0 708
—2012 NSE3ES sHUM S4 12,500 0 12,500
—2012 ==SEUSIHSHEAMS 744 0 744
—2011 0|2 =SS HSHEAMY 3,000 0 3,000
—2012 ASASAHE MAHI =4 4,133 0 4,133
—2012 A0&= +==0lZet 25 7,009 0 7,009
—2011 OI2 U&= ZHH MIMS 5,000 0 5,000
—2012 OIUXIZZAIE (CIE2231HI) 344 0 344
—2011 Ol OIUXIZZAIE(CEE294H!) 56 0 56
—2012 ATHANIHXI(SHZS) 3,093 0 3,093
—2012 WA ATHE KIRAS 1,908 0 1,908
—2012 GAPRIS =0t =2 XA 758 0 758
—2012 s4ttEA82ED XX 220 0 220
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A JI=0AA
mu Rss
o©el: 2dXIE (cHel:&J)
S - B S9(3IH) - ARAY - BES 0] apot plEE HlRE2
04 SLEIXUIAZLE 2,605,200 805,200 1,800,000
02009 WRMZHUZ(ZSXZ220IZ) XD
=) 2,500,000 700,000 1,800,000
o8l 2,509,421 4,888,768 A2,379,347
(G {l=]l=] 2,509,421 4,888,768 A2,379,347
ollgigl 2,509,421 4,888,768 2,379,347
801 0lldIY| 2,509,421 4,888,768 2,379,347
01 oilgisl 2,509,421 4,888,768 A2,379,347
ooliglyl 2,509,421 4,888,768 A2,379,347
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20138 = =& 1 3] LS| &l

AN = 0l &

AP & A A

2 FoEXA
. #H2IAH(FUSTA)
chefr QIR (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
FosA 57,384,721 53,562,423 3,822,298
= 32,881,594 31,220,869 1,660,725
| 78,650 78,650 0
&2 1,321,704 2,207,262 885,558
= 9,627,307 7,636,724 1,990,583
o 13,475,466 12,418,918 1,056,548
Y 2IZH(F2U=STA) 215,244 189,391 25,853
ol | 120,620 96,081 24,539
o124d| 120,620 96,081 24,539
101 @1244| 116,630 91,881 24,749
01 8=+ 116,630 91,881 24,749
OAIZI2I2R+Y FHZ(28Y) 28,389 25,768 2,621
—6= 9,691 &+ 6H*10AIZ2H12& 6,978 7,882 A904
72 8, 7543 * 7T+ 10AIZH12& 7,354 6,103 1,251
—8= 7,859 % 14H+10A12H+12& 13,204 10,957 2,247
—9= 7,1043x1G*10A1 20123 853 826 27
O=2e=e 8,754 *28H+30A 2+ 128 88,241 66,113 22,128
203 E=&H| 3,990 4,200 A210
04 FN2IHRFEHI 3,990 4,200 2210
OlllarEZ A210 0 2210
Jl23| A, 624 93,310 1,314
J|=23Hl HA,624 93,310 1,314
201 2| 46,365 46,500 A135
01 At22teld| 46,365 46,500 A135
OZ gl SHAH & 27,799 26,070 1,729
OularE 2 A1,864 0 A1,864
202 o4t 48,259 46,810 1,449
01 2| 48,259 46,810 1,449
O=3Ho{BI (LK) 33,752 31,330 2,422
O=3LHoHI(22) 16,848 15,480 1,368
OoollarE 2 2,341 0 22,341
MIISX DIt xS 1,218,186 849,741 368,445
= 446,233 412,377 33,856
& 84,659 67,270 17,389
[ 687,294 370,094 317,200
N SAHIEHZSE 101,217 102,679 A1,462
= 22,158 22,694 A536
& 6,519 6,519 0
= 72,540 73,466 2926
A SAHHEH2Z X 33,810 34,200 A3
201 YEH2 | 4,085 4,300 215

_134_




2A: FDSKA
M ABI=X Jlgt xS
&2 AEAHE 2SS (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
01 AtR22t2ldl 3,135 3,300 A 165
Ol 2 A165 0 A165
03 A2 HH| 950 1,000 50
OularE AB0 0 AB0
301 LEtEA= 3,325 3,500 A175
10 SHAMAIHIE A2 3,325 3,500 A175
Ol atE 2 ANV 0 A175
N2ASAEAEE K& 24,787 25,859 A1,072
= 3,014 3,550 A\b36
& 6,519 6,519 0
o 15,254 15,790 A\b36
301 dEtEA= 19, 160 20,232 A1,072
= 3,014 3,550 A\b36
T 3,939 3,939 0
iy 12,207 12,743 A\b36
12 J|Et2 A= 6,028 7,100 A1,072
OXASAHAL Aol 20+ 6,028 7,100 A1,072
= 3,014 3,550 A\b36
= 3,014 3,550 536
KNSGASEXN LR EE 564,997 512,065 52,932
= 424,075 389,683 34,392
& 63,700 48,711 14,989
o 77,222 73,671 3,551
NS ALSI =S X H & 23,212 23,960 NT748
201 LBt23Y| 2,090 2,200 A110
01 AFR2t2lt| 2,090 2,200 A110
OularE A110 0 A110
202 (4d]| 1,710 1,800 A0
01 =L I 1,710 1,800 A0
Ol aEZ 290 0 A0
301 LEtB A= 3,412 3,960 A\b48
10 HAIAHIE A= 3,412 3,960 A\b48
OularaE 2 AB48 0 A548
KNI AS MBI ASE XA 540,785 487,105 53,680
= 424,075 389,683 34,392
== 63,700 48,711 14,989
o 53,010 48,711 4,299
101 2124d| 9,408 0 9,408
& 9,408 0 9,408
04 JI2tHIZ2E2XNSES 9,408 0 9,408
OxZ1 stIISH| KA 9,408 0 9,408
< 9,408 0 9,408
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SA: FOISR|A
LN EBIEE
e AN EWEEESS (Sro): M=)
A -3 - SRA(ZH) - MRAY - BES Oll &+t JIEN HwsZ
201 B2 ] 1,282 0 1,282
= 1,082 0 1,082
01 AFR22IH] 1,282 0 1,282
OXED sl KA 22| 1,282 0 1,282
< 1,282 0 1,282
202 01t 1,250 0 1,250
2 1,000 0 1,000
= 125 0 125
2 125 0 125
ENE] 1,250 0 1,250
OXIHABIMEIA SXEAS 1,250 0 1,250
2 1,000 0 1,000
< 125 0 125
2 125 0 125
307 BI2H0IH 508,845 487,105 41,740
= 423,075 389,683 33,392
= 52,885 48,711 4,174
2 52,885 48,711 4,174
05 BIRISIErS 528,845 487,105 41,740
OXIHABIMHIA SXEAS 508,845 487,105 41,740
= 423,075 389,683 33,3
= 52,885 48,711 4,174
2 52,885 48,711 4,174
20t 2& 2ol L N 551,972 234,997 316,975
= 14,440 12,040 2,400
2 537,532 222,957 314,575
BEGAT K L N 530,975 216,400 314,575
301 Y23 199,575 137,000 62,575
01 ABIEER G 193,800 133,500 60,300
OBHRBAN 184,800 124,500 60,300
~EHRTT Yoo
30, 00021 +6602+6 220, 0002 +5002 <62 178,800 120,000 58,800
GG EE 200,00021+30% 6,000 4,500 1,500
10 A2 AIS 5,775 3,500 2,275
OHEY BA BEIE 24 7,0002+8502 5,950 3,500 2,450
OoAE2 A1T5 0 A1T5
307 BIRH0IH 81,400 79,400 2,000
IEIEEES 65,000 63,000 2,000
OtfsieI= LA FrERE 29| 5,000 3,000 2,000
402 DIXHZ0IF 250,000 0 250,000
01 PIRI= % 250,000 0 250,000
OBTSRET J19y| 21 250,000 0 250,000
518 R X2 13,440 11,040 2,400
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2N
X XH - }\
=R B

3
& 20t BE 2el

= A& (&9 29)
SH - B SR(3) - NRAY - BES oflare pIE<L! AimE==1}
= 13,470 17,000 2400
301 Ypraa 13,440 11,040 2,400
< 13,440 11,040 2,400
REEEEESE 13,440 11,040 2,400
O518 2 A H| 13,440 11,040 2,400
[ 13,440 11,040 2,400
B ENEEES, 8,650 8,782 A132
EREES 8,650 8,782 A132
EEEN 8,650 8,782 A132
201 Lt | 6,650 6,782 A132
01 AFR 22| 1,068 1,200 A132
OO AHE 2t A132 0 A132
13,122,615 12,963,459 159, 156
= 10,204,453 10,191,780 102,673
= 1,285,520 1,276,611 8,909
= 1,542,642 1,495,068 47,574
10,517,780 10,390,024 127,756
= 8,233,310 8,162,087 71,273
= 1,023,857 1,014,948 8,909
= 1,260,613 1,213,039 47,574
66,000 60,000 6,000
66,000 60,000 6,000
66,000 60,000 6,000
02+ 128 66,000 60,000 6,000
225,503 144,322 81,181
= 180,403 115,458 64,945
[ 22,550 14,432 8,118
= 22,550 14,432 8,118
225,503 144,322 81,181
= 180,403 115,458 64,945
= 22,550 14,432 8,118
2 22,550 14,432 8,118
225,503 144,322 81,181
225,503 144,322 81,181
= 180,403 115,458 64,945
[ 22,550 14,432 8,118
= 22,550 14,432 8,118
5,814 6,120 1306
201 Lt 5,814 6,120 1306
01 AFR 22| 5,814 6,120 306
OO ARt 306 0 306
IEMBRE +2T N 79,820 46,850 32,970
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2AM: FUSXA
M HASES MEHE XA
Hel: JZMESaZ S0 ¥ HASKIA (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
202 (481 570 600 N30
01 2LHH] 570 600 A30
OularaE 2 A30 0 A30
301 et A= 79,250 46,250 33,000
01 AR E&EE 062 79,250 46,250 33,000
OFANE MH2HS FS &2 N
300,000&x110H 33,000 0 33,000
J|Z=MESEZN 9,761,724 9,753,813 7,911
= 7,809,381 7,803,053 6,328
& 976,171 975,380 791
iy 976,172 975,380 792
301 LEtBE A= 9,541,724 9,533,813 7,911
= 7,633,381 7,627,053 6,328
& 954,171 953,380 791
iy 954,172 953,380 792
01 AISIEEE 262 9,541,724 9,533,813 7,911
OJ =823 320 9,541,724 9,533,813 7,911
—MAHZ 7,781,493 7,744,405 37,088
= 6,225,195 6,195,525 29,670
& 778,149 774,440 3,709
= 778,149 774,440 3,709
E= =10 283,194 312,371 N29,177
= 226,555 249,897 23,342
= 28,319 31,237 N2,918
o 28,320 31,237 N2,917
MNaAss ANEXA 2,604,835 2,573,435 31,400
= 2,061,143 2,029,743 31,400
< 261,663 261,663 0
o 282,029 282,029 0
A=A 29 2,249,673 2,249,673 0
= 1,774,573 1,774,573 0
= 224,967 224,967 0
iy 250,133 250,133 0
201 LBH23Y| 39,000 40,000 21,000
= 31,200 32,000 800
< 3,900 4,000 A100
= 3,900 4,000 A100
01 At22t2ld| 39,000 40,000 21,000
OXZAIEF=E 29| 39,000 40,000 A1,000
= 31,200 32,000 A800
& 3,900 4,000 A100
= 3,900 4,000 A100
301 et A= 1,044,412 1,043,412 1,000
= 835,530 834,730 800
& 104,441 104,341 100
iy 104,441 104,341 100
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SN FOIST|A
HE: HASS MBOE X2
©9l: HASE XX (Srol: &)
SN - 3 - SRA(SIH) - MRAY - BES Ol &FoH JIEH HwEZ
10 BAAE 2 A 1,000 0 7,000
OXIEARY BAHEIIR XI) 1,000 0 1,000
2 800 0 800
= 100 0 100
2 100 0 100
KRR ZAEAL ALY 31,400 0 31,400
= 31,400 0 31,400
101 21248] 31,400 0 31,400
= 31,400 0 31,400
04 IRII2EAS 2+ 31,400 0 31,400
ORI XA AMEAL S04 29,210 0 29,210
2 29,210 0 29,210
ORI XIBEHAEA 2LHOIH| 1,300 0 1,300
2 1,300 0 1,300
ORXIBEHAEAL AR 890 0 890
2 890 0 890
wol =X 57 21,944,227 20,484,009 1,460,218
2 13,628,462 12,692,986 935,526
| 13,500 13,500 0
= 283, 151 1,341,228 1,088,072
= 3,172,130 1,923,962 1,248, 168
2 4,846,984 4,512,388 334,5%
COSTNE SEX 5,588,113 5,394,493 193,620
= 459,771 415,280 44,491
£ 215,924 1,273,996 A1,058,072
= 2,315,494 1,196,368 1,119,126
2 2,59%,924 2,508,849 88,075
d2g 12 362,075 244,150 107,925
202 014 1,425 1,500 AT5
ENE] 1,425 1,500 ATH
OvAE2 AT5 0 AT5
402 QI2HRHROI 280,150 172,150 108,000
RIS 280, 150 72,150 108,000
OF2Y 5% 2 K 168,000 100,000 68,000
e 4,000,00021+425 168,000 100,000 68,000
O2Y 2217 2L 2,500,0002+42H 4 105,000 65,000 40,000
Col=xEE 2 26,100 25,824 276
201 er2gy| 20,244 19,344 90
01 AFR gl 2,400 5,000 ~2,600
OYLBIEBH|(LQI=RIR) 2,400 5,000 £2,600
—xtg sXlz 0 2,600 £2,600
02 32| 17,844 14,344 3,500
ONEZH| SAYI(=oI=X) 4,700 1,200 3,500
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S ZBISR|A
HM: Lol =X EA
o LOI=XAA SYXIR CERED
S - B S9(30) - HRAY - BES ol&tey pE-L HImz2
—ANE(FUh R zel 700, 00021%35] 2,100 1,200 900
—Rte XY 2,600 0 2,600
301 Ler2AE 5,856 6,480 624
10 BAFAEI2 A2 5,856 6,480 1624
Ol A2 £624 0 ~624
COIMBAA 2Y 2,122,822 2,019,199 103,623
= 0 1,058,072 A1,088,072
< 1,567,134 480,563 1,106,571
2 535,688 480,564 55, 124
301 LerEAZ 2,122,822 2,019,199 103,623
= 0 1,058,072 ~1,088,072
= 1,567,134 480,563 1,106,571
2 535,688 480,564 55, 124
01 ABIEZESGI2 2,122,822 2,019,199 103,623
OLQIMEAIS 22| XIS (137H2) 2,122,822 2,019,199 103,623
= 0 1,058,072 A1,088,072
< 1,567,134 480,563 1,106,571
2 535,688 480,564 55, 124
MEANSEANSS LG 12,720 13,800 A1,080
= 12,720 13,800 A1,080
307 2IZHOI 12,720 13,800 A1,080
= 12,720 13,800 A1,080
10 ABISXEE 12,720 13,800 AT,080
OL-QIMBAIE BAK S 12,720 13,800 A1,080
= 12,720 13,800 A1,080
IS ZEARISS S 5,240 10,920 £5,680
= 5,240 10,920 75,680
307 BI2HOI 5,240 10,920 15,680
= 5,240 10,920 15,680
CSEENEES 5,240 10,920 5,680
OMIMCQIZTIAIE SAK SELG 5,240 10,920 £5,680
< 5,240 10,920 15,680
WIHQIAE 2 881,732 1,045,070 163,338
= 176,346 209,014 ~32,668
2 705,386 836,056 £130,670
301 LBHR AL 881,732 1,045,070 163,338
= 176,346 209,014 £32,668
2 705,386 836,056 130,670
01 AEIZEESGI2 881,732 1,045,070 163,338
OMIM=QIAIE 2HI IR (14H2) 881,732 1,045,070 163,338
= 176,346 209,014 £32,668
2 705,386 836,056 A130,670
JIAQLETIED| &K 44,480 8,000 36,480
= 22,240 4,000 18,240
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AN ==X
M Lol =X 58
el Lo=XAE 28X (cHel:&J)
S - BB () - HRAY - BaES 0] apot plEE" SImE==
o 22,240 4,000 18,240
402 QIZHRHE0| ™ 44,480 8,000 36,480
= 22,240 4,000 18,240
= 22,240 4,000 18,240
01 BIZtE2E X 44,480 8,000 36,480
OZ2Y JIACHMXIED| &X|
160, 0002 *27871 2 44,480 8,000 36,480
= 22,240 4,000 18,240
i 22,240 4,000 18,240
LOIRQAANL &= 571,027 508,484 62,543
= 285,514 254,242 31,272
& 142,757 127,121 15,636
= 142,756 127,121 15,635
402 2I2EXHE01 M 571,027 508,484 62,543
= 285,514 254,242 31,272
= 142,757 127,121 15,636
i 142,756 127,121 15,635
01 RIZE=EE X 571,027 508,484 62,543
OLQISXIAIE AghEH] AP (2H2A) 126,129 63,586 62,543
= 63,065 31,793 31,272
& 31,5632 15,896 15,636
i 31,5632 15,897 15,635
=0 F=2E H2Hl XA 35,500 0 35,500
= 8,875 0 8,875
& 14,200 0 14,200
= 12,425 0 12,425
301 LBt2A=g 35,500 0 35,500
= 8,875 0 8,875
& 14,200 0 14,200
i 12,425 0 12,425
01 AlRIEEE 063 35,500 0 35,500
O=gUyl 229 d€edl XA 35,500 0 35,500
= 8,875 0 8,875
& 14,200 0 14,200
= 12,425 0 12,425
22 222 N 129,025 111,654 17,371
= 32,257 27,913 4,344
L= 29,030 25,123 3,907
= 67,738 58,618 9,120
201 LEL2EH| 6,680 6,528 152
= 1,670 1,632 38
= 1,503 1,469 34
i 3,507 3,427 80
01 AtR2telt] 6,680 6,528 152
OZ2Y Z22=3 Sl 6,680 6,528 152
= 1,670 1,632 38
= 1,503 1,469 34
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2A: SINES]
A 21X s

= (S &8)

2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
o 3,507 3,427 80
122,345 105, 126 17,219
= 30,587 26,281 4,306
= 27,527 23,654 3,873
= 64,231 55,191 9,040
122,345 105, 126 17,219
122,345 105,126 17,219
= 30,587 26,281 4,306
= 27,527 23,654 3,873
iy 64,231 55,191 9,040
15,273,266 14,006,668 1,266,598
= 12,541,861 11,650,826 891,035
< 668,050 539,008 129,042
= 2,063,355 1,816,834 246,521
L OIMEOIM T2 639,800 534,400 105,400
= 20,000 0 20,000
iy 619,800 534,400 85,400
301 LetE A= 434,650 428,900 5,750
01 AIBIBEE 62 429,900 423,900 6,000

OLQISTAE MET 2(FE)

20,000& * 150 #23] 6,000 0 6,000
10 SHALAIHIE A2 4,750 5,000 A250
OollatE 2 A250 0 A250
307 QI2t0|™ 180, 150 80,500 99,650
& 20,000 0 20,000
iy 160, 150 80,500 79,650
04 DIZHSHALE 106,650 7,000 99,650
OL0lo] & I8 A} 100,000 0 100,000
< 20,000 0 20,000
iy 80,000 0 80,000
OularE 2 A350 0 A350
JIx=LgH3x= 13,135,068 12,353,762 781,306
= 11,821,561 11,118,386 703,175
= 262,701 247,075 15,626
= 1,050,806 988,301 62,505
301 dEtEA= 13,135,068 12,353,762 781,306
= 11,821,561 11,118,386 703,175
& 262,701 247,075 15,626
= 1,050,806 988,301 62,505
01 AISIEEE 262 13,135,068 12,353,762 781,306
OJI=LE8AH2(12,324Y) 13,135,068 12,353,762 781,306
= 11,821,561 11,118,386 703,175
= 262,701 247,075 15,626
= 1,050,806 988,301 62,505
L OIOHR A D] 28,800 29,828 A1,028
& 14,400 14,914 Ab14
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SA: FRI=XA
N Lol 22X =X
ol Ol MBI (E491: &)
SA - 3 - SA(SIH) - MRALY - Ol &FoH JIEH Hws2
= 2,400 7,97 ~514
301 LBHR A 28,800 29,828 ~1,008
= 14,400 14,914 ~514
2 14,400 14,914 ~514
NEEE = 28,800 29,828 A1,008
OBRAHS =01 QHPATID|(331) 28,800 29,828 A1,008
= 14,400 14,914 ~514
2 14,400 14,914 A514
ColgRINE 1,440,600 1,064,880 375,720
=2 720,300 532,440 187,860
= 360, 150 266,220 93,930
2 360, 150 266,220 93,930
101 Q124| 1,097,340 765,300 332,040
= 548,670 382,650 166,020
= 274,335 191,325 83,010
2 274,335 191,325 83,010
STE EE=L=ES 1,097,340 765,300 332,040
OLIYR2IXI 1,097,340 765,300 332,040
—oluXtel BOIXt Q4| 1,064,340 738,300 326,040
2 532,170 369,150 163,020
= 266,085 184,575 81,510
2 266,085 184,575 81,510
—wolURI2| EOIK MEeI2] Iy 33,000 27,000 6,000
2 16,500 13,500 3,000
= 8,250 6,750 1,500
2 8,250 6,750 1,500
201 LBr2H| 35,600 28,000 7,600
2 17,800 14,000 3,800
= 8,900 7,000 1,900
2 8,900 7,000 1,900
01 Al 22l 35,600 28,000 7,600
OLQIAR2INAAIY S| 35,600 28,000 7,600
= 17,800 14,000 3,800
< 8,900 7,000 1,900
2 8,900 7,000 1,900
202 018 5,400 2,000 3,400
2 2,700 1,000 1,700
< 1,350 500 850
2 1,350 500 850
01 =UHoiH 5,400 2,000 3,400
OLQIARRIX ALY ZX 5,400 2,000 3,400
2 2,700 1,000 1,700
= 1,350 500 850
2 1,350 500 850
307 BI2t0IF 302,260 269,580 32,680
2 151,130 134,790 16,340
= 75,565 67,3% 8,170
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2AM: FUSXA
A Lol 2| =&
Sl ol MEorN (S &8)
A - FM . S(SH) - MEAIY - BES 0ff Ao J| &M Hlus2
= 75,565 67.3% 8,170
05 DIZtRIEr=Z 302,260 269,580 32,680
OO0l Xt XIJAFS 302,260 269,580 32,680
= 151,130 134,790 16,340
< 75,565 67,395 8,170
= 75,565 67,395 8,170
SHAAIZ A K& 7,400 2,200 5,200
201 LEt2HAH| 5,000 1,000 4,000
01 AFR2t2lt| 5,000 1,000 4,000
OAHAANLX S10=Z 500,000&*103] 5,000 1,000 4,000
301 LEtBAZ 2,400 1,200 1,200
01 Al 2 &= 512 2,400 1,200 1,200
O AF AL EHIH| 600,000 *x4H 2,400 1,200 1,200
HyiE=xsd 14,025,963 12,275,256 1,750,707
= 5,756,432 5,279,812 476,620
Dl 65, 150 65,150 0
= 555,378 382,864 172,514
& 4,221,744 3,533,605 688,139
z 3,427,259 3,013,825 413,434
A=2XsX 906, 247 872,854 33,393
= 477,530 454,634 22,896
& 178,609 171,931 6,678
o 250,108 246,289 3,819
Heszhe 17,786 23,080 N5, 294
202 (481 1,026 1,080 NB4
1 =LHOY| 1,026 1,080 A4
OularE 2t AB4 0 A4
203 RF=ZY| 1,425 1,500 VaV/4e)
03 AIF=RHRF=XIY| 1,425 1,500 AT5
Ol AT5 0 ATH
301 et A= 3,135 3,300 A 165
10 HAIAHIE A= 3,135 3,300 165
Ol atE A165 0 A165
307 2I2t0| & 0 5,000 A5,000
10 AlSI=XIEX 0 5,000 5,000
o ng st2nd X2 (10a) 0 5,000 5,000
e M LA 4,860 5,360 2500
301 LBtBAZ 1,860 2,360 AB00
10 SHAAIH|IE A2 1,860 2,360 AB00
Ol atE 2 AB00 0 2500
22342015 14,616 15,720 A1,104
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S A

X ZH -
o= -

Z=pI= x| Al
T =
HEIEEXSEH

e E=XSA (S &8)
A - M SA(SAH) - AN - BS 0ff Ao Hlus2

201 LEH2HY| 14,250 15,000 AT50

03 A2 14,250 15,000 AT50

Ol atE A750 0 AT750

301 et A= 366 720 A354

10 SAIAIHIE A= 366 720 NA354

Ol aEZ N354 0 A354

SEMSHzEX 5,000 3,000 2,000

= 2,500 1,500 1,000

= 2,500 1,500 1,000

307 2I2t01A 5,000 3,000 2,000

& 2,500 1,500 1,000

= 2,500 1,500 1,000

02 QIHABAE T 5,000 3,000 2,000

OEHME Sttt NEsM2 HEFX 5,000 3,000 2,000

= 2,500 1,500 1,000

= 2,500 1,500 1,000

oygolzine 12,000 12,000 0

o= 6,000 6,000 0

= 6,000 6,000 0

201 LEt2HAY| 9,000 6,500 2,500

< 4,500 3,250 1,250

= 4,500 3,250 1,250

01 AtR22t2ld| 9,000 6,500 2,500

Oy -2 9,000 6,500 2,500

= 4,500 3,250 1,250

= 4,500 3,250 1,250

206 MZH| 3,000 5,500 A2,500

& 1,500 2,750 A1,250

o 1,500 2,750 1,250

01 MH=HI 3,000 5,500 A2,500

oy -z 3,000 5,500 A2,500

& 1,500 2,750 A1,250

= 1,500 2,750 A1,250

o4goptdinl 249 11,640 8,600 3,040

201 LBr2AH| 5,240 3,800 1,440

01 AtR2eld| 4,640 3,200 1,440

OZAI= 4,800 3,200 1,600

-89 0 1,200 A1,200

—0l=0¢ 0 2,000 A2,000

—0{ 40t 4,800 0 4,800

Ol atE 2 A 160 0 A160

206 24| 6,400 4,800 1,600

01 MZHI 6,400 4,800 1,600




2A:
I‘iiH:
Che|:

=oI=xa

HeIE=XsE
HAEX =X

S - B - S9I(BIH) - HRA - il ko plE=L! HlmE2
OM=H| 6,400 4,800 1,600
—ESZ2u=E 0 2,400 A2,400
-0 IsUs 0 2,400 A2,400
—0o{goptaiol2g 6,400 0 6,400
HEZSEAMEA 29 N 66,446 70,046 A3,600
= 33,223 36,823 A3,600
L= 16,612 16,612 0
i 16,611 16,611 0
307 BI2t0I& 66,446 70,046 A3,600
= 33,223 36,823 A3,600
= 16,612 16,612 0
= 16,611 16,611 0
02 BItAAEX 66,446 70,046 A3,600
OJr3=Zdaga 29 X3 66,446 70,046 23,600
= 33,223 36,823 23,600
= 16,612 16,612 0
i 16,611 16,611 0
& ==0ohAt 2=l 1,357 357 1,000
= 250 250 0
& 54 54 0
i 1,053 53 1,000
307 SI2t0I& 1,357 357 1,000
= 250 250 0
= 54 54 0
i 1,053 53 1,000
02 RItEAE X 1,357 357 1,000
OJtEZSE oA+ 2lZ 4| 1,357 357 1,000
= 250 250 0
= 54 54 0
[ 1,053 53 1,000
CEaE XNJdyH 22 144,730 143,000 1,730
= 101,311 100, 100 1,211
& 21,710 21,450 260
i 21,709 21,450 259
307 SI2t0I& 144,730 143,000 1,730
= 101,311 100, 100 1,21
L= 21,710 21,450 260
= 21,709 21,450 259
05 BI”IRAEZ 144,730 143,000 1,730
OCh=23hts XI|HE 298| 140,730 139,000 1,730
= 98,511 97,300 1,21
= 21,110 20,850 260
= 21,109 20,850 259
Ot0I=20] XI&AHS 239,054 202,925 36,129
= 167,338 142,047 25,291
& 35,858 30,439 5,419
i 35,858 30,439 5,419




SA: FOISRIA
B OjEIIESREH

[Eas B ESE-INEFN (cHel:&J)
S - BB () - HRAY - BaES 0] apot plEE SImE==

307 QI2to|& 239,054 202,925 36,129

= 167,338 142,047 25,291

& 35,858 30,439 5,419

= 35,858 30,439 5,419

05 BIIREZ 239,054 202,925 36,129

OOLOI=Z20! XI&AAH| 206,723 176,846 29,877

= 144,707 123,792 20,915

& 31,008 26,527 4,481

i 31,008 26,527 4,481

OOIOI= 20! XI&AIY 29| 32,331 26,079 6,252

= 22,631 18,255 4,376

= 4,850 3,912 938

i 4,850 3,912 938

CE2EEE A0E Y K& 29,456 29,464 A8

= 20,619 20,625 N6

& 4,419 4,420 AN

o 4,418 4,419 AN

307 QI2H0I & 29,456 29,464 A8

= 20,619 20,625 A6

< 4,419 4,420 A

i 4,418 4,419 A

05 BI”IRAEZ 29,456 29,464 A8

OUE3ts X doge XA 29,456 29,464 A8

= 20,619 20,625 A6

= 4,419 4,420 AN

i 4,418 4,419 A

2= Ols & Ead =SXsd 13,119,716 11,402,402 1,717,314

= 5,278,902 4,825,178 453,724

| 65,150 65,150 0

= 585,378 382,864 172,514

= 4,043,135 3,361,674 681,461

o 3,177,151 2,767,536 409,615

2Lots =X 38,452 38,840 A388

= 26,916 27,188 N2T2

= 5,768 5,826 A58

o 5,768 5,826 A58

301 LEIBAS 38,452 38,840 A388

= 26,916 27,188 N272

= 5,768 5,826 ABB

o 5,768 5,826 A58

01 AlRIEEE 063 38,452 38,840 A388

Ogots Ld==HAA 38,452 38,840 A388

= 26,916 27,188 N2T72

= 5,768 5,826 A58

i 5,768 5,826 YaNo's

XE0otsHE 29X 725,060 789,306 AB4, 246

= 362,530 394,653 232,123

= 181,265 197,327 216,062
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SN FRERA
B 0IIE=NEX
o9l 25 01 ¥ HAW 2XSX (Er9): &)
S - T B2I(3) - HIRAIY - BAS 0 et plE<El HlRE2
= 87,265 197,326 16,061
307 2120 & 725,060 789,306 764,246
= 362,530 304,653 £32,123
= 181,265 197,327 A16,062
2 181,265 197,326 A 16,061
DEENEES 725,060 789,306 764,246
ONFEY U SH2HE NOISHE 2YX
(2H) 26,940 21,546 5,39%
2 18,470 10,773 2,697
= 6,735 5,387 1,348
2 6,735 5,386 1,349
OXIHOISHE JI=2HI(164) 655,200 729,600 AT4,400
= 327,600 364,800 A37,200
= 163,800 182,400 A18,600
2 163,800 182,400 A18,600
OXIOISHIE! EQ2HI(6IHA) 42,920 38,160 4,760
2 21,460 19,080 2,380
= 10,730 9,540 1,190
2 10,730 9,540 1,190
OIS=XRAH X2 137,340 117,720 19,620
2 %, 138 82,404 13,734
= 20,601 17,658 2,943
2 20,601 17,658 2,943
101 eI21b| 137,340 117,720 19,620
2 %. 133 8,404 13,734
= 20,601 17,658 2,943
2 20,601 17,658 2,943
STEIV = =B 137,340 117,720 9,620
OXIHOISHE OFSZXIDA DIAXIR (9%) 137,340 117,720 19,620
= %, 133 82,404 13,734
= 20,601 17,658 2,943
2 20,601 17,658 2,943
NEEVNFEIESE 447,000 367,826 79,174
= 379,950 257,478 122,472
= 67,050 55, 174 11,876
2 0 55, 174 755, 174
307 2120 & 447,000 367,826 79,174
£ 379,950 257,478 122,472
= 67,050 55, 174 1,876
2 0 55, 174 ~55,174
10 AEIEX2E 447,000 367,826 79,174
OOISEXAE SR (ZESH) 447,000 367,806 79,174
= 379,950 257,478 122,472
= 67,050 55, 174 11,876
2 0 55, 174 ~55, 174
OIS =XIAIEXIR(SHI) 42,856 45,480 £2,624
= 27,620 28,890 A1,270
2 15,236 16,590 A1,354
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SA: FoI=RA
Hu: OMIIE=NEA
Sel: 28 018 2 AW =2XEX (E491: &)
S - T B2I(3) - HIRAIY - BAS 0 et plE-LN HlRE2
301 LBHR A 7,412 7,560 A48
< 3,706 3,780 ATA
2 3,706 3,780 ATA
NEEEEE= 7,412 7,560 NI
OAE0IS Mass 7,412 7,560 NV
= 3,706 3,780 AT4
2 3,706 3,780 ATA
307 BI2F0IF 35,444 37,920 12,476
= 23,914 25,110 A1,19
2 11,530 12,810 A1,280
DS EREES 3,444 37,920 ~2,476
ONEBAR SE4g 12,384 12,300 8
= 12,384 12,300 8
OAI£0tS M4TE 79 6,960 7,920 960
< 3,480 3,960 £ 480
2 3,480 3,960 A 480
OAIE0IS THBIZIBIRLE 0 1,000 A1,000
= 0 500 A500
2 0 500 A500
OAIE0LS 4810184 500 300 200
= 250 150 100
2 250 150 100
OAlE0tS =T 600 1,400 £800
= 300 700 A0
2 300 700 A 400
I ISR 43,200 36,000 7,200
= 38,880 18,240 20,640
= 4,320 3,600 720
2 0 14,160 A 14,160
301 LBHR AL 43,200 36,000 7,200
= 38,880 18,240 20,640
= 4,320 3,600 720
2 0 14,160 A14,160
01 NEIBEESGI2 43,200 36,000 7,200
OIIE ALY SRR (262) 43,200 36,000 7,200
= 38,880 18,240 20,640
= 4,320 3,600 720
2 0 14,160 A14,160
I SIE(AEAHIIE) K 8,120 10,000 A1,880
= 4,060 5,000 £940
2 4,060 5,000 £940
301 LBHR A 8,120 10,000 A1,880
= 4,060 5,000 £940
2 4,060 5,000 £940
01 AEIBEESGI2 8,120 10,000 A1,880
OLEHAHAINFH 22 (23HICH) 4,320 5,600 A1,280
= 2,160 2,800 £640
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2AM: FUSXA
HiM: EIIEEXESE
Hel: BF 0t & E3ad SXSH (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
o 2,160 2,800 640
O2EAEINE MO HEF2=B1(23XITH) 1,800 2,400 600
& 900 1,200 A300
= 900 1,200 A300
Ots=AXI& 182,064 214,294 N32,230
= 136,548 107,146 29,402
& 45,516 53,574 8,058
o 0 53,574 AbB3,574
301 LBtBAZ 182,064 214,294 N32,230
= 136,548 107,146 29,402
= 45,516 53,574 A\8,058
o 0 53,574 A\B3,574
01 AISIBEE 62 182,064 214,294 N32,230
OZA0ts SAXIEA 26,864 14,223 12,641
= 20,148 7,111 13,037
& 6,716 3,556 3,160
iy 0 3,556 3,556
Ogsts Ots2M K& 155,200 200,071 N44 871
= 116,400 100,035 16,365
& 38,800 50,018 211,218
iy 0 50,018 50,018
sSH|IE Otsa2A) 252,858 214,883 37,975
< 194,394 172,771 21,623
iy 58,464 42,112 16,352
301 LEtE A= 252,858 214,883 37,975
= 194,394 172,771 21,623
iy 58,464 42,112 16,352
01 AISIBEE 62 252,858 214,883 37,975
Og|s Ots24 179,778 162,243 17,535
& 179,778 162,243 17,535
OXE0otsHE 2tAl| 73,080 52,640 20,440
o= 14,616 10,528 4,088
iy 58,464 42,112 16,352
2R0ts29 161,450 137,980 23,470
301 LEtBAZ 25,320 24,600 720
10 SHAIAHIE A= 720 0 720
O0tSEX WA s FHALHA 60,000&*123] 720 0 720
307 2I2t0| & 136,130 113,380 22,750
04 DIZHHAISE & 4,750 5,000 A250
Ol 2 A250 0 A250
10 AlRIS X2 X 131,380 108,380 23,000
OsRd OIsEsdE3I 2 28 |3 23,000 0 23,000
2= 3,880,380 3,384,656 495,724
= 1,948,398 1,692,328 256,070
< 965,991 846, 164 119,827
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SN FoI=RA
BH: OlAIIE=NEA

o9l 2% 0lS 2 HAW =2XNEX (Sl &21)
SA - B C(3H) - NRAY - BES Ofl Aok plE-R CImE==h

= 965,991 846, 164 119,827

101 @1244] 16,416 0 16,416

= 16,416 0 16,416

04 D22 NEE = 16,416 0 16,416

OLHO| & HAFR ARIZA} 16,416 0 16,416

2 16,416 0 16,416

301 LEt2a=s 0 286,148 A286, 148

= 0 143,074 A 143,074

& 0 71,537 AT1,537

= 0 71,537 AT1,537

01 Al 2&E+0ll= 0 286,148 A286, 148

OYREXZ(5679) 0 286,148 N\286,148

= 0 143,074 A 143,074

& 0 71,537 NT1,537

i 0 71,537 AT1,537

307 2I2to1 ™ 3,863,964 3,098,508 765,456

= 1,931,982 1,549,254 382,728

S 965,991 774,627 191,364

i 965,991 774,627 191,364

05 RIS 3,863,964 3,098,508 765,456

O2t0-2K HEEXI (567%) 2,835,072 2,110,424 724,648

= 1,417,536 1,085,212 362,324

= 708,768 527,606 181,162

i 708,768 527,606 181,162

OBi3~AMl B2 X (544%) 1,028,892 988,084 40,808

= 514,446 494,042 20,404

= 257,223 247,021 10,202

= 257,223 247,021 10,202

SRALIIASTE 52,422 31,738 20,684

= 26,211 15,869 10,342

i 26,211 15,869 10,342

301 et2ag 52,422 31,738 20,684

= 26,211 15,869 10,342

i 26,211 15,869 10,342

01 A2l 2&E+0ll= 52,422 31,738 20,684

OZIIIE St ESAIE ESWA =2(36%) 52,422 31,738 20,684

= 26,211 15,869 10,342

2 26,211 15,869 10,342

il ANMsH K& 28,370 24,510 3,860

201 LEt2&H| 24,580 20,610 3,970

01 AtS2teld 580 610 A30

OnlarE2 A30 0 A%

03 HAr2EH| 24,000 20,000 4,000

O2Re/YB BAE UG TS =& 25,000 20,000 5,000

oollarE 2 A1,000 0 A1,000

- 151 -




SA: FOISRIA
B OjEIIE=RIEH
ool 2% 05 ¥ FAd =XET (Er9): &)
A -3 - SRA(ZH) - MRAY - BES Oll &+t JIEH HwsZ
301 Y23 2,59 2,700 A0
10 EAEI 2 &S 2,090 2,200 AT10
Ol IE-ET A0 0 A0
AIE0I0IB0IS 284S 2,074,740 1,787,922 286,818
2 1,037,370 893,961 143,409
= 518,685 446,981 71,704
2 518,685 446,980 71,705
01 LB BAS 2,074,740 1,787,922 286,818
2 1,037,370 893,961 143,409
= 518,685 446,981 71,704
2 518,685 446,980 71,705
01 ABIEEESGE 2,074,740 1,787,922 286,818
OO0fRI01F DI0IBOIS YSag 2,074,740 1,787,922 286,818
2 1,037,370 893,961 143,409
= 518,685 446,981 71,704
2 518,685 446,980 71,705
SRSSAHIA(DARIZIH) 2,486,734 2,452,288 34,446
2 1,243,367 1,226, 144 17,223
= 621,684 613,072 8,612
2 621,683 613,072 8,611
307 BIRHOIH 2,486,734 2,452,288 34,446
2 1,243,367 1,226, 144 17,223
< 621,684 613,072 8,612
2 621,683 613,072 8,611
02 SIHBAEE 2,486,734 2,452,288 34,446
O2BE-HOIAA Q12| XA (137) 2,389,362 2,354,916 34,446
2 1,194,681 1,177,458 17,223
= 597,341 588,729 8,612
2 597,340 588,729 8,611
01210/ X/ 186,779 134,754 52,025
2 93,390 67,377 26,013
= 46,695 33,689 13,006
2 46,694 33,688 13,006
01 LB BAZ 138,840 110,552 28,268
= 69,420 55,276 14, 144
= 34,710 27,638 7,072
2 34,710 27,633 7,072
INEEEEEE 138,840 110,552 28,268
ORARSELINALI(120) 133,560 110,552 23,008
= 66,780 55,276 11,504
= 33,390 27,638 5,752
2 33,390 27,633 5,752
ORAIZE BT (42) 5,280 0 5,280
2 2,640 0 2,640
= 1,320 0 1,320
2 1,320 0 1,320
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SN FRERA
B 0IIE=NEX
o9l 25 01 ¥ HAW 2XSX (Sr9): 1)
S - B S9(3IH) - ARAY - BES 0 bt plEE" HlRE2
307 21201 F 47,939 24,202 23,737
2 23,970 12,101 11,869
= 1,985 6,051 5,93
2 11,984 6,050 5,934
02 ERIANBE 47,939 24,20 23,737
OxI2EHI(187H4) 21,125 21,23 NI
2 10,563 10,616 A53
= 5,281 5,308 ~o7
= 5,281 5,308 ~o7
OEVEES IELIVEIENETEES 23,844 0 23,844
2 11,922 0 1,922
= 5,961 0 5,961
2 5,91 0 5,961
OI5Al Sl 2RE AW 1,375,625 793,800 581,825
= 1,226,496 793,800 432,69
2 149,129 0 149,129
01 LB BAZ 128,000 50,000 78,000
= 128,000 50,000 78,000
01 ABIEEE G2 128,000 50,000 78,000
OS2I BE DA HRIH4I(3521) 128,000 50,000 78,000
= 128,000 50,000 78,000
307 21240 & 1,247,625 743,800 503,825
< 1,098,496 743,800 354,69
2 149,129 0 149,129
05 SIZHSIErS 1,247,625 743,800 503,825
OPISKl F2IDE BS2 KI(2502) 1,247,625 743,800 503,825
= 1,098,496 743,800 354,69
2 149,129 0 149,129
A8 scEE 29 70,000 65,000 5,000
2 45,500 45,500 0
= 2,500 0 2,500
2 22,000 19,500 2,500
307 21201 F 70,000 65,000 5,000
= 45,500 45,500 0
= 2,500 0 2,500
2 22,000 19,500 2,500
05 CIZISIES 70,000 65,000 5,000
OStIESUFMNEHAY AR2IHE 5,000 0 5,000
= 2,500 0 2,500
2 2,500 0 2,500
AW 2SE SN 157,832 49,123 108,709
101 2121 7,345 5,877 1,468
USIEEEDU=T=ES 7,345 5,877 1,468
OS3HIE 22| 40,40024+1Z+324+603] 7,072 5,818 1,454
O EEE] 7,272,000 1% 73 59 14
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S A
K| ZH -
(=

&l

SA - B C(3H) - NRAY - BES Ofl Aok plE-R CImE==h
201 LBt 39,337 18,246 21,091
01 AlR2r2lH| 4,071 2,180 1,891
ORIEIE==1] 4,180 2,180 2,000
—HAESSE ARE 7 2,000 0 2,000
OollarE A109 0 A109
02 2229| 35,266 16,066 19,200
Oz 35,266 16,066 19,200
-2 1,900,0002 122 22,800 3,600 19,200
307 QI2t01A 68,750 25,000 43,750
04 DIZFSHALE R 23,750 25,000 1,250
OollarE A1,250 0 1,250
05 LIRtQIEr2 45,000 0 45,000
Oslet2g| 30,000 0 30,000
OFAESSHIE T2 BS(QI124H]) 15,000 0 15,000
401 AlEHIL ST 27,000 0 27,000
01 Al&H| 27,000 0 27,000
OFHEZFHI(SMZA 10,000 0 10,000
OYSAIE 22(ai, tA, SAS0IRIA S) 5,000 0 5,000
OFAHSBIME AIRA AN 12,000 0 12,000
405 XHAHEISHI 15,400 0 15,400
01 L SEF S| 15,400 0 15,400
OSAHISEA)|(288) 5,200,0002% 1CH 5,200 0 5,200
OSIHHI(EEAF, 21X 4,500,0002% 1CH 4,500 0 4,500
Ot =0H 1,500,0002!* 1CH 1,500 0 1,500
Os3U 1,200,0002!+ 1CH 1,200 0 1,200
OO0FAZEE HIXI2AXt 15,0002 *2000H 3,000 0 3,000
OlOIAIY 22 2UHIH 2 1,760 1,760 0
=2 880 880 0
== 440 440 0
z 440 440 0
201 Ler2 | 0 1,760 21,760
= 0 880 880
[ 0 440 A440
z 0 440 440
01 AlR2relH| 0 1,760 21,760
OOIANZER SLIHZE 2N 1S 0 1,760 1,760
= 0 880 880
= 0 440 NA4Q
z 0 440 N840
301 Ler2 A3 1,760 0 1,760
= 880 0 880
== 440 0 440
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S2A: F=oI=xA
MM HAIIEEXSE
el B 0l L HAW =2 (EERE)
SA - JH - SR(3H) - HEAY - B2 Of AroH J|=H HnE2
- 440 0 440
10 HAIAIHIE A= 1,760 0 1,760
(@PN== 29X 1,760 0 1,760
= 830 0 880
[ 440 0 440
= 440 0 440
OlsAlE JIsE2ZAY 48,000 0 48,000
= 24,000 0 24,000
= 12,000 0 12,000
= 12,000 0 12,000
402 QIZ2HRF20IN 48,000 0 48,000
= 24,000 0 24,000
[= 12,000 0 12,000
iy 12,000 0 12,000
01 IZEAIEE =X 48,000 0 48,000
Oots=EXIAIA A 48,000 0 48,000
= 24,000 0 24,000
= 12,000 0 12,000
iy 12,000 0 12,000
HAEISHE 22X 14,152 0 14,152
= 5,670 0 5,670
= 8,482 0 8,482
307 2IZ2H0| & 14,152 0 14,152
= 5,670 0 5,670
= 8,482 0 8,482
05 oIt 2 14,152 0 14,152
OFEAEAXIE AL 11,340 0 11,340
== 5,670 0 5,670
= 5,670 0 5,670
OYEEII| 1,620, 0002 *50%x* 13| 810 0 810
O4ti8E = 11,340,000 *10% 1,134 0 1,134
@ESNIF=I=PN=; 6,3902*10AI2H72 448 0 448
OLSHH(E+DS) 60,0002% 13|72 420 0 420
ZoHel skl & 5,246,357 5,025,041 221,316
= 2,756,014 2,643,964 112,050
= 483,175 483,175 0
& 863,254 835,276 27,978
= 1,143,914 1,062,626 81,288
OIS KIS 5,246,357 5,025,041 221,316
= 2,756,014 2,643,964 112,050
= 483,175 483,175 0
= 863,254 835,276 27,978
7 = 1,143,914 1,062,626 81,288
OIS XA 37,872 38,350 N478
201 L2 AH| 712 750 A38
01 AFR2t2ld| 712 750 A38
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S A

_J'C_
S ZOHCl =X &

&l ZoHeI=2XSE (S &8)

2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
OularaE 2 A38 0 A38
202 o4H] 1,900 2,000 A100
01 2LHAMY] 1,900 2,000 A100
Ol atE 2 A100 0 A100
301 LEtB A= 30,360 30,600 A\240
10 SAIAIHIBE A= 4,560 4,800 A240
OulaEZ A240 0 A240
307 2I2t01A 4,900 5,000 A100
04 DIZHSHALE = 4,900 5,000 A100
Ol atE 2 A100 0 A100
ORI MIS ALK& 5,000 4,000 1,000
307 2I2t0| & 5,000 4,000 1,000
04 DI2HHAISE & 5,000 4,000 1,000
Os0tel J184al & XUl I 5,000 4,000 1,000
ORI SKIL R AFY 107,748 102,564 5,184
= 53,874 51,282 2,592
= 26,937 25,641 1,296
iy 26,937 25,641 1,29
101 ©1244| 54,732 50,232 4,500
= 27,366 25,116 2,250
= 13,683 12,558 1,125
iy 13,683 12,558 1,125
04 JI2tHIZ22XNEE S 54,732 50,232 4,500
O&OHR!I =SXILRt2|AFY 54,732 50,232 4,500
= 27,366 25,116 2,250
< 13,683 12,558 1,125
iy 13,683 12,558 1,125
201 Let2AY| 2,166 1,482 684
= 1,083 741 342
= 541 370 171
= 542 371 171
01 At22teldl 2,166 1,482 684
OZOHe!I EXL XA S| 2,166 1,482 684
= 1,083 741 342
& 541 370 171
o 542 371 171
MMEE I R2XIA 4,000 4,900 900
= 3,200 3,920 NT20
= 800 980 A180
307 2IZt01A 4,000 4,900 2900
= 3,200 3,920 NT20
= 800 980 A180
01 222 =H| 4,000 4,900 900

- 156 -



2A:
I‘iiH:
Che|:

0
T
[pal
0

SA - 3 - SRA(BIH) - MBA - Ofl &tk IEH HwsZ
OZHIERI P RAY 4,000 3,300 700
= 3,200 2,640 560
A 800 660 140
OEEHE OIS KM EZS T RIZ ALY 0 1,600 21,600
= 0 1,280 1,280
= 0 320 A320
ZOHIHEER0IXIE 150,390 130,104 20,286
= 75,195 65,052 10,143
s 37,597 32,526 5,07
= 37,598 32,526 5,072
101 21244 150,390 130, 104 20,286
= 75,195 65,052 10,143
= 37,597 32,526 5,071
= 37,598 32,526 5,072
04 D22 EE = 150,390 130,104 20,286
O A =20| 150,390 130,104 20,286
= 75,195 65,052 10,143
s 37,597 32,526 5,07
= 37,598 32,526 5,072
=& 322,092 541,173 219,081
= 225,464 378,821 153,357
S 48,314 81,176 N32,862
= 48,314 81,176 N32,862
301 Let2L=s 322,002 541,173 219,081
= 225,464 378,821 153,357
S 48,314 81,176 N32,862
= 48,314 81,176 A32,862
01 MBI2EE 5= 322,092 541,173 219,081
OZMH=L(XHARE) 322,002 541,173 A219,081
= 225,464 378,821 153,357
= 48,314 81,176 N32,862
= 48,314 81,176 N32,862
ORI R 2 ALY 3,812 6,300 N2,488
201 Le+23H| 3,812 6,300 N2,488
01 At2:2teld] 3,812 6,300 A2,488
OullatEZ A2,488 0 N2,483
oSt 905, 186 762,279 142,907
= 633,630 533,595 100,035
= 135,778 114,342 21,436
= 135,778 114,342 21,436
307 212+01A 905, 186 762,279 142,907
= 633,630 533,595 100,035
= 135,778 114,342 21,436
= 135,778 114,342 21,436
05 BIZt? &= 905, 186 762,279 142,907
O &= K2 905, 186 762,279 142,907
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S A

&l

=
e
XZEH: Kb
o= o
PNy
=]

[
$
P
rio

A -3 - SRA(ZH) - MRAY - BES Oll &+t JIEN HuESZ
= 633,630 533,59 100,035
s 135,778 114,342 21,436
= 135,778 114,342 21,436
O JHeI2EAIE K& 267,600 209,365 58,235
= 41,873 41,873 0
= 225,727 167,492 58,235
307 B12tol& 267,600 209,365 58,235
= 41,873 41,873 0
= 225,727 167,492 58,235
02 QItHAE X 267,600 209,365 58,235
OZO0HR! JHRI2HAIE XA 267,600 209,365 58,235
S 41,873 41,873 0
= 225,727 167,492 58,235
ZOHRIEHOIAIE &=ZEA} 4,616 7,046 A2,430
S 1,385 1,210 175
o 3,231 5,836 A2,605
307 212+01A 4,616 7,046 22,430
= 1,385 1,210 175
s 3,231 5,836 A2,605
02 lZtFaEx 4,616 0 4,616
OZOHUEIAIE M= At 4,616 0 4,616
5= 1,385 0 1,385
s 3,231 0 3,231
05 BIZt?E&= 0 7,046 AT,046
OZOHRIHOAIL &= A} 0 7,046 AT,046
S 0 1,210 21,210
= 0 5,836 N5,836
ESUES={WIES 219,081 0 219,081
= 153,357 0 153,357
S 32,862 0 32,862
= 32,862 0 32,862
301 Let2a=s 219,081 0 219,081
= 153,357 0 153,357
= 32,862 0 32,862
= 32,862 0 32,862
01 A2l 2& & +dll= 219,081 0 219,081
O ES={WIES) 219,081 0 219,081
= 153,357 0 153,357
S 32,862 0 32,862
= 32,862 0 32,862
HREs 1,603,479 1,766,744 163,265
LISHeHXI= 1,603,479 1,766,744 163,265
2SS SEIHAES 1,251,479 1,414,744 163,265
701 JIERI A A ES 1,251,479 1,414,744 163,265
01 JIEtelHEES 1,251,479 1,414,744 163,265
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S A

Fol=xa

. HRES
SRl LHEHNHX S CERE)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
O =22 EEIH HME2 1,251,479 1,414,744 A\ 163,265

- 159 -




AN = 0l &

20138 = =& 1 3] LS| &l

AP & A A

SN BIXED
BE: AFSAAY|(FINAD)
col: ol 2g| (Er9): &)
A -3 - SRA(ZH) - MRAY - BES Ol &FoH JIEN HwsZ
SRR 13,841,377 13,307,722 533,655
2 24,808 24,808 0
= 137,926 137,926 0
2 13,678,643 13, 144,988 533,655
HHEYZHI(ZAAD) 7,841,448 7,710,672 130,776
ol 7,667,258 7,608,712 138,546
o121| 7,667,258 7,608,712 138,546
101 2121 1,007,333 865,059 142,274
o1 24 585,428 507,392 78,036
OAIRIIDRAY Foi=(242) 25,613 25,822 £209
—53 11,36420 1 2% 1012122 1,364 1,321 43
—63 9,691 21472+ 10AI 24 122 8, 141 9,008 ~867
—73 8,75421+ 1224% 10AI 2+ 122 2,606 11,189 1,417
—83 7,859%1 124% 10AI 2+ 128 44 1,827 883
—93 7, 1042432+ 10AI 24 122 2,558 2,477 81
OZU224Y 8,754 +4524x30AI 2+ 122 141,815 63,570 78,245
02 JIEHRI 24 7,853 3,615 4,238
OXlor= (2+3, 1% 4,371 3,615 756
—AReI2RAg(HoE)
9, 10421+ 1%+ 10AI 24 122 1,093 1,033 60
—Z2RLY 9, 10424+ 12+30AI2H 122 3,278 2,582 69
OHAA(12) 3,482 0 3,482
S FELES=TE-ETE)
7,25220 124% 10AI1 2+ 122 871 0 871
—zn204y 7,050+ 1H+30AI 2+ 122 2,611 0 2,611
03 RIH 22T+ 414,062 354,052 60,000
GRS 45,000, 00024+4% 180,000 120,000 60,000
203 REXIY| 75,027 78,755 £3,728
BT 50, 160 52,800 £2,640
OulatE2 22,640 0 22,640
02 BRAIMIAPETIY| 20,667 21,755 ~1,088
OoAE 2 ~1,088 0 A1,088
BIEET 174,190 181,960 AT, 770
o= 174,190 181,960 AT, 770
201 B2 Y] 130,319 133,790 £3,471
01 AFR2IH] 127,550 131,021 A3,471
o2 2 tl 26,046 26,910 £864
—ZHl BAAY 24,296 25,160 £864
Ol INEEY £2,607 0 £2,607
202 01t 43,871 48,170 £4,299
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2A #HAEXIRD
M HNIAH(HIXIAD)
o2l D23 (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
01 =LHOHI 43,871 48,170 A4,299
O=3LHOIHI(2LH) 30,944 32,150 A1,206
O=3LoI(22) 15,336 16,020 684
OoflarE 2 A2,409 0 A2,409
SH 2 NYHE A2} 5,143,393 4,736,670 406,723
= 24,808 24,808 0
& 71,826 71,826 0
= 5,046,759 4,640,036 406,723
HEXE A2} 914,793 615,839 298,954
SSHQI X2 181,974 173,969 8,005
201 LEH2 | 28,420 28,020 400
01 AtR2telt] 11,695 11,785 A90
Ogt=2H| 500 0 500
—dUESRRAS AHOIA HMZE 5,000 *1007H4 500 0 500
OollarE 2590 0 2590
02 Z223| 11,785 11,035 750
OFOIAUIANAE SX2H(ALL, SH)
150,000 *23JH 2 3,450 2,700 750
03 A2 ZEH| 4,940 5,200 A260
OlllatE 2 2260 0 2260
202 Ot 10,450 11,000 ABE0
01 =LHOHI 10,450 11,000 A550
OollarE 2 2550 0 2550
203 Y F=&H| 2,375 2,500 A125
03 AIBFRHRZ=AIH| 2,375 2,500 A125
OllarE2 A125 0 A125
307 QI2t0|H 47,400 39,120 8,280
05 BIZIREZ 47,400 39,120 8,280
Ogalza(Relzd) Y
130,000 234 L+ 12& 35,880 28,080 7,800
O=122 XN2UAD| 9
40,0003 x24 4 2+ 12 11,520 11,040 480
HAWNF=HXJ 213,765 254,800 A41,035
201 B2 | 36,000 40,000 4,000
01 AtR2elt] 36,000 40,000 24,000
ONlatE 2 A4,000 0 A4,000
202 Odb| 177,765 214,800 A37,035
01 =LHOHI 25,275 28,800 A3,525
Ol &tE 2 23,525 0 A3,525
05 S22 WL 152,490 186,000 233,510
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TN A2k (e & &)
2A - 3H . S2(3H) - HRA Of] AboH HwsZ
‘ OOl AR 2 A33,510 0 33,510
N 843 82,785 85,300 N2,515
201 L2y 9,750 10,000 A250
01 AtR2e] 4,750 5,000 A250
ONlatEZ A250 0 A250
202 o4t 4,104 4,320 A216
01 2| 4,104 4,320 A216
ONlatE 2 A216 0 A216
301 LS A 38,931 40,980 A2,049
10 SHAFAIHI 38,931 40,980 A2,049
OollarE 22,049 0 2,049
25t =024 32,200 33,500 A1,300
202 Odb| 24,700 26,000 A1,300
04 = M3t 24,700 26,000 1,300
ONlatE 2 A1,300 0 21,300
elseld| R,134 60,970 31,164
201 LE2Y 5,462 5,750 A288
01 AtR2t2l 5,462 5,750 A288
oollarE A288 0 £288
301 LeBAZ 77,672 55,220 22,452
10 HAAHIEAS 912 960 A48
OollarE 2 A48 0 A48
12 JIEt2 43 76,760 54,260 22,500
O& AR X 47,500 35,000 12,500
ONUsHM S 100,000 130X 13,000 3,000 10,000
303 ZAS 9,000 0 9,000
01 Zat= 9,000 0 9,000
ORs2)| RSA L& 9,000 0 9,000
—&ntA 2,500 0 2,500
—=H 6,500 0 6,500
T2 & A 311,935 7,300 304,635
201 B2 | 6,935 7,300 A365
01 AtR2elt] 4,750 5,000 A250
OoollarEZ 2250 0 2250
03 A2 ZHI 2,185 2,300 A115
OO0l ara 2 A115 0 A115
307 QI2t0|H 305,000 0 305,000
04 BIZFHALE X 305,000 0 305,000
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2A: SHEXIR
HE: A L NYHY AZ235)
CHe: SN EZX Az} (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
ORMI373| 2012 L(=2l) 160,000 0 160,000
OHM373l =Zelol & SHIIA 145,000 0 145,000
—J&s 15,000 0 15,000
—J|E=H 13,000,000&*x10SH 130,000 0 130,000
S23 SUSXSE ¥ =& 245t 1,336,533 1,374,456 A37,923
NRHR =& 197,133 200,056 A2,923
201 B2 | 150,747 153,319 N2,572
01 At22teld| 86,872 91,444 N4, 572
Ooflar= 2 N4,572 0 N4,572
02 2223l 63,875 61,875 2,000
02323 & HAl 43,760 41,760 2,000
—&=2 SHEXY 24 #23ldl(H3/8]) 2,000 0 2,000
202 o4l 6,665 7,016 A351
01 2| 6,665 7,016 A351
OnllatEZ A351 0 A351
SRE ==X 1,139,400 1,174,400 235,000
201 LEH2 | 1,011,000 1,046,000 A35,000
01 AtR2telt] 991,000 1,026,000 A35,000
OoollarE 2 235,000 0 235,000
HEHLESE St dNANLER 2 1,399,882 1,279,197 120,685
= 24,808 24,808 0
& 71,826 71,826 0
o 1,303,248 1,182,563 120,685
NES8E =& 3,288 2,640 648
301 LB A= 2,088 1,440 648
10 HAAHIE &3 2,088 1,440 648
O Esits SEEAL & 2e|Xtus It 2
&t 60,0003 *2H+3U*23| 720 0 720
OnlatEZ AT2 0 NT2
83t J|BEE 602,134 530,633 71,501
201 LEH2 | 239,653 242,702 A3,049
01 AtR2telt] 82,961 86,010 A3,049
OularE 2 23,049 0 23,049
202 04| 1,710 1,800 A0
01 =LHOHI 1,710 1,800 A0
OollarE 2 290 0 A90
207 HFIHEH| 2,640 3,000 A360
02 HEDNEHI 2,640 3,000 A360
ONlatEZ A360 0 A360
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2N HEXIRAD
HI: M L XYY A2
o HEFESE S& MAKNLEE 2 (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
405 KHAEE SHI 295,000 220,000 75,000
01 XA S SFHSHI 295,000 220,000 75,000
OQIH4Yl Sorst glgtsts 2e 36,000 0 36,000
OXNLHEEHEY LSTHEHl WK 150,000 100,000 50,000
ONlatEZ 211,000 0 211,000
HHTIESAL I 518,307 469,771 48,536
201 L2 | 484,271 454,271 30,000
02 2223l 483,271 453,271 30,000
OAlZEHIF XY 30,000 0 30,000
—20138 ZZINHE HESAIEH| 014 30,000 0 30,000
401 Al2HIL20HYI 24,100 5,500 18,600
01 Al&H] 24,100 5,500 18,600
OR3li=z2 2SS4 A4 15,000 0 15,000
O=&0t01=2(900MHz) W 1,200,000&*3NIE 3,600 0 3,600
405 THAEE SHI 9,936 10,000 N64
01 XA S SFHSHI 9,936 10,000 N64
OoollarE 2 264 0 N64
OIBHE APD|bSE 1,097,610 1,077,610 20,000
OlBt&2te| 1,097,610 1,077,610 20,000
301 LB AS 1,024,610 1,004,610 20,000
07 BI2+eI=2 20| 20,000 0 20,000
ORH0IE A&Xl o2AS== 1,000,000 *20% 20,000 0 20,000
MBS BXSXIA 270,167 270,860 A633
ASIEHH X1 270,167 270,860 2693
201 Ler2Z| 627 660 A33
01 AtR2telt] 627 660 A33
OollarE A33 0 A33
301 LB LS 12,540 13,200 660
10 EARHIEAS 12,540 13,200 A660
Oul &2 2660 0 2660
M= BRRALCAMZSEE 51,600 45,900 5,700
CARAIRS 51,600 45,900 5,700
201 LEH2 2| 26,523 26,340 183
01 AtR2telt] 3,723 2,340 1,383
OL2AAE =22 200,000&*53] 1,000 0 1,000
OkAt2e] & 2 250,000 *43] 1,000 500 500
OoflarE 2 A7 0 A7
03 A2 22,800 24,000 A1,200
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SA: AN
X

FM: M Y NYHEY A5

cher Mgt BRIACAIZSIEH (St &J)

SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
OollarE 21,200 0 21,200
202 Ot 24,492 18,960 5,532
01 =LHOAHI 24,492 18,960 5,532
O Atatigs AIOILE 60,0002 * 100 *13] 6,000 0 6,000

OLPAREY S NEY2 FX0YI

60,0003 *x2H*43] 480 0 480
OulatEZ 948 0 2948
405 RHAEESHI 585 600 A15
01 XA =2 SFHSHI 585 600 A15
OoollarE 2 A15 0 A5
s S& sl 356,536 360,380 23,844
= 66,100 66,100 0
= 290,436 294,280 23,844
Haws L oIsA 345,136 348,380 A3,244
& 66,100 66,100 0
, = 279,036 282,280 N3,244
MEIN ] 15,142 15,360 A218
201 LEH2 | 3,230 3,400 A170
01 AtR2telt] 3,230 3,400 A170
OlllarEZ A170 0 A170
202 04| 912 960 A48
01 =LHOHI 912 960 A48
OollarE 2 A48 0 A48
SR QA= 121,040 122,000 A960
202 Ot 18,240 19,200 A960
01 SLHOAYI 1,140 1,200 AB0
ONlatEZ 260 0 260
04 =2 XM=t 17,100 18,000 A900
ONlatE 2 A900 0 A900
=P HMwS 39,254 41,320 A2,066
201 LEH2 | 39,254 41,320 A2,066
01 At22teld| 1,254 1,320 BB
ONlatEZ N66 0 A\6B
03 A2 38,000 40,000 22,000
ONlatE 2 A2,000 0 A2,000
DAL 2H 11,400 12,000 A600
R eI TR AN 11,400 12,000 A600
201 LEt2 | 11,400 12,000 A600
03 A2 11,400 12,000 A600
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= A
H = 0l &8 AFSE & Al A
20138 S =& 1 3| LBt|H HA
2M: SN
Mz HHSHAH(EXNEXI)
el olE2gy| (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
SEX2 XD 15,109,618 7,462,409 7,647,209
= 6,300,863 1,262,760 5,038, 103
2 3,125,000 3,125,000 0
= 986,752 0 986,752
= 4,697,003 3,074,649 1,622,354
HHESAZH(SEXNSXI) 133,514 127,992 5,622
ol 2AHH]| 65,650 57,511 8,139
OlAHH| 65,650 57,511 8,139
101 2124d| 62,770 54,511 8,259
01 B 59,288 54,511 4,777
OAIZIRI 224 HAH2(14H) 15,167 13,797 1,370
=1 11,3642 1Y+ 10A12H+ 122 1,364 1,259 105
—6= 9,691&*x4H*10A[ 2128 4,652 4,293 359
—73 8, 7543 *x7H*10A| 2++ 12 7,354 4,847 2,507
—8= 7,8503x1H*10A| 2++12& 944 2,611 A1,667
—-92 7, 1043 x1H*10A1 2t 122 853 787 66
OxU22E 8, 7542 %14H*30A| 2tx 122 44,121 40,714 3,407
02 JIEt& 2 3,482 0 3,482
OFJAFE(1Y) 3,482 0 3,482
—AI2IQI2R4SH(HHU2)
7,2523x1H*10A[ 2123 871 0 871
—ZU22E 7,252 3x1H*30A| 2H+ 12 2,611 0 2,611
203 S RF=EH| 2,880 3,000 A 120
04 EANSILRFE| 2,880 3,000 A120
Ol atE 2 A120 0 A120
J|2&| 67,864 70,481 N2,617
J|23&H| 67,864 70,481 N2,617
201 LBEH2AY| 33,064 34,731 N1,667
01 AtR22t2ldl 31,680 33,347 1,667
OulatE2 A1,667 0 A1,667
202 O4H] 22,800 23,750 A950
01 2L 22,800 23,750 AN950
OollatE 2 950 0 A950
IR 2AEH 3t 707,397 303,765 403,632
JIS XA 707,397 303,765 403,632
SN 24 702,717 300, 165 402,552
201 LBH2AY| 9,182 9,350 A 168
01 AtR2t2lt| 6,182 6,350 N 168
OJ1gel & AL ATHAMIE 100,000 *3H 300 0 300
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S A

HE: AR e 5

el IR (chel &)

S - BB GR(B) - HRAY - B Ofl b Iz Hnz2t
Ol atE 2 N468 0 468
202 01t 4,320 4,500 A180
01 =LAl 4,320 4,500 A180
OOl ArE 2 A180 0 A180
301 YUBHEAS 10,500 8,000 2,500
10 SAAHI 2 A 10,500 8,000 2,500
OJ1gol & AL 20,00021%1000| & 2,000 0 2,000
OBsMeA 29 50,0009 23|91 2 900 0 900
OOl atE 2 A400 0 A400
303 ZAZ 400 0 400
01 ZA2 400 0 400
OJIYel & AL AlA 200,0002x2H 400 0 400
307 RI2+0|H 410,000 100,000 310,000
02 BIIHAE X 10,000 0 10,000
OOtz ZAsd 2L3(UHS) 10,000 0 10,000
08 OIX2XZ 400,000 100,000 300,000
OBASIS 0lX2H 20,000,000,0002 %% 400,000 100,000 300,000
401 A& HI LSO 150,000 60,000 90,000
01 Al&Y] 150,000 60,000 90,000
OAtEt Z=8I0tS S EH 90,000 0 90,000
—&2Hh%=2 FHIZAH200m) 25,000 0 25,000
—CHORAYEH B 2F AR 30,000 0 30,000

—ZE =284 (EHAE BUAE(YSAL

) 25,000 0 25,000
—AHEHOFR A 2H2IAlA 10,000 0 10,000
CpSIETSEY 4,680 3,600 1,080
201 LB AH| 4,680 3,600 1,080
ICEEE 2,280 2,400 A120
OOl Ar= 2t A120 0 A120
02 2229 2,400 1,200 1,200
oIz, BME S 200,00024 122 2,400 1,200 1,200
SEXNRREHEX 6,622,971 676,200 5,946,771
= 5,020,503 0 5,020,503
[ 866,752 0 866,752
z 735,716 676,200 59,516
EXNRXIES 3 6,622,971 676,200 5,946,771
= 5,020,503 0 5,020,503
[ 866,752 0 866,752
Z 735,716 676,200 59,516
SNSRI AL 765,716 676,200 89,516
[ 30,000 0 30,000
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2A: EXNgX
M ENFISEFA
SR EXNFXEAS (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
= 735,716 676,200 59,516
201 LBH23Y| 52,690 53,200 A510
01 Ar22t2ldl 36,290 38,200 21,910
OularE A1,910 0 A1,910
03 HAL2ZEHI 16,400 15,000 1,400
OMYEd SR J15)| 713 |X2dE 89
3 S 1,000,000 *23] 2,000 0 2,000
Ol atE 2 AB600 0 AB600
202 o4t 10,176 9,600 576
01 2LH04H| 10,176 9,600 576
ONEH SR JIBD| d18 SIEs S
60,000 x2H+8 960 0 960
Ol atE 2 N384 0 N384
301 LEtEAZ 13,850 13,400 450
10 A2 A2 11,450 11,000 450
OMEd SR JIB)| 713 X2 89
3 S 1,000,000 %23 2,000 1,000 1,000
OularE 2 AB50 0 AB50
303 ZLAS 5,000 0 5,000
== 5,000 0 5,000
01 Z&2 5,000 0 5,000
020128 MYEXNRXUA 24+ SHS AAS
(H+3) 5,000 0 5,000
== 5,000 0 5,000
401 AlEHIL 200 75,000 50,000 25,000
== 25,000 0 25,000
= 50,000 50,000 0
01 Al&H| 75,000 50,000 25,000
Q2012 SR JIBHAIE XIS A 75,000 50,000 25,000
= 25,000 0 25,000
= 50,000 50,000 0
402 212HX=0lH 584,000 525,000 59,000
01 BIZEXEEX 584,000 525,000 59,000
Oolng ¥ IsSsEdEX3 84,000 25,000 59,000
NEEXSH 5,857,255 0 5,857,255
= 5,020,503 0 5,020,503
== 836,752 0 836,752
402 QI2HXH=01H 5,857,255 0 5,857,255
= 5,020,503 0 5,020,503
== 836,752 0 836,752
01 QIZERIEE X 5,857,255 0 5,857,255
OXLEXNEREERS((F)LAHOIXLHAL S
308 D1) 5,338,817 0 5,338,817
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2M: SN
M ENFISEFA
e EXsXENS (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
= 4,576,128 0 4,576,128
= 762,689 0 762,689
OXNEENEEEEZZ((F)eH=22H(]) 518,438 0 518,438
= 444,375 0 444 375
= 74,063 0 74,063
g PN BT 4,754,449 3,794,840 959,609
= 500,000 500,000 0
s 3,125,000 3,125,000 0
= 1,129,449 169,840 959,609
A Y =s3EHX &4 4,754,449 3,794,840 959,609
= 500,000 500,000 0
= 3,125,000 3,125,000 0
= 1,129,449 169,840 959,609
UBFAEE A A ALY 229,449 169,840 59,609
201 LEt2HAH| 116,915 117,200 N\285
01 AtR22t2ld| 5,415 5,700 N285
Ol atEZ N85 0 A285
202 o481 2,534 2,640 A 106
01 =L I 2,534 2,640 A 106
Ol atE 2 A106 0 A 106
307 QI2t0| & 60,000 0 60,000
05 pI2tRER2 60,000 0 60,000
OUOIED | KIS IAFA SR HIESL X 2IAIAL
20,000,000&*3H& 60,000 0 60,000
S Jel"HI3SX =LA 900,000 0 900,000
401 AlZHIL20HY| 900,000 0 900,000
01 Al&H] 900,000 0 900,000
SEs3HAES 900,000 0 900,000
MEA B4 127,582 20,550 107,032
MeErA 127,582 20,550 107,032
MEAAR R 127,582 20,550 107,032
201 LEt2AY| 17,822 14,550 3,272
01 At22teldl 9,072 9,550 VAVY(S]
Ol A= N478 0 NA478
03 AL 8,750 5,000 3,750
O&EINKSKEHAH PEAIE (e-222IE]) 2
gy EXNRX 893 S 2,000,000&*23] 4,000 0 4,000
Ol A250 0 N250
202 o481 5,760 6,000 A\240
01 =L I 5,760 6,000 A240
Ol A= A240 0 A240
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M EXsXI
HE: FEAY R
©9l: Ferakyy (S92
S - B - S9(3H) - HRA - BES il ko plE=L! AimE=T
301 et2ag 4,000 0 4,000
10 AIAHI2 A S 4,000 0 4,000
OFIINSIHEAAH PEAE (e-2L2IE]) 2
Y EXNFA HFH24 2,000,000&*23] 4,000 0 4,000
403 XXISHHSXH=01H 100,000 0 100,000
02 SI|2SOlCHEHCHEEAFZ I 100,000 0 100,000
OZIINHAAHEBAILY 2ES3(2013H) 100,000 0 100,000
TSN =PN Balg=s! 2,626,939 2,466,954 159,985
= 780,360 762,760 17,600
S 120,000 0 120,000
i 1,726,579 1,704,194 22,385
HIINsA |4 2,626,939 2,466,954 159,985
= 780,360 762,760 17,600
= 120,000 0 120,000
i 1,726,579 1,704,194 22,385
HIIRSA BE2(EX) 1,801,193 1,642,000 159,193
= 780,360 762,760 17,600
S 120,000 0 120,000
= 900,833 879,240 21,593
401 AlEHIZL 048I 439,193 400,000 39,193
= 417,600 400,000 17,600
i 21,593 0 21,593
01 Al&HI 436,333 397,140 39,193
OFIIXISAE sSEIZL 2EAIH(20124) 39,193 0 39,193
= 17,600 0 17,600
= 21,593 0 21,593
405 XS4 1,362,000 1,242,000 120,000
= 362,760 362,760 0
L= 120,000 0 120,000
i 879,240 879,240 0
01 IR =EEF=HI 1,362,000 1,242,000 120,000
OXI|K St BSA(2012H) 120,000 0 120,000
= 120,000 0 120,000
OIS 22 (AHA) 25,746 24,954 792
201 Le+24H| 25,746 24,954 792
02 2=322H| 24,585 23,793 792
O=3E22s6 HMI|XH MESZ S HZE &)
2= 33,0002 *2I4 2+ 1200 = 792 0 792
Hees (SR ) 136, 766 72,108 64,658
LH—?D{EHII% 136, 766 72,108 64,658
Etauilﬁl dE= 136, 766 72,108 64,658
701 JIEtRI AN ES 136, 766 72,108 64,658
01 JIEtSIHE == 136, 766 72,108 64,658
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2M: EXNSXID
HI: WRES(SXRXD)

=l WRHeHXIE

S - FE - SRI(SIH) - HRARY - BAS il ko

Os3A7 ZdAE 136,766
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>

-

AN = G

20138 = =& 1 3] LS| &l

SA: MR2AH D
M HH2LLHI(MRSIH D)

O
24|

FAEE E A A

cH: ol (S A )
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH J| &M Hns2

I3 H 34,243,655 33,246,829 996,826
= 217,812 217,812 0
2 770,832 200,000 570,832
[= 89,500 0 89,500
= 33,165,511 32,829,017 336,49
UM SHAH| (M H ) 31,210,937 31,040, 191 170,746
= 217,812 217,812 0
=2 770,832 200,000 570,832
[ 75,000 0 75,000
= 30, 147,293 30,622,379 475,086
QA 2AH| 31,086, 172 30,892,926 173,246
= 217,812 217,812 0
=2 770,832 200,000 570,832
[ 75,000 0 75,000
= 30,002,528 30,475,114 NAT2,586
oIMHI(BE2Y) 30,895,391 30,746,061 149,330
= 217,812 217,812 0
=2 770,832 200,000 570,832
[= 75,000 0 75,000
= 29,831,747 30,328,249 496,502
101 Q124H] 29,631,011 29,483,481 147,530
= 217,812 217,812 0
=2 770,832 200,000 570,832
[ 75,000 0 75,000
= 28,567,367 29,065,669 498,302
01 B2 26,797,816 26,705,582 92,234
ePI=r=, 20,984,788 20,984,788 0
—=22 19,382,117 19,382,117 0
= 2,719,500 %1853« 122 6,037,290 6,037,290 0
= 49,812 49,812 0
=2 770,832 200,000 570,832
= 5,216,646 5,787,478 A570,832
@E= 5,813,028 5,720,7% 92,234

— Q1D A
19,304,928, 40024 *1/360+86%+ 12 553,408 461,174 92,234
02 JIEH=IE 760,869 758,948 1,921
OXSAHE(14Y) 553,952 552,031 1,921
—OIDI2 Al 401,984,000 %1/360%86%+ 12 11,524 9,603 1,921
03 I HL22X 24 2,072,326 2,018,951 53,375
O&H0I3H(39Y) 1,541,989 1,536,717 5,272
—xeasay 67,5981 %392 x 122 31,636 26,364 5,272
O4+22(2% 3%, XgE 3Y) 163, 167 117,895 45,272
—=22 1,030,400 x6H*12& 74,189 58,558 15,631
[= 70,000 0 70,000
= 4,189 58,558 54,369
—HILG 515, 20024 x50%+6 & x23] 3,092 0 3,002

- 173 -




SA: MRS
M #XN2AAH| (MRS
el olE2g| (S92
SN - 3 - SRA(SIH) - MRAY - BES Ol &FoH JIEH HwsZ
—SEG 80,0002 6+ 122 5,760 0 5,760
— 013 1,030,40024+6% 43| 24,730 19,520 5,210
< 5,000 0 5,000
2 19,730 19,520 210
— 220143 50, 000215+ 122 3,000 5,622 £2,622
—YEEIM| 74,189,00024%0.6/ 128+25| 7,419 5,856 1,563
—HoUuZA| 100,00024+6% 122 7,200 6,000 1,200
—DEREY| 60, 000216+ 122 4,320 3,000 1,320
—2lE g 50,0002 +6 2+ 122 3,600 3,000 600
N EESE, 110,00024%6 % * 122 7,920 3,000 4,920
— g 100,00024% 12+ 122 1,200 0 1,200
-G 2,640 2,160 480
ESY 40,0002 3+ 122 1,440 90 480
—AlZteI 2R (F )
14, 0002162+ 10AI 2+ 122 10,080 6,624 3,456
—goa0ag 77,0002 62+ 122 5,544 2,928 2,616
—QiDHR A 74,189,009 /3602 1224 2,473 1,627 846
OxEY=a(1g) 22,928 22,827 101
—oiRtRE 4 50,5008+ 12 606 505 101
OBAEAR(32) 55,026 54,783 243
—oiRR34Y 40,4002 +3* 122! 1,455 1,212 243
ON&RIE| Y SEZ2(15) 265,024 263,812 1,212
—oiRtRB4Y 40,4001+ 152+ 122! 7,272 6,060 1,212
O%22 I=| 2,400 1,125 1,275
= 50, 00024462423 600 200 400
— 01 &t 30, 0002462423 360 200 160
—gste 200, 0002462 1,200 550 650
—OrZ)| 40,00024+6% 240 175 65
204 TR 1,264,380 1,262,580 1,800
ESEEEEEE=TEE] 38, 160 36,360 1,800
ooy 50, 000243+ 122 1,800 0 1,800
SETVESPTN) 170,781 146,865 23,916
101 QI21H] 132, 101 106,365 25,736
01 2% 132, 701 106,365 25,73
OAIZISI2R4Y HoU=(30%) 37,557 30,081 7,476
—53 11,3645+ 10AI 2+ 122 6,819 1,321 5,49
—63 9,69121+62* 10AI2H+ 122 6,978 6,756 222
-73 8,7542% 13 *10AI2H+ 122 13,657 13,223 434
—83 7,8502+824% 10AI2H+ 122 7,545 5,479 2,066
—93 7, 1042%324% 10A1 2k 122 2,558 3,302 AT44
OxN2L4Y 8, 75421302 *30A1 24+ 122 94,544 76,284 18,260
203 ZREX| 38,680 40,500 A1,820
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SA: MR2AH D
M HH2LLHI(MRSIH D)

ool ol (CHl R )
S - B - C9(S0) - HRAKY - BaS o4k pE<L! HlmS2t
PEEEEEES 34,480 36,300 1,820
OOl AF= 2 21,820 0 A1,820
J|=AH| 144,765 147,265 2,500
=2 144,765 147,265 12,500
201 Lpre | 99,655 102, 155 2,500
01 Al 22 48,990 51,490 2,500
O0flAF= 2 2,500 0 2,500
2QTNE x| 419,269 413,749 5,520
NELEEEESS 147,548 160,924 13,376
XIS 23t 128,958 146,834 A17,876
201 Ler2 | 38,341 26,141 12,200
01 Al 22 34,381 22,181 12,200
OXHSNAD =& I|(ARETEHI) 2,500 0 2,500
OSHHEAL =7 S2H|(AMZFSHD) 10,000 0 10,000
Ol atE 2 A300 0 A300
202 Ol 4,400 2,400 2,000
01 =LHoig] 4,400 2,400 2,000
OXLHSIRE TAS SOI(AMEXDHI) 2,000 0 2,000
203 Y2EXH| 14,720 15,500 AT780
03 A ETPL A 14,720 15,500 780
ONlatE 2 AT80 0 AT80
306 =012 2,364 3,000 1636
01 B0i= 2.364 3,000 1636
OBI2X YN E0i2 2,364 3,000 1636
405 XHAHEISH| 24,340 55,000 30,660
01 AL SEFH =0 24,340 55,000 30,660
O0fl A= 2 30,660 0 30,660
X2 28 18,500 14,090 4,500
202 it 2,500 0 2,500
01 =LHoig] 2,500 0 2,500
OXIZHE B S 01z HA(AHZHEH
2) 2,500 0 2,500
301 YereAa 2,000 0 2,000
12 JIEIEAS 2,000 0 2,000
OXIZH HAILHIRE AL 2E
50, 00021+235]+20% 2,000 0 2,000
HeH 2age = 90,936 74,048 16,888
Mo 41,011 33,521 7,490
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S A

I‘iiH:

I3 ot

+AMY 2w
A
=

Chelr MM AR =4 (CH9): HSl)
2A - M G2 () - HRAY - BES Oi &K JIEA HwsZ
201 LEr2 2| 23,411 19,921 3,490
01 AtR2telt] 13,721 12,871 850
OMENZ 88+ SRFA SSHI(AMFE
2&3) 1,500 0 1,500
OoflarE 2 2650 0 2650
02 2223l 9,690 7,050 2,640
o232z & MA 9,690 7,050 2,640
— XS XSG ACIAMAIAE S22 3,960 1,320 2,640
202 Ot 5,100 3,600 1,500
01 =LHOAHI 5,100 3,600 1,500
OXIZA & f FE(AHFREHZ) 1,500 0 1,500
203 S =&H| 9,500 10,000 A500
03 AIBZFRHRFAIH| 9,500 10,000 A500
OnlatEZ 2500 0 2500
303 ZAS 3,000 0 3,000
01 Zat=2 3,000 0 3,000
OXEAZ 3,000 0 3,000
—HgH = ZAZ(AMFEENI) 3,000 0 3,000
=Ml B AR =& 49,925 40,527 9,398
201 B2 | 49,925 40,527 9,398
01 AtR2elt] 24,998 15,600 9,398
Ogt==H| 26,098 15,600 10,498
—S2IDIXINEE 82 10,498 0 10,498
OollarE 2 A1,100 0 A1,100
HEsh hE2e| 88,023 83,365 4,658
INEFEOE A L BAl 82,693 79,855 2,838
101 @1244] 20, 160 16,322 3,838
04 JIZtHI2 2RSS E+ 20,160 16,322 3,838
ONEFEELTAL QRA(MAUHAE)
40,4002 118 %452 19,998 16,160 3,838
201 Ler2Zh| 61,233 62,233 A1,000
01 At22teld| 61,233 62,233 A1,000
OularE 2 21,000 0 21,000
MARA AIRtE ZHl & 2t 5,330 3,510 1,820
201 2| 4,330 3,510 820
01 AtR2telt] 4,330 3,510 820
OMAMIENAR =X STHI(AIBFREXZ) 1,000 0 1,000
Oul &2 2180 0 2180
202 Ot 1,000 0 1,000
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A MRS
IﬁiH; AOIIHX-I _?_043I-a|
ohlr HESH DrE2e| (cHel:&J)
2A - M G2 () - HRAY - BES Oi &K JIEA HwsZ
01 =LHOHI 1,000 0 1,000
OLMIAE HHl S(ANHFAEEI) 1,000 0 1,000
ME2Zae| R, 762 95,412 A2,650
Het 2 X&E 61,062 62,212 A1,180
201 B2 | 44,730 45,880 1,150
01 AtR2telt] 35,130 36,280 1,150
oollarEZ 21,150 0 A1,150
M MESZ 4 31,700 33,200 1,500
201 LEH2 | 30,500 32,000 A1,500
01 AtR2telt] 30,500 32,000 21,500
OollsrE 2 A1,500 0 21,500
BA2E F Akt 2,613,449 1,792,889 820,560
= 14,500 0 14,500
o 2,598,949 1,792,889 806,060
xrEzel 319,142 336,982 A17,840
g2l 312,862 330,602 A17,740
201 LEH2 | 46,802 47,002 A200
01 Ar=22t2ld| 4,600 4,800 A200
OulatEZ 2200 0 2200
202 04| 2,400 1,600 800
01 =LHOHI 2,400 1,600 800
o2& 23" 10,0003 x4 H+60! 2,400 1,600 800
405 KHAHE SHI 263,660 282,000 218,340
01 IR SEFSHI 263,660 282,000 218,340
ONlatEZ A18,340 0 18,340
detgdate 222 IS M=EUE 6,280 6,380 A100
201 LEr2 2| 2,220 2,320 A100
01 AtR2telt] 2,220 2,320 A100
OouflarE 2t 2100 0 2100
S A & S22 2,242,828 1,416,258 826,570
AL Y SE 2 2,242,828 1,416,258 826,570
201 L2 2| 466,838 463,258 3,580
01 At=2teld| 105,741 106,961 A1,220
Ogit+=2H| 91,291 85,011 6,280
—2EAF L2IHIOIE CHETHE 42
160,0002*20& 3,200 1,920 1,280
—ZZ2DIHEN 2 0lXBIE 10,000 5,000 5,000
ONlatEZ AT,500 0 AT,500

_177_




2A: MRS
HE: HAR2E L THarze
el DS HAlE ¥ SE2e (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
02 2323l 361,097 356,297 4,800
@INF=Fis1E=IN ] 51,975 47,175 4,800
—2E HXHD AIA"E |I2$
400,000&*12& 4,800 0 4,800
401 AIEHIZ 2| 1,739,090 934,000 805,090
01 Al&H| 1,726,612 932,212 794,400
OFEAF HIAZHED| WHBA 70,000 0 70,000
OFEAL AFRA! 01Xl [HE MIIUHESAL 5,000 0 5,000
OSAIDIA HHZAIE & =2E32 20,000 0 20,000
OBE2IHA(S, HAIRL, AIRA) B2 190,000 0 190,000
O=e=X4d sH4A 4l 30,000 0 30,000
O+ Bgxsstn FE| 3,000 0 3,000
Ogz 22| 2SEME 2R (2eH) 12,000 0 12,000
OZHME LD MEIAL 664,400 200,000 464,400
02 2eldl 8,292 0 8,292
OB NHMELD MEIAL 7,742 0 7,742
OTEAL 22IHI0IE A2l 550 0 550
03 AlIES20HHI 4,186 1,788 2,398
OZHMELD MEZAL 664,400,000 *0.63% 4,186 1,788 2,398
405 RHAHE SHI 36,900 19,000 17,900
01 XA =2 ZFFHSHI 36,900 19,000 17,900
OAMREEZE &7 24,100 5,100 19,000
—220|& EX(F2U=EX4A) 19,000 0 19,000
ONlatEZ 21,100 0 21,100
2SS Ma2e R =& 51,479 39,649 11,830
& 14,500 0 14,500
i 36,979 39,649 A2,670
=SR2 36,979 39,649 A2,670
201 e | 26,500 28,800 A2,300
01 At22teld| 26,500 28,800 22,300
ONlatEZ A2,300 0 22,300
203 AR=&IH| 7,130 7,500 A370
03 AIBFRHRFAIH| 7,130 7,500 A370
oollarEZ A370 0 A370
SSFAHAZE] 14,500 0 14,500
& 14,500 0 14,500
101 21244| 4,340 0 4,340
= 4,340 0 4,340
04 JIZtHI22ASE+ 4,340 0 4,340
O=2BF At 22| 4,340 0 4,340
o= 4,340 0 4,340
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S e
H: BARY L e
ool 2TRTLLIYS =X (Er9): &)
S - T B2I(3) - HIRAIY - BAS 0 et plE<El HlRE2
201 B2 ] 4,560 0 4,560
= 4,560 0 4,560
01 AFR22IH] 4,560 0 4,560
Ogergt| 1,760 0 1,760
—ITRA4 BIY) 1,760 0 1,760
= 1,760 0 1,760
oagt| 2,800 0 2,800
—ITRW REHR HLET
7,0002+524%802 2,800 0 2,800
= 2,800 0 2,800
202 01t 4,400 0 4,400
= 4,400 0 4,400
ENE] 4,400 0 4,400
O2TZRUM LHER S TN LBIA}
20,0002 x424 152 1,200 0 1,200
= 1,200 0 1,200
O=TZRUN 2¥ L HIAS BXUEZA
20,0002 +424x402 3,200 0 3,200
= 3,200 0 3,200
405 TAHFSH] 1,200 0 1,200
= 1,200 0 1,200
01 RHAILSEFHSY| 1,200 0 1,200
ORBLMMZEA LES ¢l
1,200, 00024 1CH 1,200 0 1,200
< 1,200 0 1,200
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AN = 0l &

20138 = =& 1 3] LS| &l

AP & A A

SRS i‘izﬁ%%%ﬁl(%é@%ﬂr)

chefr QIR (cHel:&J)

SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
SR 1,298,900 1,247,196 51,704
= 389,554 389,554 0
= 17,559 15,559 2,000
= 891,787 842,083 49,704
SHN2AHH(SELIRAD) 169,593 191,493 221,900
olAR Y| 87,968 92,936 24,968
o124H| 87,968 92,936 A\4,968
101 @1244| 83,978 88,736 A4,758
01 2=+ 83,978 88,736 A4, 758
OAIRII2R4E HHZ(20H) 20,949 25,166 N4L,217
-5z 11,3643 % 1Hx10A1 20+ 123 1,364 1,321 43
—6= 9,6912*4H*10AI 2123 4,652 5,630 A978
72 8, 7542 *QH*10A|I2Hx 123 9,455 10,172 NT17
—8= 7,859 x4H*10AI 2t 128 3,773 6,392 A2,619
—9= 7,10423x2H*10AI2H 123 1,705 1,651 54
Oxil2e=se 8, 7543 *20B*30A 12128 63,029 63,570 YANY|
203 FLF&| 3,990 4,200 A210
04 EM2IERFELI 3,990 4,200 A210
OoflarE 2 2210 0 2210
J|123| 81,625 98,557 A16,932
Jl=Zz| 81,625 98,557 16,932
201 LEr2 | 51,339 56,697 Ab,358
01 AtR2telt] 43,672 50,520 6,848
OS2l SUNH4 19,928 24,250 24,322
OollsrE 2 2,526 0 22,526
02 2222 7,667 6,177 1,490
OHXIIXSK NHSKHAI 95,0002 *1CH 95 0 95
OMIINsSKEEE L SA2=(1TH) 500 0 500
o332z & MA 4,600 3,705 895
— AR EZ2A HHASHSIBI(37Y) 4,600 3,705 895
202 Ot 30,286 41,860 211,574
01 204l 30,286 41,860 A11,574
O=3LHoBI (L) 22,119 28,180 6,061
O=3LHobl(22) 10,260 13,680 A3,420
ONlatE 2 A2,093 0 A2,093
=0 Ay Ho| &Y 157,838 80,579 77,259
= 28,054 28,054 0
= 129,784 52,525 77,259
DHAS DIAMA 151,556 75,229 76,327
= 28,054 28,054 0
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2 ZSEA
ZM: =0l Y o &2
ol DMAS QIHE (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
= 123,502 47 175 76,327
QIREE ME L AT 9,519 10,020 A501
201 L2 | 4,503 4,740 N237
01 At22teld| 4,503 4,740 A237
OoflarE 2 2237 0 2237
202 o4t 5,016 5,280 A264
01 WY 5,016 5,280 A264
ONlatE 2 A264 0 N264
INEZHHSER, FRUSE, ZHR =& 17,063 17,955 ABR
201 LEH2 | 15,863 16,755 ABR
01 AtR2telt] 15,763 16,655 ABR
Ol &tE 2 ABR2 0 ABR
QlAQIE o 22| 96,920 19,200 77,720
201 Ler2 | 11,000 11,200 A200
01 At22teld| 3,800 4,000 A200
ONlatEZ A200 0 A200
307 QI2to| & 7,920 0 7,920
02 BItAAEX 7,920 0 7,920
OBlAAMbIA 660,0002 *12& 7,920 0 7,920
401 AlEHIZ 201 50,000 0 50,000
01 Al&HI 50,000 0 50,000
Oolgal ol 50,000 0 50,000
405 KHAHE SHI 20,000 0 20,000
01 AL E2FFEH| 20,000 0 20,000
ORelolAUz)| 2 (2IAA) 20,000 0 20,000
S8R 250t R 6,282 5,350 932
S0 elgorzel 4,400 4,000 400
201 2| 2,300 2,500 A200
01 AtR2telt] 2,300 2,500 A200
OoflarE 2 2200 0 2200
202 ol 2,100 1,500 600
01 204l 2,100 1,500 600
OsXEE 9 HLEHAN [HE SXIEA
20,0002 2 *30 1,200 600 600
B, 2MZ0F 21t 1,882 1,350 532
201 2| 682 750 68
01 At22teld| 682 750 B8
ONlatEZ 68 0 68
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A St
ZM: =0l Y o &2
chel: SR ol g2 (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
202 O4b| 1,200 600 600
01 =LHOHI 1,200 600 600
OQIS It BRIZAL 20,0002 *1Z*30 600 0 600
SADHE 971,469 975,124 A3,655
= 361,500 361,500 0
& 17,559 15,559 2,000
= 592,410 598,065 Ab,655
f3ir2te] 108,025 100,463 7,562
= 1,500 1,500 0
& 2,560 560 2,000
= 103,965 98,403 5,562
INEZAIKI DAL 64,813 67,266 A2,453
201 B2 | 48,814 51,267 A2,453
01 AtR2telt] 46,599 49,052 A2,453
Ol atE 2 A2,453 0 A2,453
NERESIR = 2,375 2,500 A125
201 LBeH=2Z| 2,375 2,500 A125
01 At22t2ldl 2,375 2,500 A125
Oll&rE2 A125 0 A125
SEHEAMH 27,975 25,697 2,278
101 @1244] 5,333 2,667 2,666
04 DI H2Z2 RS ES 5,333 2,667 2,666
OZ=2H=4A BEHl 2 AMFA 20| =2
40,4002 x2Z 60 4,848 2,424 2,424
O4liEE= 4,848,000&*10% 485 243 242
201 LEL2 | 6,460 6,800 A340
01 AtR2telt] 6,460 6,800 A340
oollarE 2 A340 0 N340
202 Odb| 912 960 A48
01 =2LHOHI 912 960 A48
OoollarE 2 A48 0 A48
CERYFAIIEE ANFET HLAAY 5,862 0 5,862
403 XHXISHH S XH20| & 5,862 0 5,862
02 S| 2SOlCHEHCHEE AL B 5,862 0 5,862
OE2YFA FEAIAE 2HH| K& 5,862 0 5,862
—=2gXA 4,000 0 4,000
—GISAHE S/W 1,862 0 1,862
T 22| Y952 ANEZ2 &X 2,000 0 2,000
== 2,000 0 2,000
401 AlEHIZL 048I 2,000 0 2,000
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2 ZSEA
I TAIDHY
chelr 23sk2te] (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
== 2,000 0 2,000
01 Al&HI 2,000 0 2,000
O 2| 9E=Z Ald= &X 2,000 0 2,000
= 2,000 0 2,000
SS8H0 RIS =X 863,444 874,661 A11,217
= 360,000 360,000 0
= 14,999 14,999 0
i 488,445 499,662 A11,217
NES2E 210,225 221,290 A11,065
201 LEr2 2| 9,585 10,090 AB05
01 AtR2telt] 9,585 10,090 A505
Oul &2 2505 0 2505
202 Ot 1,140 1,200 AB0
01 204l 1,140 1,200 280
ONlatEZ 260 0 260
405 THAEE SHI 199,500 210,000 A 10,500
01 XA S SHSHI 199,500 210,000 A 10,500
OoollarE 2 210,500 0 210,500
KHQIADLFX 13,863 14,015 2152
202 ol 1,048 1,200 152
01 =LHOHI 1,048 1,200 A152
Ol atE 2 A152 0 A152
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AN = 0l &

20138 = =& 1 3] LS| &l

AP & A A

A 2522
M HHSHAY|(SH2D)
col: ol 2g| (E491: &)
SN - 3 - SRA(SIH) - MRAY - BES Ol &FoH JIEH HwEZ
252D 15,143, 111 11,825,967 3,317, 144
2 3,402,428 2,659,298 743,130
= 2,014,000 2,014,000 0
| 83,890 118,078 ~34,188
= 138,047 119,251 18,79
< 1,000,389 842,600 157,789
2 8,504,357 6,072,740 2,431,617
FY2HA| (222D 204,373 167,548 3,825
ol gy 115,746 89,072 26,674
01214 89,19 66,361 22,8%
101 QI21| 84,99 62,161 22,8%
RS 80,644 58,244 22,400
OAIZIQI2R4Y Foi=(20) 23,918 20,102 3,816
—53 11,36421% 12+ 10AI 24+ 122 1,364 1,321 43
—63 9,691 24x9Z* 10AI2H 122 10,467 9,008 1,459
—723 8, 7542158+ 10AI2H 122 8,404 7,120 1,284
—83 7,85921x3 % 10A| 2h 122 2,830 1,827 1,003
—93 7, 104245 1B+ 10AI 2 122 853 826 27
OzU2S4Y 8,75421% 18 +30AI 24+ 1224 56,726 38,142 18,584
02 JIEHRIR 4 4,352 3,917 435
OZI 224Y 7,25020% 1Z#40AI 24 128 3,481 3,046 435
A o121l 26,550 22,711 3,839
101 Q124| 26,550 22,711 3,839
01 2% 21,762 18,359 3,403
OZ2R4Y 8, 754 RIx42 35 A| 24 122 14,707 12,206 2,501
Of2aRsY 70,54321%2% 502! 7,085 6,153 902
02 JIEHRIE 4 4,788 4,352 436
OFRBE(1Y) 4,788 4,352 436
—EN22LY 7,25220% 1Zx45AI 24 128 3,917 3,481 436
o=l 88,627 78,476 10,151
o=t 88,627 78,476 10,151
201 LBr2H| 50,421 49,066 1,355
01 AR 22l 48,760 47,405 1,355
O3l BAA 21,383 18,790 2,593
O AR ~1,238 0 ~1,238
202 014 35,091 29,410 5,681
01 =LHoid| 3,091 29,410 5,681
O=UGIHI (L) 23,859 20,230 3,629
O=U0iHI(22) 11,282 9,180 2,052
405 Kt S| 3,115 0 3,115
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SN 2522
HE: HHSHAH|(23H22 )
celr D=3 (Ste: &)
SN - B - S2(3]) - HIRAY - BYS Ofl AroH plE-El HR=
01 XL 2EF SH 3,115 0 3,115
OXZHAI|(HSA]) 915,00024*1CH 915 0 915
O=240|1& 440,000 %52} 2,200 0 2,200
=X L 2AZAY E=X 1,109,281 925,553 183,728
= 40,000 0 40,000
p) 53,890 18,146 35,744
[ 27,335 2,335 25,000
= 988,056 905,072 82,984
ZHssze 552,564 476,544 76,020
= 40,000 0 40,000
< 15,000 0 15,000
= 497,564 476,544 21,020
BT CHQR BHAf 197,290 209, 130 A11,840
201 LBH2AH| 5,040 7,130 A2,090
03 A2 0 2,090 A2,090
OOl ArE 2 A2,090 0 A2,090
307 RI2t0|H 192,250 202,000 A9,750
04 DIZEHALE X 192,250 202,000 A\9,750
OOl ArE 2 9,750 0 9,750
HH=T 129,077 135,617 6,540
201 LEr2H| 6,920 8,460 A1,540
ICEEE 980 2,520 AT1,540
OOl AHE 2 A1,540 0 A1,540
307 2I2t01 A 102,000 107,000 A5,000
04 DIZFHAIE X 102,000 107,000 5,000
OOl ArE 2 5,000 0 5,000
HHERI(EX) 40,000 0 40,000
= 40,000 0 40,000
307 RI2t0|H 40,000 0 40,000
= 40,000 0 40,000
04 DIZHHAIE X 40,000 0 40,000
OWLEH AKX 40,000 0 40,000
= 40,000 0 40,000
AAFSHER 168,197 131,797 36,400
201 LEr2 | 9,800 12,000 A2,200
03 BAL2H 0 2,200 A2,200
OOl AHR 2 A2,200 0 2,200
206 MHEHI 3,600 0 3,600
01 ZHI 3,600 0 3,600
OFXE L2 MU 12,0002%300m 3,600 0 3,600
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S A

252
Zal: EX o BAY =X
o9l EMSLBL (crol: M)
S - ZB . CRI(EI) - HIRAY - BES 0] apot plEL! HlRE2
307 BI2+0I& 122,000 107,000 15,000
04 RIZHHALE X 122,000 107,000 15,000
OS2t &A= 120,000 100,000 20,000
OoollarE 2 A5,000 0 25,000
401 AIEHIZL 04| 20,000 0 20,000
01 Al&HI 20,000 0 20,000
O&AMEE ZEHR| OF2F B2RFAIL 20,000 0 20,000
HAZE R 15,000 0 15,000
< 15,000 0 15,000
307 SI2t0I& 15,000 0 15,000
= 15,000 0 15,000
04 DIZHHEALE X 15,000 0 15,000
02013 & HESK KA (HLSTHR) 15,000 0 15,000
= 15,000 0 15,000
=M XA 3,000 0 3,000
201 B2 3,000 0 3,000
01 AtS2teld 3,000 0 3,000
OSHMSALRL 2X 71 15,000&*200H 3,000 0 3,000
SFEZZALS 181,540 184,540 A3,000
SEHAMASTH 181,540 184,540 A3,000
307 BI2t0I& 27,000 30,000 23,000
04 DIZFHALE R 27,000 30,000 23,000
OoollarEZ A3,000 0 A3,000
AN EE 375,177 264,469 110,708
| 53,890 18,146 35,744
= 12,335 2,335 10,000
i 308,952 243,988 64,964
2HES 185,666 194,876 29,210
201 24| 150,066 159,276 9,210
01 At22teld| 132,140 141,350 A9,210
OulatE2 29,210 0 29,210
ABUY HASO 46,950 22,650 24,300
201 Yty 46,950 21,950 25,000
01 AFR-2teld] 46,950 21,950 25,000
OHAEN Xt&F AX=Z 44,250 19,250 25,000
301 Let2A=g 0 700 A700
12 JIEtE A3 0 700 A700
OHASO] ZOIN YLYLHLE 0 700 ATO0
e ENEY 3, 144 21,014 14,130
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SN 2o
Hu: SR U 2ARAY X
ciol: 2N 2 (=EEE))
S - Y S(3H) - HRAR - BES Ofl At pIELL HRS2
201 LBt 3,600 0 3,600
01 ARzl 3,600 0 3,600
OSSBZHEAL 312 SUS  200,0002* 182 3,600 0 3,600
301 LBHBAS 31,504 21,014 10,530
10 EATAHIDAS 31,544 21,014 10,530
OSSN BSAHI2 27,180 16,650 10,530
—HAIZ, 2N, S0 S
45,0002+ 182+ 13 10,530 0 10,530
SHRBHLAIRE(EX) 41,488 0 41,488
| 20,744 0 20,744
2 20,744 0 20,744
301 LBHR A 41,4883 0 41,488
| 20,744 0 20,744
2 20,744 0 20,744
10 EATAHIDAS 41,488 0 41,488
OS2 HSH| 41,4883 0 41,488
| 20,744 0 20,744
2 20,744 0 20,744
R IT B EENE 30,000 0 30,000
| 15,000 0 15,000
2 15,000 0 15,000
201 LBt 30,000 0 30,000
| 15,000 0 15,000
2 15,000 0 15,000
01 A=l 30,000 0 30,000
OCI=0l BHHXIE ME 30,000 0 30,000
| 15,000 0 15,000
2 15,000 0 15,000
2SR 0BIE 10,000 0 10,000
= 0,000 0 10,000
201 LBt 2,140 0 2,140
= 2,140 0 2,140
01 AR 22l 2,140 0 2,140
ozELS M 2,140 0 2,140
= 2,140 0 2,140
202 014 4,800 0 4,800
= 4,800 0 4,800
ETGE] 4,800 0 4,800
OBZAIE, SR HIXIOR 4,800 0 4,800
= 4,800 0 4,800
301 YsFAS 3,060 0 3,060
= 3,060 0 3,060
10 EATAHIHAS 3,060 0 3,060
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AR S5 (S =H)
2A - Z3H - H2(3H) - HEAY - B AboH JIEH Hws2

O3NS A 3,060 0 3,060

= 3,060 0 3,060

Ao Jn 6,403,520 5,691,427 712,093

& 2,014,000 2,014,000 0

J| 30,000 0 30,000

= 100,981 94,185 6,796

& 43,060 50, 100 AT,040

= 4,215,479 3,533, 142 682,337

2 A 5,178,537 4,760,000 418,537

z 2,014,000 2,014,000 0

& 2,000 5,000 A3,000

= 3,162,537 2,741,000 421,537

SOl ZEI22 S 34,537 0 34,537

401 AIEHIZL 20| 34,537 0 34,537

01 Al&H| 34,537 0 34,537

O oil=2FUS H2SX R HE HEZ

& 29| 34,537 0 34,537

S0I8rALS 4,000 10,000 26,000

& 2,000 5,000 A3,000

= 2,000 5,000 A3,000

402 CIZHRHE0| A 4,000 10,000 26,000

& 2,000 5,000 3,000

= 2,000 5,000 3,000

01 RIZEEE X 4,000 10,000 26,000

ooler HEAl 4,000 10,000 6,000

& 2,000 5,000 3,000

o 2,000 5,000 A3,000

2BAEES W2 640,000 250,000 390,000

401 AIEHIZL 20| 590,000 200,000 390,000

01 Al&H| 590,000 200,000 390,000

Qe 2T & 300,000 0 300,000

O2ZAKF 0 70,000 0 70,000

O Ald=2 70,000 50,000 20,000

22X FHEHIALY 1,224,983 931,427 293,556

| 30,000 0 30,000

= 100,981 94,185 6,796

& 41,060 45,100 A4,040

= 1,052,942 792,142 260,800

t2 X 2el 868,719 635,842 232,877

202 Odb| 1,877 2,700 AB23

01 =W 1,877 2,700 AB23

Oll&rE2 823 0 2823

401 AIEHIZL 20| 388,000 153,000 235,000
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SA: 2B
Hu: RN I
CHol: DX FHIHIANYS EERED
S - B S9(3IH) - ARAY - BES 0 et plE<El HlRE2
01 Al&HI 388,000 153,000 235,000
OLSdAI2 Reld HEEE AX3M 12,000 0 12,000
OF2X AES(ME, =H0IZSA) =M
SAL 8,000 0 8,000
OYUH= W EZ=TcHRl AZAIE HXISA 15,000 0 15,000
OUHIZEW EZTdXl EA AF 200,000 0 200,000
405 XS4 9,100 10,400 21,300
01 IR EZF=HI 9,100 10,400 A1,300
OSEXCIZII(1TH) 8,000 9,500 21,500
OLSTAIZ g™ 2 (1CH) 1,000 0 1,000
OL-SHEAIZ BHSWEZZHAl HAI| 2
250,000 *2CH 500 0 500
OollsrE 2 21,300 0 21,300
S32ZAMI 209,731 195,585 14,146
= 100,981 94,185 6,7%
= 15,100 15,100 0
= 93,650 86,300 7,350
101 @1244| 205,731 193,085 12,646
= 96,981 91,685 5,296
L= 15,100 15,100 0
= 93,650 86,300 7,350
04 JRIA2ZNEE 205,731 193,085 12,646
O3E22Z2AMHFA 205,731 193,085 12,646
= 96,981 91,685 5,2%
= 15,100 15,100 0
= 93,650 86,300 7,350
202 Ot 2,500 1,500 1,000
& 2,500 1,500 1,000
01 =LHOHI 2,500 1,500 1,000
OZS2ZAMHE NEZ= 2,500 1,500 1,000
= 2,500 1,500 1,000
206 M=z 4| 1,500 1,000 500
& 1,500 1,000 500
01 M=Hl 1,500 1,000 500
OZS2ZMLFA 27 1,500 1,000 500
& 1,500 1,000 500
2= E AX| 60,000 0 60,000
| 30,000 0 30,000
i 30,000 0 30,000
401 AlEHIZ 048I 60,000 0 60,000
Il 30,000 0 30,000
= 30,000 0 30,000
01 Al&H| 60,000 0 60,000
OZtZOHHNEXIE A & B 60,000 0 60,000

- 189 -




SA: 2B
Hu: RN I
CHol: DX FHIHIANYS EERED
S - B S9(3IH) - ARAY - BES 0 et plEE" HlRE2
Jl 30,000 0 30,000
= 30,000 0 30,000
==& HOAL HH| 86,533 100,000 A13,467
& 25,960 30,000 A4,040
= 60,573 70,000 A9,427
401 AIEHIZ 2| 86,533 100,000 A13,467
= 25,960 30,000 24,040
i 60,573 70,000 A9,427
01 Al&HI 86,533 100,000 A13,467
Odll==Z HOALFH| 86,533 100,000 A13,467
= 25,960 30,000 24,040
= 60,573 70,000 N9,427
HS2atRrato 2eld|gt 2= 2,286,635 1,072,747 1,213,888
= 1,162,428 459,298 703,130
= 25,066 25,066 0
& 371,994 221,471 150,523
= 727,147 366,912 360,235
FoFL HAHE MSEE 75,326 72,326 3,000
= 28,963 25,963 3,000
& 10,800 10,800 0
= 35,563 35,563 0
KA R A BISSHAL K& 3,000 0 3,000
= 3,000 0 3,000
307 QI2t0| & 3,000 0 3,000
= 3,000 0 3,000
02 RItEAE X 3,000 0 3,000
OXARAQI ALK R 3,000 0 3,000
= 3,000 0 3,000
FRAAIES BE2te] 2,211,309 1,000,421 1,210,888
= 1,133,465 433,335 700,130
= 25,066 25,066 0
= 361,194 210,671 150,523
i 691,584 331,349 360,235
23 I (AHA) 151,076 61,400 89,676
201 B2 2,700 2,400 300
02 Z=23| 1,500 1,200 300
O=2sH &IN5 78,9003 * 1901 A 1,500 1,200 300
207 S=1HEH| 83,376 24,000 59,376
01 AEH| 83,376 24,000 59,376
Og&Z HIKE AEE 23 S==A Y 40,000 0 40,000
OEXE 23t aHESIF MeldlEet &4 21,188 24,000 N2,812
ORI MLS2 ASTAIY EISESA(
HAZCQH) 25,000 25,000
OollsrE 2 A2,812 A2,812
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522
2R P28 2E
SstRiAlLe 2R (Er9): &)
A - T GRI(3]) - HIRAKY - BS Arol plE<El HlRE2
402 BIXHZ0IF 30,000 0 30,000
01 SIHIESE 30,000 0 30,000
OS2 22 2AR(HIXE 30,000 0 30,000
2DIE 28 242 1,553,571 553,571 1,000,000
2 1,067,500 367,500 700,000
= 130,821 40,821 90,000
2 365,250 145,250 210,000
401 AIZBIL 2T 323,924 303,571 20,353
2 206,747 212,500 14,247
= 29,153 27,321 1,832
2 68,004 63,750 4,274
02 22l 20,353 0 20,353
OS2UA HST FHFI( 20,353 0 20,353
= 14,247 0 14,247
= 1,832 0 1,83
2 4,274 0 4,274
402 BIRIXHZO0I A 1,229,647 250,000 979,647
= 840,753 155,000 685,753
= 101,668 13,500 83,168
2 287,226 81,500 205,726
01 SIES S 1,229,647 250,000 979,647
OS2UA HSH FHTHI(3 979,647 0 979,647
= 685,753 0 685,753
= 88, 168 0 8,168
2 205,726 0 205,726
EEEESTIEEBINE 20,99 0 20,9%
= 10,497 0 10,497
2 10,498 0 10,498
401 AIZBIZ 2T 20,99 0 20,99
= 10,497 0 10,497
2 10,498 0 10,498
01 AIZE] 20,99 0 20,9%
OZXE ZIH0I2T| 20,99 0 20,99
= 10,497 0 10,497
2 10,498 0 10,498
S5 B E I (SRA) 100,000 0 100,000
= 50,000 0 50,000
2 50,000 0 50,000
402 BIRIXHZ0IH 100,000 0 100,000
= 50,000 0 50,000
2 50,000 0 50,000
01 SIESE 100,000 0 100,000
OS2A ZHI(Z2S0 HE 100,000 0 100,000
= 50,000 0 50,000
2 50,000 0 50,000
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SN 2SR
HM: MESSIRM DI 1
©9l: 2aiR4AM 2R (=S RN
SA - ZH . GA(SH) - HRAY - B82S Oi &K JIEA HwsZ
S5 ZSRAMH 7= 84,800 84,563 217
2 50,880 50,750 130
= 10,176 10,150 2%
2 23,744 23,683 61
101 Q218 83,000 83,963 1983
2 49,800 50,390 A5
= 9,960 10,078 A118
= 23,240 23,515 ~275
04 JR2Z RS2+ 83,000 83,963 983
OZ2A HI2H oHE |0l 83,000 83,963 A983
= 49,800 50,390 A5
= 9,90 10,078 A118
= 23,240 23,515 ~275
202 04| 1,200 0 1,200
= 720 0 720
= 144 0 144
= 336 0 3%
01 =URoIH] 1,200 0 1,200
OSUA I2E oAb AR NT2S 1,200 0 1,200
=2 720 0 720
= 144 0 144
2 3% 0 3%
Ssll=2s SN 5,139,302 3,968,692 1,170,610
= 2,200,000 2,200,000 0
p 0 99,982 £99,932
= 12,000 0 12,000
= 558,000 568,604 A10,694
B = 2,369,302 1,100,066 1,269,236
el Y2RRA 3,747,990 3,808, 116 A55, 126
= 2,200,000 2,200,000 0
p 0 99,982 199,932
= 558,000 568,604 A10,694
2 989,990 934,490 55,500
NL25i0iE A XIR 256,087 254,537 1,500
307 2IZHOI 229,700 228,200 1,500
04 QIZIEHAIE 131,500 130,000 1,500
OB NRLHESEAI(D12) 2,000 0 2,000
OZE2EY 2IN 5,000 0 5,000
@ INEET £5,500 0 75,500
NEEET B ETEES 40,000 3,000 37,000
< 3,000 3,000 0
2 37,000 0 37,000
307 2I2HOI 32,000 1,500 30,500
= 1,500 1,500 0
2 30,500 0 30,500
04 QIFHAIS T 32,000 1,500 30,500
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M 2HuR
I 2s0ieEE SEN
&l SEI3e| Y=2]4 (el &)
S B SRA(SH) - NRAY - B 0 bt plE<E! HIDZ
ORNI393] MERILMESH &R (L) 32,000 1,500 30,500
S 1,500 1,500 0
= 30,500 0 30,500
308 KXIEHISOIH 8,000 1,500 6,500
= 1,500 1,500 0
i 6,500 0 6,500
06 W=I|20CHEt 2 X3 8,000 1,500 6,500
ONI3%al MERIZM=SEH MK (HAE) 8,000 1,500 6,500
= 1,500 1,500 0
i 6,500 0 6,500
Z2tER 24,953 135,579 A110,626
Il 0 99,932 N99,932
L= 0 10,694 10,694
i 24,953 24,953 0
307 QI2to1™ 24,953 135,579 A110,626
Il 0 99,932 299,932
& 0 10,694 210,694
i 24,953 24,953 0
05 RIS 3 24,953 135,579 A110,626
OZ st ™A 24,953 135,579 A110,626
Jl 0 99,932 N99,932
L= 0 10,694 A10,694
i 24,953 24,953 0
g2z g9k # eIElE ARelgd 2= 15,000 0 15,000
201 24| 15,000 0 15,000
01 At22teld| 15,000 0 15,000
Ogdz =X ¢ Usls AEC8E MA
15,0002*1,0005 15,000 0 15,000
S 0185 &Y JIgdl A8 2,000 0 2,000
402 212EXH201M 2,000 0 2,000
01 Bl EEX 2,000 0 2,000
O0lS=dd I8 HE 2,000 0 2,000
SN2 178,951 165,576 13,375
= 12,000 0 12,000
= 166,951 165,576 1,375
S A2 58,100 61,100 23,000
405 KHAHE SH| 57,000 60,000 23,000
02 =AMl 57,000 60,000 A3,000
OoollarEZ 23,000 0 A3,000
SN2 0IEX 2tel 16,004 10,854 5,150
201 24| 15,524 10,374 5,150
01 At22teld| 9,824 4,374 5,450
OgZel 8t 2P|2s 5,450 0 5,450

- 193 -




2N 222Dt
M ZoisEs SRR
& EA2RY (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
—TZAH NE 1,000 0 1,000
—&==2 W& 1,050 0 1,050
=2 2| 1,000 0 1,000
—=FZ dAEY 1,400 0 1,400
—dAIRE "B 1,000 0 1,000
03 A2 2] 5,700 6,000 2300
ONlatEZ A300 0 A300
N2oMa 24 2 XA 27,650 28,425 NTT5
201 2| 22,049 22,824 NTT5
01 At22teld| 4,769 5,544 NTT5
OoflarE 2 NTT5 0 NTT5
S3ENH2Y 12,000 0 12,000
= 12,000 0 12,000
308 AHXISHAMIS0IH 12,000 0 12,000
= 12,000 0 12,000
06 NI ZUSEXEZ 12,000 0 12,000
O33&M2 EA7Hl XA 12,000 0 12,000
= 12,000 0 12,000
Zai=sl2 2 1,212,361 0 1,212,361
ANEE 2] 884,361 0 884,361
101 @124 5,366 0 5,366
04 DI HI22 XS ES 5,366 0 5,366
OF=EScibal:]l 40,0002 +3Z*103|+3& 3,600 0 3,600
Ollsgl2 =3 M=xY
42,7802 x5 B4 *23| 1,712 0 1,712
OMTHERE 5,312,000&*1% 54 0 54
201 B2 | 135,795 0 135,795
01 AtR2elt] 5,840 0 5,840
OFIdEZ 40,0002 *7CH*3& 840 0 840
OAREFY(HAEE S) 5,000 0 5,000
02 3223l 129,955 0 129,955
o™= 16,700,000& 53 83,500 0 83,500
Odote=E23 2,891,000&*5& 14,455 0 14,455
OALgAIEotM e =5 300,000&x5& 1,500 0 1,500
O&J|gte2te] =8 5,000,000& 12| 5,000 0 5,000
O |Xl2teldl 150, 0002 *4CH*5 3,000 0 3,000
O230l=3 2HEs A3 2,500,000 13| 2,500 0 2,500
Ollzsl2 RLUAMEC =22
10,000,000& * 13 10,000 0 10,000
OAIEEHI= I 10,000 0 10,000
202 o4t 1,200 0 1,200

_194_




AN 2ottt
M Zl=gs SR
&t Sz 2 (el &)
S - T - SRI(SH) - HRA - BES 0 apot pE-L AimE=T
01 2LHOYI 1,200 0 1,200
Olll=sl2 A&AIE HIXI0R
60,0002 +2E*102 1,200 0 1,200
206 M=z 4| 17,000 0 17,000
01 M=Hl 17,000 0 17,000
O3¢g ZENM(E2A 7 S) 9,500 0 9,500
O3¢g SEXM(0L0IA AHoIZE S) 5,000 0 5,000
OSHE RUDIHX(CI0IE AR S) 2,500 0 2,500
405 XHHF S| 725,000 0 725,000
01 IRIL2EFHSHI 725,000 0 725,000
OLlOoH=(2Ch) 300,000 0 300,000
OHDI2(AZHOIR S) 75,000 0 75,000
OSFEHIE(HFE Xt S) 65,000 0 65,000
OHAEZL|(AHIOIK IHE S) 40,000 0 40,000
OAIY(S¢E Os9) 30,000 0 30,000
OnAa &AM 20,000 0 20,000
OZ&4l HIS+7E 45,000 0 45,000
OYgfE Hs+ 150,000 0 150,000
S8 & AR2e] 328,000 0 328,000
201 LEt2 | 328,000 0 328,000
01 At22teld| 5,000 0 5,000
o3¢ 82 ¥ 21 5,000 0 5,000
03 HAH2EH| 323,000 0 323,000
Olll=3]2t JHZHAL 150,000 0 150,000
Otz HIISH(BRY) 100,000 0 100,000
Ot =33 XIZAH 73,000 0 73,000
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H 2 0l & A H Al A
20139E = 1 3 B3| JF
A AZLEARIDL
I HHLSAPY|(AZEAATL)
Sl olHRAY| (S &)
SA - ZH . GA(SH) - HRAY - B82S Ol &beH JIEA Hws2t
ATLXARA T} 5,741,019 3,624,690 2,116,329
= 7,578 2,578 5,000
p) 490,444 128,060 362,384
[ 64,016 4,701 59,315
z 5,178,981 3,489,351 1,689,630
HY2HAY(AEZA D) 173,890 169,945 3,945
ol 2| 68,889 59,417 9,472
QI4H| 68,889 59,417 9,472
101 Q1244 66,039 56,417 9,622
01 £ 55,068 46,817 8,251
OAIIQI224E HHE(13H) 14,009 13,760 339
—53 11,3642+ 12 10AI 2H 12 1,364 1,321 43
—63 9,691 x4%*10AI 212 4,652 5,630 A978
-73 8, 7544 x5H* 10A| 2 128 5,253 4,069 1,184
—83 7,85921%3%* 10A| 212 2,830 2,740 )
OXNU224E 8,754 2% 13 *30A| 2t 12 40,969 33,057 7,912
02 JIEHR B 10,971 9,600 1,371
OFAFE(2F) 6,963 6,093 870
—ZU225Y 7,25221%2%x30A| 2 128 5,222 4,352 870
OAA=(2tZ, 1H) 4,008 3,507 501
—ZN224Y 8,34821* 1 30AI 2+ 12 3,006 2,505 501
203 LR 2,850 3,000 A150
04 BARYASEXIH 2,850 3,000 A150
Oflar= 2t A150 0 A150
J|=23| 105,001 110,528 N5,527
J|123l 105,001 110,528 15,527
201 LEH2YH| 80,615 84,858 N4,243
01 AF22t2IHl 80,615 84,858 N4,243
OoflarE 2 N4, 243 0 N4, 243
202 04l 24,386 25,670 A1,284
01 20t 24,386 25,670 A1,284
OO0l arE 2t A1,284 0 A1,284
HEare |4 5,204,137 3,107,460 2,096,677
p) 490,444 128,060 362,384
< 63,005 3,690 59,315
= 4,650,688 2,975,710 1,674,978
e ds 9 A 1,918,918 1,902,602 16,316
< 29,000 0 29,000
z 1,889,918 1,902,602 A12,684
=2 a3 HE ¥ &I KA 929,280 1,395,400 N466,120
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B AXAA
M MsHY |4
@2l s s 2 X CERE)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
202 04| 2,280 2,400 A120
01 =LHOHI 2,280 2,400 A120
OulatE2 A120 0 2120
303 Za3 30,000 0 30,000
01 L&tz 30,000 0 30,000
O2013 F1Z2loIg=e| 2HXSKH 303
INE=s 30,000 0 30,000
307 QI2to| & 897,000 1,393,000 A496,000
04 CIZFHALE X 897,000 1,393,000 A496,000
OM403] M= CHSIEHA =& =RA T3S 0 200,000 200,000
02013 3/ & 20H 53 ZJIUhE 0 60,000 260,000
02013 HM=2ZEs6A3 0 200,000 A200,000
02013 H=Hsr=-1 03 250,000 200,000 50,000
Ol atE 2 86,000 0 86,000
SCH Ol OHE & &0t NI 253,480 253,960 A480
202 Oib| 480 960 A480
01 =LHOHI 480 960 A480
Oul &2 2480 0 2480
LAEHSUHIIRXIXA 60,596 56,680 3,916
202 Ot 912 960 A48
01 =LHOHI 912 960 A48
OulatE2 A48 0 A48
301 LB A3 684 720 A36
10 SHAAHIE &3 684 720 A36
oollarEZ A36 0 A36
307 @Izl 34,000 30,000 4,000
02 RItEAEE 34,000 30,000 4,000
Og&=H=ss 224l K& 24,000 22,000 2,000
—XE3 At222ltl 7,000 5,000 2,000
Og&=Me=ss 29 A& 10,000 8,000 2,000
—MET=3 AR2e(H] 5,000 3,000 2,000
ISR E KA 479,000 0 479,000
& 29,000 0 29,000
[ 450,000 0 450,000
201 Ye2 S| 7,000 0 7,000
= 7,000 0 7,000
01 AtR2telt] 2,000 0 2,000
OSHEXNEH RXE <&t &F &8 HA
S 2,000 0 2,000
(= 2,000 0 2,000
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S AZEAQID}
HH: HSMY 84
ool Mg ME 2 Y (&9l &2l)
S - B S9(3IH) - ARAY - BES 0 bt plEE" HlRE2
03 EAF= ] 5,000 0 5,000
OSHEXER RX L AEZ2] 22X 5,000 0 5,000
= 5,000 0 5,000
202 04t 2,000 0 2,000
= 2,000 0 2,000
01 =UHoM 2,000 0 2,000
OSHEXER R L LA HXIOR 2,000 0 2,000
< 2,000 0 2,000
307 DI2H0IH 470,000 0 470,000
= 20,000 0 20,000
z 450,000 0 450,000
04 CIIEAIE 470,000 0 470,000
ORIF63 HANSAWSIRI| H2EHAEHS 200,000 0 200,000
= 10,000 0 10,000
= 190,000 0 190,000
02013 BB SAHLAYS] 205,000 0 205,000
= 5,000 0 5,000
= 200,000 0 200,000
02013 3= 204 55| 65,000 0 65,000
< 5,000 0 5,000
z 60,000 0 60,000
MBS B0 20 263,089 239,720 23,369
p 140,444 128,060 12,384
< 4,005 3,690 315
z 118,640 107,970 10,670
MEHSICR 121,440 110,400 11,040
p 60,720 55,200 5,520
z 60,720 55,200 5,520
307 BI2H0I M 121,440 110,400 11,040
| 60,720 55,200 5,520
= 60,720 55,200 5,520
02 ERIBNSE 121,440 110,400 11,040
OYer MBHSKIEK HHEIAS 121,440 110,400 11,040
| 60,720 55,200 5,520
z 60,720 55,200 5,520
COIME SRS KIE X 97,152 88,320 8,832
p 48,576 44,160 4,416
z 48,576 44,160 4,416
307 DI2H0IA 97,152 83,320 8,832
p 48,576 44,160 4,416
z 48,576 44,160 4,416
02 BIZFFAE X 97,152 83,320 8,832
OOZAITE MEYSKIEX HHRIAS 97,152 83,320 8,832
p 48,576 44,160 4,416
= 48,576 44,160 4,416
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A ALXAAD}
M HsSNY 4
el MEXS 2O =0 (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
AP T ALY 44,497 41,000 3,497
D) 31,148 28,700 2,448
= 4,005 3,690 315
= 9,344 8,610 734
307 2I2t01 & 44,497 41,000 3,497
J| 31,148 28,700 2,448
& 4,005 3,690 315
o 9,344 8,610 734
02 DI2tE A X 44 497 41,000 3,497
OAZEHISHEAIS 44,497 41,000 3,497
D) 31,148 28,700 2,448
= 4,005 3,690 315
= 9,344 8,610 734
stdE 84 720,000 70,000 650,000
Dl 350,000 0 350,000
o 370,000 70,000 300,000
stuis 84 220,000 70,000 150,000
308 RXISHHMSOIH 220,000 70,000 150,000
06 WRI|I2ZUHUBIEES 220,000 70,000 150,000
Ogutsstn &C2sdE &4 150,000 0 150,000
MEXSAE X XA 500,000 0 500,000
Dl 350,000 0 350,000
o 150,000 0 150,000
308 XXISHHMSOIN 500,000 0 500,000
D) 350,000 0 350,000
iy 150,000 0 150,000
06 WRI|2ZUHUSIEES 500,000 0 500,000
OgZ) MESAIE AX KA 500,000 0 500,000
J| 350,000 0 350,000
iy 150,000 0 150,000
HMEANE &5 1,326,839 82,795 1,244,094
= 30,000 0 30,000
= 1,296,889 82,795 1,214,094
DIS2HAN=AIE 82,075 72,075 10,000
401 Al&HIL L] 80,000 70,000 10,000
01 Al&HI 80,000 70,000 10,000
OsSUIMEAIE e L B 40,000 30,000 10,000
gz XNSEUSESZE LAY 1,214,814 10,720 1,204,094
202 o481 684 720 A36
01 2LHH] 684 720 A36
OularE 2 N36 0 A6
401 Al&ZHIZL L] 4,130 0 4,130
01 Al&HI 4,130 0 4,130
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SN AZEARD
o S S5
Sl HSAE 25 (B9l =)
S - B S9(3IH) - ARAY - BES 0 bt plEE" HlRE2
OZZZIUZZEE Z8AY 2ot 4,130 0 4,130
403 REXI RIS KH20I & 1,200,000 0 1,200,000
02 2O 2SS AN 1,200,000 0 1,200,000
OYBISAUSBEE LAY B3 700,000 0 700,000
OYBIBAUSBEE YYUZH 23 500,000 0 500,000
DISEH?l HISAIE(2X) 30,000 0 30,000
= 30,000 0 30,000
401 Al B2 0HY] 30,000 0 30,000
= 30,000 0 30,000
01 AI&ZH] 30,000 0 30,000
0272 L OI2ES HSAA
5,000,002 672 30,000 0 30,000
< 30,000 0 30,000
sasALe 975,241 812,343 162,898
SPATEISHE 587,301 523, 198 64,103
201 Ypt2gy| 398, 944 333,061 65,883
01 AFR2elt] 39,620 41,737 A2 117
Ol INE=ET 2,117 0 £2,117
02 2BEY| 359,324 291,304 68,000
OZB2Z % AA 225,536 167,536 58,000
—AREIE MIZ(HSD, THLIIE S)
14,750,00021* 122 177,000 120,000 57,000
—AZEIS S5 D180 ZAEAE 500 0 500
—ATEIS MIINSH SerRea 500 0 500
ON&ZH RX4H| 71,90 61,980 10,000
—ATEIS 9l WATAL 10,000 0 10,000
307 SI240| & 65,000 80,000 15,000
05 BIRIRIE2 65,000 80,000 115,000
OBsesdy XTIz pI2i9lE 65,000 80,000 15,000
401 Al HI L2 0HY] 55,662 51,662 4,000
01 AIZH] 55,662 51,662 4,000
OAHZEIZ 01012 HA U H4BA 4,000 0 4,000
405 XHaHE S| 14,220 5,000 9,220
01 AHILEZFSH| 14,220 5,000 9,220
O=CIHSHE E0lY 227 9,500 0 9,500
Ovjl&rE 2t 1280 0 1280
AZMBH STV 60,798 33,350 27,448
201 22| 30,798 23,350 7,448
01 AFR2elt] 3,578 3,030 548
OgstagH| 3,730 3,030 700
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2A ALXARYTY
HH: MsN 4
S SEHSAIE 2L (S &8)
A - FM . S(SH) - MEAIY - BES 04| AroH J| &M Hlus2
-3 SIEA SHA Had| 700 0 700
Ol arE 2t A152 0 N [
02 33249H| 27,220 20,320 6,900
O35232 ¥ HAl 22,782 15,882 6,900
—MERSE Mg 1,500,000 12& 18,000 12,000 6,000
—MEHER2Y Yot
150,000 6= 900 0 900
401 AIZHILE0HY| 30,000 10,000 20,000
01 Al&H| 30,000 10,000 20,000
O=TE AEZS B43At 20,000 0 20,000
FEAUW=GE 22| 327,142 255,795 71,347
101 2124d| 143,560 131,184 12,376
04 JI1ZtHI2E2 XS24 143,560 131,184 12,376
OJI1Z2tHl 22XH(eHE R129) 69,356 65,592 3,764
—E&3 1,881,940&+2H 3,764 0 3,764
OJI2HHl 22 XHZARH) 69,356 65,592 3,764
—E183 1,881,940&+2H 3,764 0 3,764
OJI2HHl 22 AHHHRRI2H) 4,848 0 4,848
— X2 5,050 3 #2H*40A| 2+x 12 4,848 0 4,848
201 LEt2HAH| 146,262 89,291 56,971
01 AtR22t2ld| 19,407 18,704 703
Ogbt=2H| 18,504 17,904 600
—YT HOAISE S22ATX 7Y
1, 2002 *500H 600 0 600
Oz=YZt ORIZ22X S|
7,0003x1H«26 2 +6 1,092 0 1,092
OollatE 2 A989 0 A989
02 s32494| 126,855 70,587 56,268
OdzH| 110,643 54,375 56,268
—=HE et AZHI|(LPG)
1,475 *6,000kg* 12 106,200 49,932 56,268
405 KHAHR S| 2,000 0 2,000
01 AL EEFHSHI 2,000 0 2,000
OxgE 290 OE HIS+Y 2,000 0 2,000
AE L SZTAMSA 22| 62,992 47,285 15,707
= 7,578 2,578 5,000
= 1,011 1,011 0
o 54,403 43,696 10,707
P HAA K22 56, 126 40,329 15,797
= 5,000 0 5,000
o 51,126 40,329 10,797
E2ACHA A2 46,126 40,329 5,797
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20138 = =& 1 3] LS| &l

AN = 0l &

AP & A A

SN SRS
o HHSAAH| (2P =KL
el olziea| EERE)
A -3 - SRA(ZH) - MRAY - BES Oll &+t JIEN HuESZ
=X 11,926,731 10, 112,687 1,814,044
=2 3,620,941 3,457,508 163,433
= 1,139,781 1,139,779 2
= 513,545 473,745 39,800
= 6,652,464 5,041,655 1,610,800
EEEEETHTEE ) 194,390 166,396 27,904
o2 105,049 82,574 22,475
o121t 105,049 82,574 22,475
101 Q1244 100,849 78,374 22,475
01 2% 97,367 75,327 22,040
OAIRIZR4E FoH2(232)) 24,883 21,928 2,955
—52 11,36420% 121 10A1 2k 122 1,364 1,321 43
—63 9,691 102+ 1012k 122 11,630 9,008 2,622
—73 8, 754872 x10AI2H 128 7,354 7,120 234
—83 7,8502 3%+ 10AI 2H 128 2,830 3,653 1823
—92 7, 10421522+ 101 2H 128 1,705 826 879
GE=IESS 8, 75421 x232x30AI 2t 122 72,484 53,399 19,085
02 JIEHE 24 3,482 3,047 435
OFAAH(12) 3.482 3,047 435
—E2R4Y 7,252 12%30AI 2H 128 2,611 2,176 435
IR 89,341 83,822 5,519
PR 89,341 83,822 5,519
201 Yere| 46,471 44,742 1,729
01 AFR 22l 44,395 42,666 1,729
OS2l SUHA 22,339 20,610 1,729
202 01t 40,070 36,280 3,790
01 =0T 40,070 36,280 3.7%0
O=LHOAHI (ZHLH) 27,002 24,580 2,422
O=UH0AHI (2t2l) 13,068 11,700 1,368
NEEENEE] 4,622,828 4,118,854 503,974
=2 1,807,362 1,794,100 13,262
= 47,689 24,717 22,972
= 2,767,777 2,300,037 467,740
HASH JIBEY 2,826,927 2,485,950 340,977
=2 1,638,900 1,638,900 0
= 6.400 6,400 0
2 1,181,627 840,650 340,977
=245 8 MENGHE SR 2,260,977 1,929,000 340,977
= 1,350,000 1,350,000 0
= 919,977 579,000 340,977
401 Al B2 2 0HY| 2,260,977 1,929,000 340,977
= 1,350,000 1,350,000 0
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A BASXD
Hu: [oiEy 25
ol BASH JIUEM (E491: &)
SN - 3 - SRA(SIH) - MRAY - BES Ol &FoH JIEH HwEZ
= 979,977 579,000 30,977
01 Al 2,063,774 1,722,797 340,977
OZ2-A8tE MENSHE =AY 2,063,774 1,722,797 340,977
2 1,143,797 1,143,797 0
2 919,977 579,000 340,977
OMES 25 52,144 52,144 0
3 8,000 8,000 0
= 4,517 1,517 3,000
2 39,627 42,627 3,000
=32 Iai2Al A 10,000 10,000 0
= 3,000 0 3,000
2 7,000 10,000 3,000
302 OI=LTHAHLAD 10,000 10,000 0
= 3,000 0 3,000
2 7,000 10,000 3,000
02 IR THAHE A2 10,000 10,000 0
OOHSE SX2 TIoH 2At| 10,000 10,000 0
= 3,000 0 3,000
2 7,000 10,000 3,000
HALASH ST SHNCH 264,050 254,050 10,000
2 122,200 122,200 0
= 16,800 16,800 0
2 125,050 115,050 10,000
=0IE el XA 188,000 178,000 10,000
= 77,200 77,200 0
= 16,800 16,800 0
2 9,000 84,000 10,000
207 SN L] 20,000 10,000 10,000
2 10,000 10,000 0
2 0,000 0 10,000
EEEE=ET] 20,000 10,000 10,000
OZH0IE HEFA 8 20,000 10,000 10,000
= 10,000 10,000 0
2 10,000 0 10,000
MEHDI2 MY 647,649 494,652 152,997
2 13,262 0 13,262
= 19,972 0 19,972
2 614,415 494,652 119,763
EENCBIES! 369,845 309,845 40,000
401 AIZBIL 2T 40,000 0 40,000
01 Al&H] 40,000 0 40,000
OB0IE MAVTHEE +TF BEZAF 40,000 0 40,000
MWRE 2E0SD] 180,807 164,807 16,000
307 QI2t0I R 16,000 0 16,000
05 DIRISIErS 16,000 0 16,000
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2A: A=K
IﬁiH: II’@%% Ei
CHR: MEHD|I2 E™22 (S &)
A - FM . S(SH) - MEAIY - BES 04| AroH J| &M Hlus2
‘ OYX| MEHI|IE HStAIE 400,000& *x40& 16,000 0 16,000
HHIY #=0d| XI& 96,997 0 96,997
= 13,262 0 13,262
= 19,972 0 19,972
= 63,763 0 63,763
301 LetE A 80,872 0 80,872
= 13,262 0 13,262
== 13,522 0 13,522
o 54,088 0 54,088
12 J|IEtE2 A= 80,872 0 80,872
OHHIY =M &2 80,872 0 80,872
= 13,262 0 13,262
< 13,522 0 13,522
= 54,088 0 54,088
401 AMEHIZL 204 16,125 0 16,125
== 6,450 0 6,450
o 9,675 0 9,675
01 Al&H| 16,125 0 16,125
OgsHII= 022 =T A& &AXIAt 16,125 0 16,125
& 6,450 0 6,450
= 9,675 0 9,675
MEITIEES & BS 6,842,512 5,560,436 1,282,076
= 1,813,579 1,663,408 150, 171
2 1,139,781 1,139,779 2
= 465,856 449,028 16,828
7 = 3,423,296 2,308,221 1,115,075
LA 2t 4,301,868 3,029,180 1,272,688
= 1,358,659 1,216,160 142,499
=z 380,000 380,000 0
& 309,410 285,271 24,139
i 2,253,799 1,147,749 1,106,050
=R A 2,022,601 1,823,567 199,034
= 994,417 994,417 0
= 242,293 242,293 0
iy 785,891 586,857 199,034
401 AlZHILS0HY| 2,019,401 1,820,367 199,034
= 994,417 094,417 0
& 241,653 241,653 0
iy 783,331 584,297 199,034
01 Al&HI 1,986,691 1,787,657 199,034
O2LH2IERI1(1,200na) 1,727,197 1,551,314 175,883
= 861,627 861,627 0
= 206,790 206,790 0
iy 658,780 482,897 175,883
O 2ILIFEIRI1(80ha) 77,235 69,435 7,800
= 38,576 38,576 0
< 9,259 9,259 0
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S BE=TD
mE: MPNRES L 25

ool daItiE EaBe (Sr9): H2)
SA - FB . S2(3H) - MRAY - BES ofl by pJE=Ll CImE==h

o 29,400 21,600 7,800

OZXEX ZHI21(70na) 62,689 56,368 6,321

= 31,317 31,317 0

= 7,516 7,516 0

2 23,856 17,535 6,321

Og =/ (100ha) 89,570 80,540 9,030

= 44,745 44,745 0

= 10,738 10,738 0

i 34,087 25,057 9,030

AHEIBIOI20H A =EE=E 441,119 216,706 224,413

= 276,184 132,263 143,921

S 48,503 23,818 24,685

= 116,432 60,625 55,807

101 @1244] 392,062 186,849 205,213

2 242,110 12,109 130,001

& 44,472 21,081 23,391

i 105,480 53,659 51,821

04 D122 RS ES 392,062 186,849 205,213

OLHEI0I20HA +EES(22Y) 392,062 186,849 205,213

= 242,110 112,109 130,001

== 44,472 21,081 23,391

= 105,480 53,659 51,821

201 ger2gy 37,457 24,257 13,200

= 22,474 14,554 7,920

S 4,031 2,737 1,294

i 10,952 6,966 3,986

01 AtS2teld] 18,706 12,051 6,655

OAIZHIOI201A =T &8 2H((14Y) 18,706 12,051 6,655

= 11,230 7,200 4,030

= 2,000 1,368 632

- 5,476 3,483 1,993

02 5524l 18,751 12,206 6,545

OAIZHIOI20HA AIEEH] SAIBI(14Y) 18,751 12,206 6,545

= 11,244 7,354 3,890

= 2,031 1,369 662

= 5,476 3,483 1,993

301 et2a=s 11,600 5,600 6,000

3 11,600 5,600 6,000

10 BATAHSAS 11,600 5,600 6,000

OAZHIOI20A ST E8 WSS (14E) 11,600 5,600 6,000

= 11,600 5,600 6,000

LHIHEE 22 8,000 8,000 0

= 4,000 4,000 0

S 654 1,200 Ab46

i 3,346 2,800 546

405 TS 8,000 8,000 0

= 4,000 4,000 0
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25 SE=X1
Nm: NENERS Y BS
el MBI ZaR (Sl &2
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH J| &M Hns2
== 654 1,200 A\b46
= 3,346 2,800 546
01 AL =EFHSHI 8,000 8,000 0
OLAIHZEH] ASAXI(1CH) 8,000 8,000 0
= 4,000 4,000 0
== 654 1,200 JANGY/'S)
= 3,346 2,800 546
AEAA 108,177 104,600 N1,423
= 57,612 59,034 N1,422
= 12,468 12,468 0
iy 33,097 33,098 A1
401 AlZHIL 20HY| 938,103 99,526 A1,423
= 53,665 55,087 N1,422
& 12,130 12,130 0
iy 32,308 32,309 A1
01 Al&H]| 97,697 96,915 782
OHo|2=8+&!(8ha) 28,296 24,080 4,216
= 20,051 16,496 3,555
= 2,473 2,275 198
= 5,772 5,309 463
OSTHAHALRZ(8ha) 12,521 15,955 N3,434
= 4,937 8,371 N3,434
= 2,275 2,275 0
o 5,309 5,309 0
02 Z2ld] 0 2,205 N2,205
OZXS K& H 22l (5ha) 0 2,205 N2,205
= 0 1,543 A1,543
= 0 198 A198
2 0 464 N4B4
Ng-=SRde22ry 1,190,664 440,000 750,664
= 220,000 220,000 0
iy 970,664 220,000 750,664
401 AMEHIZL 204 1,190,664 440,000 750,664
= 220,000 220,000 0
o 970,664 220,000 750,664
01 Al&H| 1,122,390 371,726 750,664
outggr22 =4 1,122,390 371,726 750,664
2 151,726 151,726 0
iy 970,664 220,000 750,664
MEEE XI2AFY 100,000 0 100,000
402 QIZEXFE0| ™ 100,000 0 100,000
01 QIZERIEE X 100,000 0 100,000
ONEEMZ(8S) 7Y 80,000 0 80,000
Ot TOTHBHAISEAIS 20,000 0 20,000
LMIAS ALY 22| 115,478 101,870 13,608
= 61,464 50,880 10,584
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M SF3=X
B METEES U 25
Tl MRIASAIY 22 (S92
S - B S9(3IH) - ARAY - BES 0 bt plEE" HlRE2
= 2,920 2,920 0
i 51,094 48,070 3,024
AE RS A B 100,908 87,300 13,608
= 54,884 44,300 10,584
= 2,920 2,920 0
i 43,104 40,080 3,024
402 212EXH201 M 100,908 87,300 13,608
= 54,884 44,300 10,584
= 2,920 2,920 0
i 43,104 40,080 3,024
01 QI EEX 100,908 87,300 13,608
O=a7 S ELHE 13,608 0 13,608
= 10,584 0 10,584
i 3,024 0 3,024
AR CHZH 589,629 613,852 A24,223
= 185,859 188,771 A2,912
& 96,010 103,321 AT7,311
7 i 307,760 321,760 214,000
AMEELX BRAY 521,214 545,437 N24,223
= 181,322 184,234 A2,912
L= 96,010 103,321 AT7,31
i 243,882 257,882 214,000
101 @I244| 345,740 349,963 A4,223
= 118,136 121,048 A2,912
& 63,241 64,552 A1,311
i 164,363 164,363 0
04 D122 SES 345,740 349,963 N4,223
OdtErsoIdNs S JIEXIR(73]) 0 4,223 N4,223
= 0 2,912 22,912
L= 0 1,311 A1,31
201 LEt2EH| 68,621 88,621 220,000
= 26,868 26,868 0
& 12,526 18,526 6,000
= 29,227 43,227 214,000
01 At22teld| 57,651 77,651 20,000
Oglgt==2d| 26,271 46,271 220,000
—STEHI(SHAUSHIS,800H) 0 20,000 220,000
L= 0 6,000 26,000
i 0 14,000 A 14,000
AT AL 2el 994,646 974,643 20,003
= 16,794 16,794 0
= 609,781 609,779 2
= 5,682 5,682 0
i 362,389 342,388 20,001
AT Ald 2t 779,687 779,684 3
= 545,781 545,779 2
i 233,906 233,905 1
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rlo

1 o0 oY

=24

o rx

X {0 >~
&
0x
He
HL
foi

]
o

0

$
P
rio

S - FE - CRI(EIH) - HRARY - BiY broy plEE" 2
401 AlEHIZ 048I 764,087 764,084 3
= 534,861 534,859 2
= 229,226 229,225 1
01 Al&HI 744,423 744,420 3
OYEFREINZH(2.0km) 129,266 129,263 3
= 90,485 90,483 2
i 38,781 38,780 1
SHZ2 YA 40,000 20,000 20,000
401 AlEHIZ 048I 40,000 20,000 20,000
01 Al&HI 40,000 20,000 20,000
OZL SU2FH FZRAT 20,000 0 20,000
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N = 0l & AHSE B Al M

HE =7 15 LuisiH M
SEER-Eeent
MY AAH|(HBI S
AH=3| (SR
SA - FB . S2(3H) - MRAY - BES ofl by pJE=Ll S{ImE=FT
eI 42,498,063 34,112,657 8,385,406
= 16,580,304 14,478,175 2,102,129
= 550,000 550,000 0
J| 3,433,913 3,189,833 244,080
2 270,560 250,680 19,880
< 3,837,921 2,076,271 1,761,650
2 17,825,365 13,567,698 4,257,667
SUAY|(ZBAST D) 208,669 197,540 11,129
Ao 121,189 105,697 15,492
o124H| 121,189 105,697 15,492
101 Q1214 117,199 101,497 15,702
01 2= 97,137 82,142 14,9%
OARZIQ2R4S Hou=(239) 24,653 23,657 99
—52 11,3642+ 124+ 10AI 2+ 122 1,364 1,321 43
—62 9,69121+72*10AI2H 128 8,141 6,756 1,385
72 8, 7542 %112 *10AI 2+ 122 11,556 11,189 367
—82 7,85021%22 % 10| 2H 128 1,887 2,740 1853
—92 7, 1042522 *10AI12H+ 128 1,705 1,651 54
Ox22eY 8,75421%2324+30A| 21+ 122 72,484 58,485 13,999
02 JIEtR B4 20,062 19,3855 707
OB A} 20,062 19,355 707
—EU2P4L 5,807 21%22x30A| 2 128 4,246 3,539 707
203 AL EEI| 3,990 4,200 ~210
04 EA2ZAREAY| 3,990 4,200 210
Oollarz 2 £210 0 £210
|=2| 87,480 91,843 14,363
=2 87,480 91,843 4,363
201 L2y 45,557 47,713 72,156
01 AlR2telt 40,971 43127 2,156
OtllarE 2 2,156 0 A2,156
202 01t 41,448 43,630 N2, 182
01 =L0ib] 41,448 43,630 A2, 182
OllaE 2 A2,182 0 2,182
405 RHAHE =t 475 500 25
01 IS ZF S| 475 500 N5
OollarE 2 A25 0 N5
Z=o| stolA Brat 41,429,394 33,055, 117 8,374,277
= 16,580,304 14,478,175 2,102,129
Il 3,433,913 3,189,833 244,080
2 270,560 250,680 19,880
= 3,777,921 2,016,271 1,761,650

|
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|




S A

Mm: mei=Eol AolT Bl

SH9l: SolsEO| MAD|BH AL K| (=L

SA - F . CR(BH) - HRAY - BES ofl by J15Y C[ImE==T]
o 17,366,696 13,120,158 4,246,538
SHSE2| MAD|BH AlA KA 534,117 551,323 217,206
= 100,000 114,400 214,400
| 27,045 27,045 0
= 0 3,456 £3,456
i 407,072 406,422 650
sHE MEDIZ KE 364,214 355,500 8,714
308 AHXIHHISO0I& 231,714 223,000 8,714
05 XXIEHHZI R == 231,714 223,000 8,714
O=dSEN3 OIXEd €3 231,714 58,000 173,714
O=dsSENa A82H)I3 B3 0 165,000 A165,000
=EME0E 28 ¥ 29 142,858 168,778 725,920
3 100,000 114,400 A14,400
= 0 3,456 A3,456
2 42,858 50,922 ~8,064
307 SI2+0I& 0 25,920 A25,920
= 0 14,400 214,400
= 0 3,456 23,456
i 0 8,064 A8,064
02 OITBAEE 0 25,920 £25,920
OSOIENEE2L0IS AR 0 25,920 725,920
= 0 14,400 214,400
= 0 3,456 A3,456
= 0 8,064 8,064
S0l A o|H gt 2,572,792 2,483,804 88,988
= 1,349,271 1,309,671 39,600
= 270,560 250,680 19,880
= 306,939 313,273 13,666
i 626,022 610,180 15,842
sty Xz X (%) 446,500 411,000 35,500
= 250,040 230,160 19,880
= 98,230 90,420 7,810
= 98,230 90,420 7,810
301 LEIBAS 446,500 411,000 35,500
= 250,040 230,160 19,880
= 98,230 90,420 7,810
i 98,230 90,420 7,810
02 Z&3dskz 446,500 411,000 35,500
Oseiol T B3 I (4708) 446,500 411,000 35,500
= 250,040 230,160 19,880
= 98,230 90,420 7,810
= 98,230 90,420 7,810
sHZFALE XA 72,000 60,000 12,000
= 43,200 36,000 7,200
= 14,400 12,000 2,400
2 14,400 2,000 2,400
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A TEESFT
M SH=E2 HQA gt
CRl. =l &0lE gkt (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
307 212H01A 72,000 60,000 12,000
= 43,200 36,000 7,200
== 14,400 12,000 2,400
= 14,400 12,000 2,400
02 DIZtBASE X 72,000 60,000 12,000
Osggddz&d X 72,000 60,000 12,000
= 43,200 36,000 7,200
< 14,400 12,000 2,400
= 14,400 12,000 2,400
SR =Hol ol 32,300 34,000 A1,700
202 o4 1,900 2,000 A100
04 =HIstoid| 1,900 2,000 A100
OularE A100 0 A100
301 LEtEAZ 30,400 32,000 A1,600
07 212+21=2|0{H| 30,400 32,000 A1,600
OularaE 2 1,600 0 A 1,600
=l ImESINE 13,908 14,640 AT32
201 LBH23Y| 2,850 3,000 A150
01 Ar22t2ldl 2,850 3,000 A150
Ol atE 2 A150 0 A150
202 o4t 6,099 6,420 A321
01 2LH04H| 6,099 6,420 A321
OularE 2 A321 0 A321
301 LEEAZ 4,959 5,220 A261
10 AIAH|EAIS 4,959 5,220 A261
OularE 2t A261 0 A261
SHESH XI2AAS 18,000 0 18,000
= 18,000 0 18,000
307 212H01A 18,000 0 18,000
= 18,000 0 18,000
04 DIZFHALE 18,000 0 18,000
OYZEE2|25=H 18,000 0 18,000
= 18,000 0 18,000
SENE S A0S MRE UWSXH 25,920 0 25,920
= 14,400 0 14,400
== 3,456 0 3,456
= 8,064 0 8,064
307 212H01 A 25,920 0 25,920
= 14,400 0 14,400
< 3,456 0 3,456
= 8,064 0 8,064
02 DIZHAAIS X 25,920 0 25,920
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SN BT
M Sois=ol MOT SHa

Shol: Seiol atolF Bt (erl: &g
SA - FH - S2(33) - MPAY - BAS ofl by J15Y F{ImE=ST

O=sZEMg F20ts MREHEXA 25,920 0 25,920

= 14,400 0 14,400

== 3,456 0 3,456

i 8,064 0 8,064

AU =20l Sa2 Mt 10,689,713 8,920, 146 1,769,567

= 10,032,921 8,443,666 1,589,255

= 191,964 116,082 75,882

2 464,828 360,308 104,430

UEE NSFE A MAC 18,000 18,000 0

= 10,000 10,000 0

& 0 2,400 A2,400

i 8,000 5,600 2,400

402 QIZFRF=0IH 18,000 18,000 0

= 10,000 10,000 0

= 0 2,400 A2,400

2 8,000 5,600 2,400

01 Bl EEX 18,000 18,000 0

OnZZH zHALH SEXIJA(1HA) 18,000 18,000 0

= 10,000 10,000 0

& 0 2,400 A2,400

2 8,000 5,600 2,400

HASS BHAZH 9,557,920 8,037,400 1,520,520

= 9,557,920 8,037,400 1,520,520

301 Let2ag 9,557,920 8,037,400 1,520,520

= 9,557,920 8,037,400 1,520,520

12 JIEtEA3 9,557,920 8,037,400 1,520,520

OBASS BE(DH)AENM XA 9,557,920 8,037,400 1,520,520

= 9,557,920 8,037,400 1,520,520

# A2 A2 20,817 32,082 21,265

2 20,817 30,082 21,265

201 B2 4,767 0 4,767

= 4,767 0 4,767

01 AtS2teld 4,767 0 4,767

ORASS BENEN A2 4,767 0 4,767

= 4,767 0 4,767

202 018 13,050 19,082 28,082

= 13,050 19,082 26,032

01 =LHOHI 13,050 19,082 26,032

HASSBHYUEM MG 13,050 19,082 26,032

= 13,050 19,082 26,032

SANMAIZEH 22 46,800 51,000 A4,200

= 7,020 7,650 2630

= 39,780 43,350 23,570

206 THZH| 46,800 51,000 24,200

= 7,020 7,650 2630
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S A
K| ZH -
(=

&l

0
il
0
r
1o
1
0

[
$
P
rio

S - T B2I(3) - HIRAIY - BAS 0 et plE<El HlRE2
= 39, 780 43,350 73,570
01 MEb] 46,800 51,000 14,200
Os%tFALS T B2(1,275%) 46,800 51,000 4,200
< 7,020 7,650 1630
= 39,780 43,350 13,570
= ASDIBF CHYSH ALY 420,000 350,000 70,000
= 420,000 350,000 70,000
301 Yereaz 420,000 350,000 70,000
= 420,000 350,000 70,000
EPIEErG= 420,000 350,000 70,000
Ot £SDI8t CHASHA (140ha) 420,000 350,000 70,000
= 420,000 350,000 70,000
AZRS JYHRD ALY 398,000 340,000 58,000
= 119,400 102,000 17,400
= 278,600 233,000 40,600
402 QI2EXH=0|H 398,000 340,000 58,000
3 119,400 102,000 17,400
= 278,600 238,000 40,600
01 DIIXIESE 398,000 340,000 58,000
OHIIES SBE X (2H4) 0 150,000 150,000
= 0 45,000 145,000
= 0 105,000 105,000
ORIl XIR(10H) 0 100,000 100,000
= 0 30,000 30,000
= 0 70,000 A70,000
ORESI 012] XI(10H) 0 30,000 30,000
= 0 9,000 19,000
= 0 21,000 £21,000
OZHZET S MASK N (1H2) 0 60,000 160,000
= 0 18,000 118,000
= 0 42,000 142,000
OAZXE ZWND(3S) 398,000 0 398,000
= 119,400 0 119,400
= 278,600 0 278,600
THOHTIBH= Tt 61,512 0 61,512
= 61,512 0 61,512
302 01 =L HGH2 &2 61,512 0 61,512
< 61,512 0 61,512
02 RN 2 &2 61,512 0 61,512
OBHZ MaHHR SHEXZ OIKHKI 61,512 0 61,512
3 61,512 0 61,512
S 2H U3 65,000 0 65,000
402 BIZHXH=0|H 65,000 0 65,000
01 DIIXIESE 65,000 0 65,000
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S A

X ZH -
o= -

)
o

S9l: ABIXE 80| SAS MY (S5l &8l)

S - B S9(30) - HRAY - BES ol&tey pE-L HImz2
OHZ=A S2AE KA

130,000, 00024%17HA%50% 65,000 0 65,000

TEY SHS SO M 9,581,682 6,782,177 2,799,505

= 2,744,440 2,545,991 198,449

< 1,029,258 744,345 294,913

2 5,797,984 3,491,841 2,306,143

SR B3 809,500 809,500 0

= 566,650 566,651 A

= 72,855 80,950 18,09

= 169,995 161,899 8,09

402 QI2FXH20|H 809,500 809,500 0

= 566,650 566,651 A

= 72,855 80,950 8,095

= 169,995 161,899 8,0%

01 PRINESE 809,500 809,500 0

OENYH B2(6,100E) 809,500 809,500 0

= 566,650 566,651 A

= 72,855 80,950 8,09

= 169,995 161,899 8,09

By = N2 927,080 735,880 191,200

= 927,080 735,880 191,200

301 ABBAS 927,080 735,880 191,200

= 927,080 735,880 191,200

12 JIErRAS 927,080 735,880 191,200

OF&Y = NFXSH (2, 107ha) 927,080 735,880 191,200

= 927,080 735,880 191,200

HEHEX )1 X 326,000 337,625 A11,625

= 81,000 92,625 A11,625

2 245,000 245,000 0

402 QIXH=0IF 326,000 337,625 A11,625

= 81,000 %?,625 A11,625

2 245,000 245,000 0

01 PIAIKESE 326,000 337,625 AT1,625

OREE =IIH X 326,000 337,625 A11,625

= 81,000 92,625 A11,625

= 245,000 245,000 0

HEH SN2 ASKY 616,000 374,000 242,000

= 185,200 94,700 90,500

z 430,800 279,300 151,500

301 BB AS 592,000 350,000 242,000

= 178,000 87,500 90,500

= 414,000 262,500 151,500

12 JErEaE 592,000 350,000 242,000

OFEY M2 BV (94H) 592,000 350,000 242,000

= 178,000 87,500 90,500

= 414,000 262,500 151,500
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2A: 2
| —

M SH=E2 HQA gt
R RNEZE SHE S0 Ma (ctel-=g)
- SR(SH) - HR2AE - BES eH J|EH Hnsz2
3,756,432 1,585,500 2,170,932
= 660,953 453,250 207,703
= 3,095,479 1,132,250 1,963,229
2,877,000 1,417,500 1,459,500
= 575,000 425,250 149,750
= 2,302,000 992,250 1,309,750
2,877,000 , 417,500 1,459,500
2,877,000 ,417,500 1,459,500
= 575,000 425,250 149,750
= 2,302,000 992,250 1,309,750
879,432 168,000 711,432
= 85,953 28,000 57,953
= 793,479 140,000 653,479
879,432 168,000 711,432
Y0l = X2 318,432 168,000 150,432
& 29,853 28,000 1,853
= 288,579 140,000 148,579
0l 8= XI& 561,000 0 561,000
T 56,100 0 56,100
= 504,900 0 504,900
&l 804,145 670,040 134,105
1,900 2,000 A100
1,900 2,000 A100
A100 0 A100
1,368 1,440 NT2
1,368 1,440 NT2
NT2 0 NT2
9,500 10,000 A500
9,500 10,000 A500
A500 0 A500
548,420 548,600 A180
3,420 3,600 A180
A180 0 A180
242,957 108,000 134,957
242,957 108,000 134,957
SEMEl X
54,000 *2,812ha*23] *80% 242,957 108,000 134,957
370,525 352,400 18,125
= 148,210 140,960 7,250
= 222,315 211,440 10,875
370,525 352,400 18,125
= 148,210 140,960 7,250
= 222,315 211,440 10,875
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S A

HE: Sol=&o| 4olF SA

ool FEd Sa2 O M (=L
SA - F . CR(BH) - HRAY - BES ofl by pJE=Ll C[ImE==T]

01 RIZI=E =X 370,525 352,400 18,125

O=HI&=2 SXHXIA 370,525 352,400 18,125

= 148,210 140,960 7,250

= 222,315 211,440 10,875

ABBSUE BESALA N 33,000 6,232 26,768

= 9,900 1,870 8,030

= 23,100 4,362 18,738

301 LB AS 33,000 6,232 26,768

< 9,900 1,870 8,030

= 23,100 4,362 18,738

12 JIEtEA 3 33,000 6,232 26,768

Oz eHdsita HF=A2ZA XA (1322) 33,000 6,232 26,768

< 9,900 1,870 8,030

2 23,100 4,362 18,738

AENNE S isS2H XI 94,500 66,500 28,000

= 28,350 19,950 8,400

i 66,150 46,550 19,600

402 2I2EXHE01 M 94,500 66,500 28,000

= 28,350 19,950 8,400

= 66,150 46,550 19,600

01 BIZtXE2E X 94,500 66,500 28,000

OMHDIE D= HELH X2 94,500 66,500 28,000

= 28,350 19,950 8,400

i 66,150 46,550 19,600

=20 ¥ SFH2HA A4 2,615,759 1,759,176 856,583

= 608,065 370,000 238,065

Il 80,000 25,000 55,000

& 294,256 195,052 99,204

= 1,633,438 1,169,124 464,314

NS0 HURIE AL 2 1,040,000 780,000 260,000

= 416,000 312,000 104,000

= 62,400 46,800 15,600

i 561,600 421,200 140,400

402 2I2EXHE01 A 1,040,000 780,000 260,000

= 416,000 312,000 104,000

& 62,400 46,800 15,600

2 561,600 421,200 140,400

01 QT EEE 1,040,000 780,000 260,000

OAIE210 SEHA(LEHAMAIA) 422,500 280,000 142,500

= 169,000 112,000 57,000

& 25,350 16,800 8,550

= 228,150 151,200 76,950

OAISR10] SEINH (0T SER) 337,500 0 337,500

= 135,000 0 135,000

= 20,250 0 20,250

i 182,250 0 182,250

OAIERI0] SR (DEHIIIRITBIAILTI) 280,000 500,000 £220,000
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2A: 2
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EH: =
o= -

Sofl ol e EERE)
S -2 S2(EH) - MSEAIY - B A O Ak PSRl HusSZ

= 112,000 200,000 88,000

[ 16,800 30,000 A13,200

2 151,200 270,000 118,800

AUSE ASKS AN S 352,570 352,750 A180

202 04t 1,140 1,200 A0

NIENCE 1,140 1,200 A60

ONlAHE 2 260 0 B0

301 LBHE AR 2,280 2,400 A120

10 BAIAHIEAS 2,280 2,400 A120

OO0l AFR 2 A120 0 A120

FTAD |2 MAFAIA S CHSHALY 200,000 62,500 137,500

Il 80,000 25,000 55,000

[ 36,000 11,250 24,750

2 84,000 26,250 57,750

402 QIZHXH=0| A 200,000 62,500 137,500

J| 80,000 25,000 55,000

[ 36,000 11,250 24,750

= 84,000 26,250 57,750

01 QIZII=E X 200,000 62,500 137,500

ODLDERAIL BHEIALY 200,000 62,500 137,500

J| 80,000 25,000 55,000

[ 36,000 11,250 24,750

= 84,000 26,250 57,750

ATETHARRSHEAIY 0 74,900 AT4,900

c 0 22,460 A22,460

2 0 52,440 AB2, 440

402 QIZHXH=0I A 0 74,900 AT4,900

[ 0 22,460 A22, 460

= 0 52,440 AB2, 440

01 QIZIIEE X 0 74,900 AT74,900

O4TEOES R2SEEIAIY 0 74,900 AT4,900

[ 0 22 460 A22, 460

2 0 52,440 AB2, 440

2SI AU RIS MAT| ALY 39,200 130,000 290,800

= 15,680 0 15,680

= 7,056 39,000 31,944

2 16,464 91,000 AT4,536

402 DIZEXH=0| 39,200 130,000 A90,800

=) 15,680 0 15,680

< 7,056 39,000 31,944

2 16, 464 91,000 AT4,536

01 DIZIF=E X 39,200 130,000 290,800

OASUHIES MACH XA 0 130,000 130,000

[ 0 39,000 39,000

= 0 91,000 91,000
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S A

X ZH -
o= -

&l 20l & HEFA (el &)

S - T - SRI(SH) - HRA - BES 0 apot pE-L AimE=T
OQI&UMSHAIE 25

40,000, 000& *1.96ha*50% 39,200 0 39,200

= 15,680 0 15,680

== 7,056 0 7,056

= 16,464 0 16,464

ANEJN AT A 464,000 130,000 334,000

= 136,000 39,000 97,000

= 328,000 91,000 237,000

402 RIZ2EXHE0(1 M 464,000 130,000 334,000

S 136,000 39,000 97,000

i 328,000 91,000 237,000

01 I HEEX 464,000 130,000 334,000

OXYESIES =M SE(10HL) 64,000 0 64,000

L= 16,000 0 16,000

= 48,000 0 48,000

O&N&=Z ==l HcR= 400,000 130,000 270,000

= 120,000 39,000 81,000

i 280,000 91,000 189,000

A& HHXIOISEE3A 440,963 145,000 295,963

= 176,385 58,000 118,385

& 26,458 8,700 17,758

= 238,120 78,300 159,820

402 212tXH201H 440,963 145,000 295,963

= 176,385 58,000 118,385

= 26,458 8,700 17,758

i 238,120 78,300 159,820

01 QI EEX 440,963 145,000 295,963

OUILXIZB2AIZ (CIEE23E) 440,963 145,000 295,963

= 176,385 58,000 118,385

= 26,458 8,700 17,758

i 238,120 78,300 159,820

=3 RolEe HAAL X 0 5,000 25,000

& 0 1,500 A1,500

i 0 3,500 23,500

402 2I2EXHE01 M 0 5,000 A5,000

& 0 1,500 21,500

= 0 3,500 23,500

01 QI EEX 0 5,000 25,000

Os&7dits Z2EGBEX XN 0 5,000 25,000

= 0 1,500 21,500

= 0 3,500 23,500

SHE MXIKSHH 2= 2,915,802 1,021,326 1,894,476

= 882,428 836,530 45,898

== 1,370,206 101,270 1,268,936

= 663, 168 83,526 579,642

OI2SEHMeE AXFAIL 690,000 909,000 219,000

= 575,000 827,000 A252,000

- 220 -




SN HBREE
Hu: SolsEo| AO|E
ool Sa2 ARSI 1S (249l HR)
S - BB G(BH) - HRAY - BES Ofl At pJE=L HRE2
= 34,500 82,000 A47,500
= 80,500 0 80,500
402 QIZERHE0| A 690,000 909,000 219,000
= 575,000 827,000 A252,000
= 34,500 82,000 A47,500
= 80,500 0 80,500
01 BIZt=2E X 690,000 909,000 A219,000
ORPC AZMEAIL XA 690,000 909,000 A219,000
= 575,000 827,000 A252,000
= 34,500 82,000 247,500
= 80,500 0 80,500
SasNE MXSELSH M) 53,438 53,540 A2
202 Ot 1,988 2,040 A102
ETE] 1,98 2,040 A02
ONlatEZ A102 0 A102
B THoHsO 3Q S HEEY| 1,216,752 0 1,216,752
= 1,216,752 0 1,216,752
301 LEIBAS 1,216,752 0 1,216,752
= 1,216,752 0 1,216,752
12 JIEtE2 43 1,216,752 0 1,216,752
OBt THUHSIH ZLOHEIHEY| X/ (6, 181ha) 1,216,752 0 1,216,752
= 1,216,752 0 1,216,752
RESIAMNSHEXIA 100,000 0 100,000
402 2I2EXHE01 M 100,000 0 100,000
01 BIZt=E X 100,000 0 100,000
OSSN H2ED LI
200,000, 000 *50% 100,000 0 100,000
SaSM2 MKSE 25T 10,612 13,786 £3,174
= 7,428 9,530 £2,102
= 954 1,270 A316
i 2,230 2,986 ATH6
301 LB LS 10,612 13,786 N3,174
= 7,428 9,530 A2,102
= 954 1,270 A316
i 2,230 2,986 AT756
12 JIErR Al 10,612 3,786 A3, 174
OGAPRIZ =D} OHRA 2IA] XIR
38,449%1+276% 10,612 13,786 A3,174
= 7,428 9,530 A2,102
= 954 1,270 A316
o 2,230 2,986 AT756
L2 BHESHAMS 800,000 0 800,000
= 300,000 0 300,000
= 100,000 0 100,000
2 400,000 0 400,000
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A TEESFT
M SH=E2 HQA gt
EHR: SAMES MIKSEMHH 2= (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
402 QIZEXH20| ™ 800,000 0 800,000
= 300,000 0 300,000
= 100,000 0 100,000
= 400,000 0 400,000
01 BIZEXE2EX 800,000 0 800,000
OgX=E BEsy 800,000 0 800,000
= 300,000 0 300,000
= 100,000 0 100,000
o 400,000 0 400,000
= B X2t 1,230,300 1,088,295 142,005
= 22,592 22,592 0
= 284,041 281,041 3,000
= 923,667 784,662 139,005
HellE A THHE 151,725 72,000 79,725
203 YR =&IH| 9,025 9,500 NATH
03 AI=RIHRF=EIH| 9,025 9,500 NATH
OularE 2 NAT5 0 N475
402 QIZEXH20| ™ 142,700 62,500 80,200
01 QIZEAIEE X 142,700 62,500 80,200
OKRSAH| XA K&
25,000,000 *10CH*50% 125,000 62,500 62,500
QLNEEN MAAM MSXIHX XIS
35,400,000 * 1 CH*50% 17,700 0 17,700
SEAAMNEME N 7,500 0 7,500
206 =8| 7,500 0 7,500
01 =4l 7,500 0 7,500
OZEAAME MEME 2,500&x3,0007H 7,500 0 7,500
U2 22| X (KHAI) 60,200 10,000 50,200
402 QIZ2ERF20|1X™ 60,200 10,000 50,200
01 QIZEAIEE X 60,200 10,000 50,200
O=3Hls E¥g Z&M XIH 60,200 10,000 50,200
SMNERSLS 41,480 36,900 4,580
202 o4t 3,680 3,900 A220
01 2LHOIHI 3,680 3,900 A220
OollatE 2 2220 0 2220
301 LEtE A= 2,800 3,000 A200
10 SHAFAIHIEAIZ 2,800 3,000 A200
Ol atEZ A200 0 A200
307 2IZt01A 35,000 30,000 5,000
02 DIZHEA SR 35,000 30,000 5,000
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AN EEH
KM ol
(= =)

O%“ S
ool EE EHEN X2

S 2t (cHel:&J)
S - BB () - HRAY - BaES 0] apot plEE SImE==
O=Ed AHIXESE sEXME AL
2,500, 000& 23] 5,000 0 5,000
NEZMEHCSHAILG(ERX) 40,000 40,000 0
= 20,000 20,000 0
= 6,000 3,000 3,000
= 14,000 17,000 23,000
307 SI2H01 & 40,000 40,000 0
= 20,000 20,000 0
= 6,000 3,000 3,000
= 14,000 17,000 23,000
02 RIRHBAEE 40,000 40,000 0
OLNSEH SaHE ZIH s 88 40,000 40,000 0
= 20,000 20,000 0
= 6,000 3,000 3,000
= 14,000 17,000 A3,000
S FHA 25t 11,194,329 10,376,870 817,459
= 840,587 835,325 5,262
I 3,326,868 3,137,788 189,080
= 271,257 261,752 9,505
i 6,755,617 6, 142,005 613,612
NEEHdel Ald 416,072 401,447 14,625
= 173,402 173,402 0
= 242,670 228,045 14,625
402 QIZHRHE0| A 416,072 401,447 14,625
= 173,402 173,402 0
= 242,670 228,045 14,625
01 QIZI=2E X 416,072 401,447 14,625
OJEEsHel Al 416,072 401,447 14,625
= 173,402 173,402 0
i 242,670 228,045 14,625
SOHAI A AHOHE 24,900 27,300 A2,400
= 7,470 8,190 AT720
i 17,430 19,110 A1,680
402 RIZ2EXHE01 M 24,900 27,300 A2,400
= 7,470 8,190 ANT20
= 17,430 19,110 1,680
01 BIZtXE2E X 24,900 27,300 A2,400
OS0K MAOHE X2 A
20,0003 *2,4905+50% 24,900 27,300 A2,400
= 7,470 8,190 AT20
= 17,430 19,110 21,680
SIRSEAS 6,300 11,550 Ab,250
= 2,520 4,620 A2,100
o 3,780 6,930 23,150
402 2I2EXH201M 6,300 11,550 25,250
= 2,520 4,620 22,100
i 3,780 6,930 23,150
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SN FEE
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S

HE: SolsEo| AolE B

chol: Zah M Usl (=L

S - BB G(BH) - HRAY - BES Ofl At pJE<E! HRE2
01 RIZI=E =X 6,300 11,550 Ab5,250
OstLSEAY 7,000 *9005 6,300 11,550 25,250
& 2,520 4,620 22,100
i 3,780 6,930 23,150
PIE=CTES 769,420 767,838 1,562
= 483,475 451,893 1,582
= 89,149 89,149 0
i 226,796 226,796 0
206 M=z 8| 297,620 296,038 1,582
= 179,175 177,593 1,582
& 35,208 35,208 0
= 83,237 83,237 0
01 T=6] 297,620 296,038 1,562
OJIsdEY M2 & E(3,6008F) 297,620 296,038 1,582
= 179,175 177,593 1,582
& 35,208 35,208 0
= 83,237 83,237 0
e 0|8 HEAHKXR 22,800 21,600 1,200
= 7,600 7,200 400
= 15,200 14,400 800
402 RIZTH=0|H 22,800 21,600 1,200
= 7,600 7,200 400
= 15,200 14,400 800
01 BIZI=E X 22,800 21,600 1,200

OB HHOIZ HEPHK

120,000 *190= 22,800 21,600 1,200
= 7,600 7,200 400
= 15,200 14,400 800
EEEN 141,285 126,977 14,258
| 84,741 76,186 8,555
= 18,159 14,653 3,506
i 38,335 36,138 2,197
307 QI2t0| & 141,235 126,977 14,258
| 84,741 76,186 8,555
= 18,159 14,653 3,506
= 38,335 36,138 2,197
02 RItEaE L 141,235 126,977 14,258
OstnesaAN 141,285 126,977 14,258
| 84,741 76,186 8,555
= 18,159 14,653 3,506
i 38,335 36,138 2,197
JIEENEY ol 351,857 352,422 A565
201 LBt2Z| 17,187 17,722 A535
01 At22teld| 10,165 10,700 AB35
Ool4rE2t A535 0 A535
202 o4l 570 600 A30
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A S
Sels&o| 4olF g4
=4 3YE 23

SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
01 =LHOHI 570 600 A30
OollarE 2 A30 0 A30
S4E M Y RE 2435t 17,090 17,200 A110
301 LetEAa 2,090 2,200 A110
10 #AIAHIZ &S 2,090 2,200 A110
ONlatEZ A110 0 A110
HECIAIE Mk 2 0l 37,280 37,400 A120
301 LB AZ 2,280 2,400 A120
10 HARHIEAS 2,280 2,400 A120
OoflarE 2 2120 0 A120
SAEMH U5t 562,270 431,730 130,540
201 LBh2 | 600 0 600
01 At22teld| 600 0 600

O LB ItH QHLY 2l &3 X

600 *1,0000H4 600 0 600
202 Ot 1,140 1,200 AB0
01 =LHOAHI 1,140 1,200 AB0
OoflarE 2 260 0 260
402 QIZHRHE0| M 523,000 393,000 130,000
01 BIZtX=2E X 523,000 393,000 130,000
Ot 239 X 10,000&*20,0005 200,000 100,000 100,000
O&H 2Lz X 100,000, 0003 *30% 30,000 0 30,000
HRIASEEE K& 12,000 18,000 26,000
2l 6,000 9,000 23,000
i 6,000 9,000 3,000
402 QI2EXH201H 12,000 18,000 26,000
| 6,000 9,000 A3,000
o 6,000 9,000 3,000
01 BIZI=2E =X 12,000 18,000 6,000
O"HNA2H e N 10,000,000 x2S *60% 12,000 18,000 26,000
| 6,000 9,000 A3,000
= 6,000 9,000 23,000
HACCP XIEXI& 33,600 0 33,600
| 19,200 0 19,200
= 4,320 0 4,320
= 10,080 0 10,080
402 CIZEXH201 X 33,600 0 33,600
| 19,200 0 19,200
= 4,320 0 4,320
= 10,080 0 10,080
01 BIZt=2E X 33,600 0 33,600
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SN HBHEED
HE: Sol=&o| 40lH S
ol &4 AR Us (erl: &g
SA - FB . S2(3H) - MRAY - BES ofl by pJE=Ll C[ImE==T]
COHACCP XI&=XI& 8,000,000&*6H+70% 33,600 0 33,600
J| 19,200 0 19,200
= 4,320 0 4,320
= 10,080 0 10,080
SAAIE SUEHALY 303,675 495,500 A191,825
| 303,675 148,650 155,025
i 0 346,850 A346,850
402 RI2EXHE0(1H 303,675 495,500 A191,825
Il 303,675 148,650 155,025
i 0 346,850 A346,850
01 BIMAEEX 303,675 495,500 A191,825
OFAAE SUHALY 303,675 495,500 A 191,825
] 303,675 148,650 155,025
2 0 346,850 346,850
O AESY 797,789 0 797,789
401 AIEHIZL 20| 797,789 0 797,789
01 Al&HI 789,233 0 789,233
OZ2sitE A 789,233 0 789,233
02 Zeltl 3,797 0 3,797
OZ&s0HE A 3,797 0 3,797
03 Al =] 4,759 0 4,759
OZZS0HE ZEAY 4,759 0 4,759
LSHE =4 30,000 22,000 8,000
& 12,100 8,800 3,300
i 17,900 13,200 4,700
402 2I2EXHE01 A 30,000 22,000 8,000
& 12,100 8,800 3,300
i 17,900 13,200 4,700
01 QI EEE 30,000 22,000 8,000
OYsaAILH 30,000 22,000 8,000
= 12,100 8,800 3,300
= 17,900 13,200 4,700
SARMD|OHE RITHALY 8,715 10,800 22,085
= 0 3,240 A3,240
= 3,735 4,320 A58
2 4,980 3,240 1,740
402 QI2HRH=0IH 8,715 10,800 £2,085
= 0 3,240 23,240
= 3,735 4,320 2585
o 4,980 3,240 1,740
01 B AEEX 8,715 10,800 A2,085
OFAHMD| CHE R CHALA 105,0002+83% 8,715 10,800 22,085
= 0 3,240 A3,240
= 3,735 4,320 A585
= 4,980 3,240 1,740
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2A: EEsE
S SH=ES A &t
SRl =48 M A5 (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
e RECIAMAFX Salg XI& 23,760 9,920 13,840
= 11,880 4,960 6,920
= 2,376 992 1,384
= 9,504 3,968 5,536
307 2I2t01 & 23,760 9,920 13,840
= 11,880 4,960 6,920
& 2,376 992 1,384
o 9,504 3,968 5,536
02 DI2tE A X 23,760 9,920 13,840
OXe REAAMER| Salz XA
,900& %400 0 1290 & x50% 23,760 9,920 13,840
= 11,880 4,960 6,920
& 2,376 992 1,384
= 9,504 3,968 5,536
st S0F XE 1,350 0 1,350
J| 1,350 0 1,350
301 LEtB A= 1,350 0 1,350
J| 1,350 0 1,350
12 J|EtE2 A= 1,350 0 1,350
O'124 &M SOHMERIA 300,000 & *9ZH x50% 1,350 0 1,350
J| 1,350 0 1,350
OtAtS] S0 JIE 9,030 0 9,030
J| 7,950 0 7,950
= 1,080 0 1,080
301 LBtBAZ 9,030 0 9,030
J| 7,950 0 7,950
= 1,080 0 1,080
12 JIEt2 A= 9,030 0 9,030
O'138 &M SOHMEXA 9,030 0 9,030
J| 7,950 0 7,950
i 1,080 0 1,080
AMEIISNMEES 94,900 72,000 22,900
A MAFH LS 94,900 72,000 22,900
201 LBt2AY| 32,600 34,000 21,400
03 HAF2 | 26,600 28,000 A1,400
Ol atE 2 A1,400 0 A1,400
202 (4d] 1,140 1,200 260
01 =] 1,140 1,200 260
Ol aEZ AB0 0 AB0
207 AN 25,000 0 25,000
01 HA2E4H| 25,000 0 25,000
OZEo) gAY HAPES 25,000 0 25,000
301 Lt A 6,160 6,800 A640
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N = 0l & AHSE B Al M

20138 = =& 1 3] LS| &l

SN YLD
LR EEEE NG
Sl o2 (Sl &21)
SA - B O9(3) - HRAY - BAS Ofl oK o= GImE==h
off =4t 20,226,429 15,618,098 4,608,331
=2 2,240,873 3,849,453 1,608,580
= 5,154,000 5,054,000 100,000
Jl 48,000 0 48,000
== 644,334 512,884 131,450
s 12,139,222 6,201,761 5,937,461
P 2YAHI(HYA D) 188,065 166,533 21,532
QA2 92,550 72,124 20,426
kals] 92,550 72,124 20,426
101 21244 88,350 67,924 20,426
01 2= 84,868 64,877 19,991
NS 2(20%) 21,839 19,106 2,733
—5= 11,3643« 12x10A12H+ 122 1,364 1,321 43
= 9,691& %102 *10AI2t+ 122 11,630 10,134 1,4%6
A= 8,7543*5F+10AI12Hx 122 5,253 5,086 167
—8= 7,8503x2E*10A1 2+ 123 1,887 914 973
—9= 7,1043x2Ex10A1 2122 1,705 1,651 54
O=WU2ZR+ 8, 754320 +30AI2Hx 128 63,029 45,771 17,258
02 JIEHE 4 3,482 3,047 435
OFEEIE(1Y) 3,482 3,047 435
—ZU2R=E 7,2523x30A12 123 2,61 2,176 435
Jl=dl 95,515 94,409 1,106
Jl=ZH] 95,515 94,409 1,106
201 Ze+2gH| 64,774 66,039 A1,265
01 AtR-2teld] 61,405 62,817 A1,412
OEETIELYY 19,609 17,880 1,729
OullatEZ A3, 141 0 A3, 141
02 2324 3,369 3,222 147
022232 © AA 547 400 147
—A83lE A BEs 547 400 147
202 Oid| 30,741 28,370 2,371
01 SLHOAYI 30,741 28,370 2,371
O=UYI(2LH) 21,972 19,550 2,422
O2UH01I(22)) 10, 188 8.820 1,368
oollarEZ A1,419 0 A1,419
of k=4 XH2 St 16,259,864 12,834,015 3,425,849
= 1,323,873 3,732,453 2,408,580
= 3,400,000 3,400,000 0
= 484,334 382,884 101,450
s 11,051,657 5,318,678 5,732,979
o8 JHe 2t 282,942 167,300 115,642
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SA o4kt
ZEM: G4 RHRISH
el oE oHe 22l (cHel:&J)
2A - M G2 () - HRAY - BES Of] AboH JIEH HwsZ
& 80,000 80,000 0
= 10,000 10,000 0
= 192,942 77,300 115,642
olgr &l 46,935 47,300 A365
201 LEL2 | 5,225 5,500 AN2T5
01 At22teld| 5,225 5,500 A2T75
ONlatEZ A275 0 N275
202 o4t 1,710 1,800 A90
01 =LHOAHI 1,710 1,800 A90
OulatEZ A0 0 A0
THoHIIoH =AM 116,007 0 116,007
401 AIEHIZ 2| 116,007 0 116,007
01 Al&H| 116,007 0 116,007
OgstTg oA S7AE 116,007 0 116,007
(o] RS 131,872 126,768 5,104
= 15,596 15,596 0
& 24,719 19,419 5,300
= 91,557 91,753 A196
O ha=bh2ked SHAL 10,340 9,200 1,140
301 LBrEAZ 2,340 1,200 1,140
10 HAtAHIE &3 2,340 1,200 1,140
OBt & AL &4 AHIBA (&, 5Y) 1,200 600 600
Ol M=30Hs &4 AHIEAH(EY) 1,200 600 600
OulatE 2 260 0 260
HYLIW= 3,857 4,060 A203
301 LEIEAZ 3,857 4,060 A203
10 EARHIE A= 3,857 4,060 A203
Ol &= 2 A203 0 A203
=0 MEF 1Y XA 47,667 30,000 17,667
& 14,300 9,000 5,300
= 33,367 21,000 12,367
307 QI2to1 & 47,667 30,000 17,667
= 14,300 9,000 5,300
= 33,367 21,000 12,367
02 RIRHEAEE 47,667 30,000 17,667
OO0 MEE SFHIXA 47,667 30,000 17,667
= 14,300 9,000 5,300
= 33,367 21,000 12,367
SMAEMTZ R 1,500 15,000 213,500
308 XIXIEHISOIH 1,500 15,000 213,500
05 XX MRS = 1,500 15,000 213,500
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S G ARD
HE: LA KRS
el G ARIE EERE))
S - . ER(33) - HRA - BES Ofl &t plpLl HR=2
\ \ O2=4re! HITI2 O|XIEE 22 1,500 15,000 213,500
UAIH S 1,059,960 3,992,460 22,932,500
=2 432,240 2,836,570 12,454,330
[ 37,000 17,000 20,000
= 590,720 1,088,890 498,170
oAl 2t 1,140 1,200 160
202 OdH| 1,140 1,200 160
01 2LH0iH| 1,140 1,200 60
OollatE 2t 260 0 AB0
SoLIXIoE 835 AFY 576,320 3,848,760 A3,272,440
=2 432,240 2,886,570 A2,454,330
=2 144,080 92,190 818,110
402 QIZHRI=0| A 576,320 3,848,760 NA3,272,440
=2 432,240 2,836,570 A2,454,330
2 144,080 962,190 818,110
01 DIZHRI=2E = 576,320 3,848,760 A3,272,440
OsoNUX 283 AFY 576,320 3,848,760 NA3,272,440
=2 432,240 2,836,570 22,454,330
2 144,080 92,190 A818,110
UAILAIS THHEE S KA 60,000 0 60,000
[= 20,000 0 20,000
=2 40,000 0 40,000
301 YHP AR 60,000 0 60,000
[= 20,000 0 20,000
= 40,000 0 40,000
12 JIEIE A2 60,000 0 60,000
OYAAAMZ THHEES KIAAL 60,000 0 60,000
[= 20,000 0 20,000
=2 40,000 0 40,000
QISE( ZOAIR HARHME HE KIRALY 280,000 0 280,000
401 Al&2H|2L 2 0HY| 280,000 0 280,000
01 Al&H| 280,000 0 280,000
OLIZH0 ZNAIS SIRHE HE 280,000 0 280,000
HYX N S22 166,202 166,268 166
HYRISH &8t SR 166,202 166,268 NG
201 Yet2Yy| 120,242 120,308 166
01 Al2Zr2IH] 1,246 1,312 166
OulaEZ YaXs's) 0 ABB
HEU 572,200 409,300 162,900
=2 69,600 63,850 5,750
2 200,000 200,000 0
[ 98,700 22,550 76,150
2 203,900 122,900 81,000
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A AT
BE: Gfaat X5

cHel: ool (el &)

SN - FB - S2A(SIH) - MBAY - BlY Ofl At pJE=Ll S{ImE=FT

NUE 2H SBSAE 72,000 59,100 12,900

= 36,000 30,250 5,750

= 7,200 6,050 1,150

= 28,800 22,800 6,000

307 2I2¢0I 72,000 59, 100 12,900

3 3,000 30,250 5,750

= 7,200 6,050 1,150

i 28,800 22,800 6,000

02 RIHEAEE 72,000 59,100 12,900

O1NLE 2H ESME 72,000 59,100 12,900

= 36,000 30,250 5,750

= 7,200 6,050 1,150

2 28,800 22,800 6,000

HE 23 AIHALS 150,000 0 150,000

= 75,000 0 75,000

i 75,000 0 75,000

402 2I2EXHE0(1 M 150,000 0 150,000

= 75,000 0 75,000

= 75,000 0 75,000

01 BIZEX=EE X 150,000 0 150,000

OOEADE AlZAILS 150,000 0 150,000

= 75,000 0 75,000

= 75,000 0 75,000

=2 JIERE 11,846,470 6,054,168 5,792,302

1 3,000,000 3,000,000 0

= 8,600 8,600 0

= 8,837,870 3,045,568 5,792,302

=AE RS 31,518 33,100 A1,582

301 LEBAS 2,520 2,600 A80

10 EARHIEAZ 1,520 1,600 A80

oollarE2 AB0 0 AB0

307 QI2t0| & 28,500 30,000 A1,500

04 DIZFHALE R 28,500 30,000 21,500

oollarE 2 21,500 0 21,500

405 THAHE SHI 498 500 A2

01 XA =SS FHSHI 498 500 A2

Ol I-EL A2 0 ~2

ot dERZ MRS DB EAAS 4,885,499 3,000,000 1,885,499

' 1 1,500,000 1,500,000 0

o 3,385,499 1,500,000 1,885,499

401 AIEHIZL 048I 4,885,499 3,000,000 1,885,499

& 1,500,000 1,500,000 0

- 3,385,499 1,500,000 1,885,499

01 AIZH] 4,874,739 2,989,240 1,885,499
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2 oAkt
HE: o4t XS
SRl 242 IIBRS (el 3el)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
‘ OgZ 8CHZLEI2 THAIH(EEN) 1,885,499 0 1,885,499
SAH SIS HICHORXIEIRIAIE 2™ 5,829,948 2,000,000 3,829,948
& 1,000,000 1,000,000 0
z 4,829,948 1,000,000 3,829,948
401 AIEHIZ 2| 5,829,948 2,000,000 3,829,948
2 1,000,000 1,000,000 0
o 4,829,948 1,000,000 3,829,948
01 Al&H| 5,822,774 1,992,826 3,829,948
Ogat 3% HICHHMEIRAIE 218 (28H) 3,829,948 0 3,829,948
Fa=Hl EE3 At 78,437 0 78,437
101 el2ib| 2,041 0 2,041
04 JIZtHI22ASE+ 2,041 0 2,041
O=HIZHM Z2 A 40,4002 x5+ 10 2,020 0 2,020
OtTHEE = 2,020,000 %1% 21 0 21
207 AN 31,396 0 31,39
01 AREAH| 31,396 0 31,39
OZZZHIMAER 45 HAES(ESY) 31,39 0 31,3%
307 QI2to| & 45,000 0 45,000
02 BltBAEX 25,000 0 25,000
O=24HIgM &= 2ISEH ME 25,000 0 25,000
04 CIZFHALE X 20,000 0 20,000
OZ&=H| NEgZ21d 23 20,000 0 20,000
RPN i R 213,835 175,900 37,935
= 120,000 120,000 0
= 25,500 25,500 0
= 68,335 30,400 37,935
SHUHY KNEEHS 4,835 4,900 JANG'S)
201 B2 | 1,235 1,300 JANG'S)
01 AtR2elt] 1,235 1,300 JANG'S)
OoollarE A\B5 0 A\B5
AR 2t 38,000 0 38,000
207 HA2IHEH| 38,000 0 38,000
01 H51249| 38,000 0 38,000
O=4HE 2e|=3HIE ZAES 38,000 0 38,000
HEXRE A E2E | SSH A 72,000 0 72,000
= 40,000 0 40,000
= 32,000 0 32,000
HEHE HE2el S XJA 72,000 0 72,000
= 40,000 0 40,000
i 32,000 0 32,000
402 QIZERHE0| A 72,000 0 72,000
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S YA
B ofeat XSt
ol U XANE LI BSHI (Er9): &)
A -3 - SRA(ZH) - MRAY - BES Ol &FoH JIEN HwsZ
= 70,000 0 70,000
2 32,000 0 32,000
ORI EEES 72,000 0 72,000
OOAIR NER2I0Y BSH KB 72,000 0 72,000
= 40,000 0 40,000
2 32,000 0 32,000
sl 1,494,243 1,731,711 237,468
= 766,437 766,437 0
= 279,815 279,815 0
2 447,991 685,459 1237, 468
HAyF L] 51,882 9,350 42,532
201 B2 ] 51,882 9,350 42,532
01 AFR22IH] 12,082 9,350 2,732
O8] 12,200 9,000 3,200
—ABHATAl % B2 4ZDY
2,00024+2, 0007 4,000 2,000 2,000
—HYY EEHEB YR 222 L A9
2 2y 1,000 0 1,000
—HUAY EFHHB SI| 248 200 0 200
OuAE2 468 0 468
02 ZZ2YH| 4,800 0 4,800
ozz2H| 4,800 0 4,800
—dH2Y EPHHB 223
60,0002+ 4,800 0 4,800
03 BAL2 L] 35,000 0 35,000
OBA2ZY| 35,000 0 35,000
— YUY BEHA S 35,000 0 35,000
HA NISH XIRAY 1,442,361 1,722,361 280,000
= 766,437 766,437 0
= 279,815 279,815 0
2 396,109 676,109 280,000
402 BIRIXHZO0I A 1,442,361 1,722,361 280,000
= 766,437 766,437 0
= 279,815 279,815 0
2 396,109 676,109 280,000
01 BRITI=EE 1,442,361 1,722,361 280,000
OHSHOIEM2] KA 477,951 757,951 280,000
= 284,232 284,232 0
= 142,115 142,115 0
2 51,604 331,604 280,000
e eV 415,140 5,140 410,000
2euxzel 415,140 5,140 410,000
201 Br2H] 15, 140 5,140 10,000
02 BB 2,940 2,940 10,000
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2A: ol
S YA THRIS
e ZRISdsga (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
O=Z/mgEd Alg2e] | 10,000 0 10,000
401 AlIEHILE0HY| 400,000 0 400,000
01 Al&H]| 400,000 0 400,000
OAlIEH| 400,000 0 400,000
—2RIEA AZED M=
100,000,000& *4= 400,000 0 400,000
F kX OHE 1,244,000 1,224,000 20,000
= 954,000 954,000 0
= 120,000 120,000 0
iy 170,000 150,000 20,000
eSS = 1,244,000 1,224,000 20,000
= 954,000 954,000 0
< 120,000 120,000 0
iy 170,000 150,000 20,000
S A 50,000 30,000 20,000
401 AIZHILE0HY| 50,000 30,000 20,000
01 Al&H| 50,000 30,000 20,000
O4afotea stz X122l 20,000 0 20,000
HotEHE A Y| 1,739,500 1,393,550 345,950
= 122,000 117,000 5,000
= 800,000 700,000 100,000
J| 48,000 0 48,000
= 40,000 10,000 30,000
iy 729,500 566,550 162,950
olokate| 1,135,000 1,125,050 9,950
= 5,000 0 5,000
= 700,000 700,000 0
iy 430,000 425,050 4,950
Huorze|ol 2H 1,000 1,050 A0
301 LEtBEAZ 1,000 1,050 A0
10 SALAIHIE A2 1,000 1,050 50
Ol atEZ AB0 0 AR
SARIRIE S RS 22| 10,000 0 10,000
= 5,000 0 5,000
= 5,000 0 5,000
201 LEt2HH| 7,000 0 7,000
= 3,500 0 3,500
o 3,500 0 3,500
01 AFR2t2lt| 7,000 0 7,000
OCHHEXEA X 7,000 0 7,000
= 3,500 0 3,500
= 3,500 0 3,500
202 (481 3,000 0 3,000
= 1,500 0 1,500
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SN LA
HE: olOIEAEY|
ool ookl (e =)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
o 7,500 0 7,500
01 =UHoi| 3,000 0 3,000
OFANREE DA B2 3,000 0 3,000
- 1,500 0 1,500
2 1,500 0 1,500
e 484,500 138,500 346,000
= 117,000 117,000 0
2 100,000 0 100,000
y] 48,000 0 48,000
= 40,000 10,000 30,000
= 179,500 11,500 168,000
HeMI| H2l 60,000 0 60,000
= 30,000 0 30,000
= 30,000 0 30,000
101 Q1248 23,000 0 23,000
= 1,500 0 11,500
= 1,500 0 11,500
04 IR 22 NS P4 23,000 0 23,000
OBMLMAI| 7 2121 22,772 0 22,772
11,386 0 11,386
= 11,386 0 11,386
OMEE 2 228 0 228
= 114 0 114
= 114 0 14
201 Y2 37,000 0 37,000
= 18,500 0 18,500
= 18,500 0 18,500
01 AFR 2] 37,000 0 37,000
OBMLMAPD| 29 H2l 242 37,000 0 37,000
= 18,500 0 18,500
= 18,500 0 18,500
HYMYD| LA &R 3,000 0 36,000
| 18,000 0 18,000
= 18,000 0 18,000
401 AIE2HIZ 20| 36,000 0 36,000
I 18,000 0 18,000
= 18,000 0 18,000
01 AI&H] 36,000 0 36,000
OMLMAID| HATBHE SXIAY 36,000 0 36,000
| 18,000 0 18,000
= 18,000 0 18,000
ZZ 012EMED| 0 50,000 0 50,000
| 30,000 0 30,000
= 20,000 0 20,000
307 21240I A 50,000 0 50,000
y 30,000 0 30,000
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SH: AT
Ha: oiohekA W)
ool Gy 2 (Er9): &)
A -3 - SRA(ZH) - MRAY - BES Oll &+t JIEN HwsZ
= 20,000 0 70,000
05 BIRISIErS 50,000 0 50,000
OXYE YE HYHIIS ~HAIE 50,000 0 50,000
o] 30,000 0 30,000
2 20,000 0 20,000
SHLMED| FatAY 200,000 0 200,000
3 100,000 0 100,000
2 100,000 0 100,000
307 21201 F 200,000 0 200,000
3 100,000 0 100,000
2 100,000 0 100,000
05 SIZISIES 200,000 0 200,000
OMLMD| HatAre] 200,000 0 200,000
z 100,000 0 100,000
2 100,000 0 100,000
o101a| X/ =l 120,000 130,000 210,000
olorR| XM=+ 120,000 130,000 210,000
207 ATHL 120,000 130,000 210,000
01 SRS ] 20,000 30,000 A10,000
Ol INEEY £10,000 0 210,000
TH225t HorMENEY X4 795,000 0 795,000
2 795,000 0 795,000
NEEEEE 795,000 0 795,000
= 795,000 0 795,000
ENEIEEPI 720,000 0 720,000
= 720,000 0 720,000
202 018 4,200 0 4,200
2 4,200 0 4,200
IENKE] 4,200 0 4,200
ODISOIE BRMMAY ZX 4,200 0 4,200
2 4,200 0 4,200
307 21201 F 715,800 0 715,800
= 716,800 0 715,800
05 CITISIES 71,800 0 715,800
OOF201Z 2Dl AR (300na) 715,800 0 715,800
= 715,800 0 715,800
ZIhs E2HM 75,000 0 75,000
2 75,000 0 75,000
307 2120 & 75,000 0 75,000
= 75,000 0 75,000
05 SIZISIES 75,000 0 75,000
OBTHLY SAIHLAR(10na) 75,000 0 75,000
2 75,000 0 75,000
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20138 = =& 1 3] LS| &l

N = 0l & AHSE B Al M

A IR
M HYSAAH(ZHCHA
o ol 23| (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
RN D} 8,006,250 6,717,473 1,288,777
= 601,678 414,328 187,350
= 2,055,000 2,055,000 0
S 2,200 0 2,200
== 333,235 115,243 217,992
= 5,014,137 4,132,902 881,235
HYSAZHI(ZMHE ) 117,079 110,908 6,171
ol 2AH| 62,148 53,082 9,066
o1 24H| 62,148 53,082 9,066
101 124H| 59,298 50,082 9,216
01 B 59,298 50,082 9,216
OAIZI2I22% 2(14%) 15,177 14,482 695
—5= 11,3642 1H*10A| 20+ 123 1,364 1,321 43
—6= 9,6912x6H*10A|2Hx 128 6,978 5,630 1,348
72 8,754 *3Hx 10A| 2tx 128 3,152 3,052 100
—8= 7,859 *3H*10A| 2t 12& 2,830 3,653 N823
—9= 7, 1042 1H*10A| 2122 853 826 27
OxuU2e 8,7542*14H*30 A1 2++ 12& 44,121 35,600 8,521
203 FR=&IH| 2,850 3,000 A150
04 EN2ILRF 2,850 3,000 A150
Ol atE 2 A150 0 A150
J|l23| 54,931 57,826 A2,8%5
Jl=23Hl 54,931 57,826 A2,8%5
201 LBH2AY| 34,193 35,996 1,803
01 At22t2ldl 30,085 31,888 A 1,803
OularE 2 1,803 0 1,803
202 44| 20,738 21,830 A1,092
01 2LH0IH| 20,738 21,830 A1,092
Oulare 2 A1,092 0 A1,092
pNES=REPN = ooy 3,964,972 3,542,878 422,094
= 591,230 410,580 180,650
= 92,000 92,000 0
=S 2,200 0 2,200
< 179,711 111,719 67,992
= 3,009,831 2,928,579 171,252
NS 3H 34,107 32,582 1,525
=i 2,200 0 2,200
= 31,907 32,582 AB75
K20 oHE 2 AD{eH el 23,467 21,842 1,625
=S 2,200 0 2,200
= 21,267 21,842 A575
201 LEr2AHH| 10,566 11,070 AB04
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2A: M Bt
M K| AAME A

29 NS3 (Sr9): 1)
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH J| &M Hlus2

01 AtR2t2lt| 9,566 10,070 AB04

Ol 2 AB04 0 AB04

202 0441 1,140 1,200 260

01 =L bHI 1,140 1,200 260

Ol a2 B0 0 260

301 LEtB A= 199 210 A1

10 SALAIHIE A2 199 210 A1

OularE 2 A1 0 AN

401 AlIEHILE0HY| 2,200 0 2,200

= 2,200 0 2,200

01 Al&H| 2,200 0 2,200

OSHIAAA LD AT &X| 2,200 0 2,200

= 2,200 0 2,200

NSESZHEAS A &N 1,900 2,000 A100

301 LBtBAZ 1,900 2,000 A100

10 SHAFAIH|IEAZ 1,900 2,000 A100

Ol atE 2 A100 0 A100

[EAPNT PSS 924,887 584,276 340,611

= 488,376 307,726 180,650

& 159,711 91,719 67,992

o 276,800 184,831 91,969

NESSH LAelArd 443,892 215,276 228,616

= 221,946 98,127 123,819

= 66,584 29,398 37,186

o 155,362 87,751 67,611

101 2124d| 298,492 180,000 118,492

= 149,246 82,060 67,186

= 44,774 24,570 20,204

iy 104,472 73,370 31,102

04 J12tHI2E2XSE 298,492 180,000 118,492

O RteIAI o124d| 298,492 180,000 118,492

= 149,246 82,060 67,186

= 44,774 24,570 20,204

o 104,472 73,370 31,102

201 L8H23Y| 6,000 4,500 1,500

= 3,000 2,052 948

& 900 614 286

- 2,100 1,834 266

01 At22teldl 6,000 4,500 1,500

OLX2IAME AIREE 2 EEH| 6,000 4,500 1,500

= 3,000 2,052 948

& 900 614 286

= 2,100 1,834 266

- 239 -




SA: AHE D
IﬁiH: I| X-Hsal- §|.

S EEE (e @2)
S - B - S9(3H) - HRA - BES ol&ey plE=L! HIDS2

202 Oid| 7,000 4,000 3,000

= 3,500 1,824 1,676

= 1,050 546 504

fia 2,450 1,630 820

01 ULl 7,000 4,000 3,000

OLReIMY =& 7,000 4,000 3,000

= 3,500 1,824 1,676

< 1,050 546 504

i 2,450 1,630 820

206 M=z 4l 92,400 26,776 65,624

= 46,200 12,191 34,009

< 13,860 3,668 10,192

= 32,340 10,917 21,423

01 =4l 92,400 26,776 65,624

OLReIME =& 92,400 26,776 65,624

= 46,200 12,191 34,009

S 13,860 3,668 10,192

i 32,340 10,917 21,423

307 B12+0I& 40,000 0 40,000

= 20,000 0 20,000

< 6,000 0 6,000

= 14,000 0 14,000

05 RIZIRIEZ 40,000 0 40,000

O0I=0d LXeIHE 40,000 0 40,000

= 20,000 0 20,000

S 6,000 0 6,000

= 14,000 0 14,000

sHUXAAHX HHEH 22,572 15,876 6,696

= 18,068 12,700 5,358

= 2,257 1,588 669

i 2,257 1,588 669

307 212401 22,572 15,876 6,69%6

= 18,058 12,700 5,358

= 2,257 1,588 669

i 2,257 1,588 669

05 BIt?Et = 22,572 15,876 6,696

Os02! XNFaPX HHES 22,572 15,876 6,696

= 18,058 12,700 5,358

= 2,257 1,588 669

i 2,257 1,588 669

SAIHEEUE XIRAA 102,200 77,000 25,200

= 51,100 38,500 12,600

= 51,100 38,500 12,600

307 SI2t0I& 102,200 77,000 25,200

= 51,100 38,500 12,600

= 51,100 38,500 12,600

05 RIZIRIEZ 102,200 77,000 25,200

_240_



SA: AHE D
Ha: XM E A

Chel: dRI2IESE (EH9): ®M )
SA - HH . O9(3H) - HRAR - BES ofl &t P! H DS

OEM)|g HECIEXA 102,200 77,000 25,200

& 51,100 38,500 12,600

iy 51,100 38,500 12,600

AFZIREH] KIRAFS 46,542 39,812 6,730

= 37,234 31,849 5,385

& 4,654 3,981 673

= 4,654 3,982 672

307 Q20| A 46,542 39,812 6,730

= 37,234 31,849 5,385

& 4,654 3,981 673

= 4,654 3,982 672

02 BIZtABAE R 46,542 39,812 6,730

OAFZOHEH| IR AMS 46,542 39,812 6,730

= 37,234 31,849 5,385

& 4,654 3,981 673

= 4,654 3,982 672

(OB ARSI ED | LRI EHEAMS 241,681 156,312 85,369

= 188,738 125,050 63,688

& 12,316 6,252 6,064

o 40,627 25,010 15,617

307 2I2H01 A 241,681 156,312 85,369

= 188,738 125,050 63,688

& 12,316 6,252 6,064

o 40,627 25,010 15,617

02 DIZHEAE X 241,681 156,312 85,369

O(UIBNAIRIEDIY LXI2IEE KA 241,681 156,312 85,369

—OISAISIEI | (M ROIS) 121,945 58,968 62,977

= 97,557 47,175 50,382

< 4,877 2,358 2,519

o 19,511 9,435 10,076

—OllHIAFSI D1 (3JHD1Y) 113,976 97,344 16,632

= 91, 181 77,875 13,306

& 4,559 3,8% 665

o 18,236 15,575 2,661

—HSOIAXAAIS 5,760 0 5,760

& 2,830 0 2,880

= 2,830 0 2,880

02019 SEAY 0 80,000 280,000

= 0 40,000 A40,000

& 0 12,000 212,000

iy 0 28,000 28,000

307 Q1201 A 0 80,000 80,000

= 0 40,000 240,000

& 0 12,000 212,000

= 0 28,000 228,000

02 RI2HEAIE X 0 80,000 280,000

o018 s4Ad 0 80,000 A80,000
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S A

X ZH -
o= -

ZMIeHS
INEEEPS = siel

Chel: dRI2IESE (EH9): ®M )
SA - HH . O9(3H) - HRAR - BES ofl &t P! H DS

= 0 40,000 A40,000

= 0 12,000 212,000

= 0 28,000 228,000

XIS KSSTHAIS 28,000 0 28,000

= 22,400 0 22,400

& 2,800 0 2,800

= 2,800 0 2,800

201 L8-23Y| 24,000 0 24,000

= 19,200 0 19,200

& 2,400 0 2,400

= 2,400 0 2,400

01 Ar22t2ldl 4,000 0 4,000

Otes|&#It & SHE2Y 4,000 0 4,000

= 3,200 0 3,200

== 400 0 400

= 400 0 400

03 SHAF2GHI 20,000 0 20,000

O=Rsaz8YEs &t S 20,000 0 20,000

= 16,000 0 16,000

& 2,000 0 2,000

= 2,000 0 2,000

202 Odb| 2,000 0 2,000

= 1,600 0 1,600

& 200 0 200

o 200 0 200

01 2ZLHH] 2,000 0 2,000

Oues| &It ¥ SHERY 2,000 0 2,000

= 1,600 0 1,600

& 200 0 200

= 200 0 200

301 LBtBAZ 2,000 0 2,000

= 1,600 0 1,600

& 200 0 200

- 200 0 200

10 HAIAHIEAZ2 2,000 0 2,000

OxCAHEHE 29 2,000 0 2,000

= 1,600 0 1,600

== 200 0 200

= 200 0 200

HEE odi0i2o1e 40,000 0 40,000

& 20,000 0 20,000

o 20,000 0 20,000

307 Q1201 ™ 40,000 0 40,000

& 20,000 0 20,000

iy 20,000 0 20,000

02 DIZtBASE X 40,000 0 40,000

OodYd odlotSo1g 40,000 0 40,000
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SA: AHE D
Ha: XM E A

ol gXelEE (cHel:&J)
S - BB () - HRAY - BaES 0] apot plEE SImE==
= 20,000 0 20,000
= 20,000 0 20,000
AlZzte] 290,238 222,680 67,558
= 92,000 92,000 0
= 198,238 130,680 67,558
SMEAE SESAUNCIEIZ =4 53,109 0 53,109
401 AlEHIZ 20| 53,109 0 53,109
01 Al&H| 53,109 0 53,109
Odt=E | 23 53,109 0 53,109
THeHAIE e otAr 85,129 70,680 14,449
101 @1244| 3,025 0 3,025
04 D122 XS Es 3,025 0 3,025
OZEFIE 22| 2 EAFHARR
42,7803 *1H*23|x35== 2,99 0 2,995
O&liEE= 2,995,000 %1% 30 0 30
201 Ler2 | 10,620 10,680 AB0
01 At22teld| 1,140 1,200 AB0
oollarEZ 260 0 260
307 QI2to1 & 11,484 0 11,484
02 BltAAE X 11,484 0 11,484
O&SAIE HLIM2E
1,650,000 1 *11.6& *60% 11,484 0 11,484
Ol XI&te| 2,649,140 2,636,740 12,400
= 102,854 102,854 0
i 2,546,286 2,533,886 12,400
AotEE A 2el 944,464 925,388 19,076
201 LEH2 | 24,666 10,190 14,476
02 2224l 14,476 0 14,476
OAEEBIS XL (8HE2L2) 14,476 0 14,476
—gXAL A KR 2 14,476 0 14,476
307 QI2t0| A 917,098 912,498 4,600
02 RIRHFAEE 917,098 912,498 4,600
OgE=-ZHI (8L 3) 72,183 67,583 4,600
—=2g=g 52,600 48,000 4,600
3= 60,0003 *2%H 115! 13,800 11,500 2,300
=E(FY) 60,0002 *2%H*1152 13,800 0 13,800
=A(EY) 50,0002 x2% 250 25,000 36,500 211,500
OrEE A U E+ZAt 188,512 195, 188 26,676
401 AlEHIZL 2008 188,512 195,188 26,676
01 Al&HI 187,000 193,676 26,676
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S A

I‘iiH:

ZMIeHS
NP = siel

SR [EWNEET (el Mel)
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH J| &M Hnsz2

SNEEEREES) 187,000 193,676 6,676

—OIIEYAEA HE S HEIZA 157,000 150,000 7,000

—HENZEE L EABA 0 40,000 40,000

—HEMZEY L PADAF AALHI 0 3,676 13,676

—B19tD| IAIZA 20,000 0 20,000

_IIBEM M2 DHBA 10,000 0 10,000

2AFO| OrEA ML KLA 24,504 16,320 8,184

AR OrXTD| U3} 10,552 2,160 8,302

AT OHx AP 10,552 2,160 8,302

201 Let2dt| 5,000 0 5,000

IR 5,000 0 5,000

OATCIP| AT = 25,0002+2005 5,000 0 5,000

202 OfH| 2,052 2,160 A108

01 2LHHY] 2,052 2,160 A108

OOl arE 2t A108 0 A108

301 LekE AL 3,500 0 3,500

10 AR DI 2 A S 3,500 0 3,500

OBHUSIT OFFA 2P 3]0 AKX 24t

70002 +500% 3,500 0 3,500

NI X8 29 13,952 14,160 A208

XI2ArR =& 13,952 14,160 A208

201 Ler2dt| 13,040 13,200 A160

01 Al 22|t] 3,040 3,200 2160

OO0 AHE 2t A160 0 A160

202 OfH| 912 960 A48

01 =LhoTdl 912 90 A48

OullarE 2 A48 0 A48

A WAISTIL OIS S 23 77,537 77,030 507

A YALS FOIES (I X=X 77,537 77,030 507

SALSET) &2 29,507 31,060 21,583

201 LEt2t| 25,650 27,000 21,350

01 Al 22|t] 25,650 27,000 21,350

OOl Atz 2 21,350 0 21,350

202 OfH| 1,197 1,260 263

01 =LhoT 1,197 1,260 163

Ol &t 2 AB3 0 B3

301 Let2Aa 2,660 2,800 A140

10 BAFAHI 2 AL 2,660 2,800 A140
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SN AHOHED

I AN YAISHH U s= 25

Chel: AN 2Ats FRIES (3 A (cHel:&J)

SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
‘ OOl AR 2 A140 0 A140
HAISEM W= 44,360 42,300 2,060
201 2| 10,315 11,000 A685
01 At22teld| 10,315 11,000 2685
ONlatEZ 2685 0 2685
202 o4t 3,420 3,600 A180
01 2| 3,420 3,600 A180
ONlatE 2 A180 0 A180
301 LEEAZ 5,625 2,700 2,925
10 EARHIEAS 5,625 2,700 2,925

OYASENLE I B4

1,500 x67IH 0t S+50H 5,025 2,100 2,925
plgte2te| 200,482 161,851 38,631
= 3,748 3,748 0
& 3,524 3,524 0
2 193,210 154,579 38,631
oIty 24 171,772 133, 141 38,631
= 3,748 3,748 0
& 3,524 3,524 0
= 164,500 125,869 38,631
DRl nsEd € 2Y 10,545 8,900 1,645
201 LBH=2HH| 7,205 5,400 1,805
01 At22teld| 3,705 3,900 A195
OoflarE 2 A195 0 2195
02 2223l 3,500 1,500 2,000
ORIt Hlag=AlE SXi2el 3,500 1,500 2,000
202 Ot 1,140 1,200 AB0
01 =LHOHI 1,140 1,200 260
OollarE 260 0 B0
301 LB AZ 2,200 2,300 A100
10 SHAtAHIE & Z 1,900 2,000 A100
OoflarE 2t A100 0 A100
SXHs =8 5,005 5,269 AN264
201 B2 | 4,227 4,450 A223
01 AtR2elt] 4,227 4,450 A223
ONlatEZ AN223 0 A223
301 LEEAZ 778 819 YAV
10 SHAAHIE &3 778 819 A4
OoflarE 2t A4 0 A4
SAZFRA 22| 80,730 63,480 17,250
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SR I
glgte| 2|
oIt 29 R
2A - M G2 () - HRAY - BES AboH JIEA HwsZ
202 04| 570 600 A30
01 =LHOHI 570 600 A30
OoullarE 2t A30 0 230
301 LEEAZ 80, 160 62,880 17,280
09 SURRABAZ 80, 160 62,880 17,280
OsA] 6,000 x20*37H 12 53,280 36,000 17,280
otz S4X& 60,000 40,000 20,000
403 XXM SXHZ0|E 60,000 40,000 20,000
03 HiblZES8XJNEE R 60,000 40,000 20,000
Oulglz HEEI| & 7L 30,000 20,000 10,000
Otz &8& B 20,000 10,000 10,000
s=24dst 3,621,676 2,808,486 813,190
= 6,700 0 6,700
1 1,963,000 1,963,000 0
& 150,000 0 150,000
o 1,501,976 845,486 656,490
EI%FDF% =P 803,990 4,200 799,790
& 150,000 0 150,000
= 653,990 4,200 649,790
H=0tS s=41F IR 500,000 0 500,000
402 QIZHAHE0| A 500,000 0 500,000
01 QI EEX 500,000 0 500,000
Od=0ts s=d= N& 20,000,000 25 500,000 0 500,000
H=0E ZHEAS 303,990 4,200 299,790
& 150,000 0 150,000
= 153,990 4,200 149,790
201 Ler2Z| 2,850 3,000 A150
01 At22teld| 2,850 3,000 A150
OulatE2 A150 0 A150
202 Ot 1,140 1,200 AB0
01 =2LHOHI 1,140 1,200 260
OoollarEZ 260 0 260
A EHIZL 2] 300,000 0 300,000
< 150,000 0 150,000
= 150,000 0 150,000
01 Al&HI 297,855 0 297,855
Oss =02 S3IIBAEAS 297,855 0 297,855
& 147,855 0 147,855
= 150,000 0 150,000
03 AIES20HHI 2,145 0 2,145
O=s #=0t2 S3IIEAIEMY 2,145 0 2,145
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SA: BHHE

MZEH: = ==SIA
o=
[u]

g (cHel:&J)
S - ZB . CRI(SIH) - HIRAY - B 0] apot plEE SImE==

= 2,145 0 2,145

2,817,686 2,804,286 13,400

= 6,700 0 6,700

& 1,963,000 1,963,000 0

= 847,986 841,286 6,700

13,400 0 13,400

= 6,700 0 6,700

i 6,700 0 6,700

13,400 0 13,400

= 6,700 0 6,700

= 6,700 0 6,700

13,400 0 13,400

13,400 0 13,400

= 6,700 0 6,700

o 6,700 0 6,700
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AN = 0l &

20138 = =& 1 3] LS| &l

AP & A A

SN AR
MmN 20| (AL LD
ol ol (Bl @)
S - B S9(3IH) - ARAY - BES 0 bt plEE" HlRE2
AT 51,612,649 26,480,968 25,131,681
= 7,087,691 117,081 6,970,610
= 7,026,518 5,103,000 1,923,518
s 700,000 0 700,000
= 10,000 0 10,000
= 2,038,467 55,000 1,983,467
= 34,749,973 21,205,867 13,544,086
2| (AL 169, 246 150,653 18,593
T 106, 681 87,856 18,825
o121t 106, 681 87,856 18,825
101 QI21b] 102,691 83,656 19,035
01 2% 2,247 74,518 17,729
OAIZIRIZR4Y Ho=(22) 22,915 21,119 1,7%
—53 11,3642 1+ 10AI1 2+ 122 1,364 1,321 43
—63 9,6912472x10AI2H 128 8. 141 6,756 1,385
—73 8,854 42 10AI2H 128 4,250 5,086 1836
—83 7,502 72 x10AI 2H 128 6.602 5,479 1,123
—93 7, 1042153241041 2k 122 2,558 2,477 81
GEM=IESS 8,75421+2224x30AI1 24+ 122 69,332 53,399 15,933
02 JIEFR 24 10,444 9,138 1,306
OHAAH(3) 10,444 9,138 1,306
—E2R4Y 7,25281+32$x30A1 2k 128 7,833 6,527 1,306
203 ZRE| 3,990 4,200 £210
04 FAES LT 3,990 4,200 A210
Ol arE2 £210 0 £210
o= 62,565 62,797 £23
PIEET 62,565 62,797 £23
201 Ler2 | 41,257 42,357 A1,100
01 AFRZ:2/H] 38, 181 39,281 AT,100
O3l B4 21,474 20,610 864
Ol arE2s A1,964 0 A1,964
202 01t 21,308 20,440 863
01 =LHOIH 21,308 20,440 863
O=LHOIHI(ZHLH) 15,886 14,680 1,206
O=LHoiHI(2H2)) 6,444 5,760 634
Ol a2 A1,022 0 A1,022
SOIEXI N 19,570,942 11,465,142 8,105,800
2,040,000 0 2,040,000
7,026,518 5,103,000 1,923,518
10,000 0 10,000
1,074,441 45,000 1,029,441
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S A

X ZH -
o= -

Far=L=p\nl;
SOHEXS i

©el: =HIIBHEHIAY (cHel:&J)
S - BB () - HRAY - BaES 0] apot plEE SImE==

o 9,419,983 6,317,142 3,102,841

SI|BHEHIAY 16,483,942 8,573,142 7,910,800

= 2,040,000 0 2,040,000

& 5,857,518 3,934,000 1,923,518

= 10,000 0 10,000

< 1,074,441 45,000 1,029,441

o 7,501,983 4,594,142 2,907,841

2| BHEH| ALY 2,644,940 0 2,644,940

1 1,923,518 0 1,923,518

= 240,441 0 240,441

= 480,981 0 480,981

401 AlEHIZL 048I 2,644,940 0 2,644,940

=1 1,923,518 0 1,923,518

= 240,441 0 240,441

= 480,981 0 480,981

01 Al&HI 2,540,470 0 2,540,470

O BrEHIAr (OF=2l) 1,919,928 0 1,919,928

= 1,519,048 0 1,519,048

& 200,441 0 200,441

= 200,439 0 200,439

OED|BHEHIANS (' 13 =) 380,000 0 380,000

& 300,000 0 300,000

= 40,000 0 40,000

= 40,000 0 40,000

OED|EHEHIAIG (20124 =8H) 240,542 0 240,542

02 Zeldl 98,000 0 98,000

OB HI AN (OF=2l) 78,000 0 78,000

= 78,000 0 78,000

OED|BHEHIANG (' 13 =) 20,000 0 20,000

2 20,000 0 20,000

03 AlE=20Hd| 6,470 0 6,470

OZIIBrEIAI (0F=2l) 6,470 0 6,470

& 6,470 0 6,470

YN HES 2,949,459 0 2,949,459

= 2,040,000 0 2,040,000

& 263,000 0 263,000

= 646,459 0 646,459

401 AIEHIZ 2| 2,949,459 0 2,949,459

= 2,040,000 0 2,040,000

L= 263,000 0 263,000

= 646,459 0 646,459

01 Al&HI 2,941,765 0 2,941,765

Oxgrate| M IHE+Ar 2,906,306 0 2,906,306

= 2,032,306 0 2,032,306

L= 263,000 0 263,000

i 611,000 0 611,000

OXghae| X HESAIH (20128 22 H) 35,459 0 35,459
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S A

Far=L=p\nl;

B SOjEX e
Chel: SeiIUHHI A (erl: &g
SM - B GR(3H) - MRAY - By ofl by plE-R F{ImE=ST
03 AlE=20Hd| 7,694 0 7,694
OXghze] XM HE=ALY 7,694 0 7,694
= 7,694 0 7,694
B ESHAF2AS (KHAI) 2,474,075 1,318,285 1,155,790
101 1244 14,118 11,295 2,823
04 DI HI2Z2 XS ES 14,118 11,295 2,823
SHIOIE2 2t 42,7802x2F 150 12,834 10,268 2,566
c4eEE=z 12,834,000 *10% 1,284 1,027 257
201 B2 76,629 78,990 22,361
01 AtS2teld 44,859 47,220 22,361
oollarEZ 2,361 0 A2,361
401 AlEHIYL 04| 2,380,328 1,225,000 1,155,328
01 Al&HI 2,380,328 1,225,000 1,155,328
O=ZAlIR4(100152) 80,000 30,000 50,000
OZg H4el sz HUISA 30,000 0 30,000
OU0t =12l =2 EHIZAt 30,000 0 30,000
Ogat S422| =2 EHIZ At 20,000 0 20,000
Ogar Se| =2 ZHIBA 30,000 0 30,000
O=Z A2R1H K=& ZHISAt 30,000 0 30,000
OYZ SSH 0I4E FHITA 20,000 0 20,000
OU0t AZH == ZHISAt 50,000 0 50,000
Ot Bi S 2 TAL 30,000 0 30,000
OSASZHOIZR H2EXITEHIH M
2A(SEY) 113,956 0 113,956
OSZHI0IS& QHHEXE & 2 24,800 0 24,800
OSLSEEM2 HAE £X 70,000 0 70,000
OSLEIDIRATAAIY MENH2 61,572 0 61,572
OR ATHSSHHIAL OHIE
e 25,000 0 25,000
OZ& g512| =23l 20,000 0 20,000
ORZ &51cl ==sti+=2&H| 20,000 0 20,000
Osg otde| erE0ts 2 Eh| 20,000 0 20,000
O MaH === Fh| 20,000 0 20,000
O2d B2l s2ux 20,000 0 20,000
O SAH SHh42 F| 20,000 0 30,000
Ogdt S22l Mg = Ehl 5,000 0 5,000
Ogd U=l diMs +Z 3| 30,000 0 30,000
OUot 2wel ssits 2FEX 35,000 0 35,000
OgZ 2Eel AH0S =2 &I 15,000 0 15,000
OgZ stdel Mz Ed| 25,000 0 25,000
Ot B20IE Y2 H| 25,000 0 25,000
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S A

X ZH -
o= -

Far=L=p\nl;
SOHEXS i

S == DIETe= FINE= (B9l =)
S - B S9(30) - HRAY - BES ol&tey pE-L HImz2

0¥z yHel BEOIS h+-25H| 15,000 0 15,000

oYz sl 42| 25,000 0 25,000

O GtAE| 2B 25,000 0 25,000

OPT SARel SZEHZA 15,000 0 15,000

Og &2l H4eRYs2 T 10,000 0 10,000

OUHOH 3+ &3t Hh=2 3| 30,000 0 30,000

O & g+23H| 30,000 0 30,000

OZM 25 UNEH s22% 30,000 0 30,000

Ot KR US=zax 30,000 0 30,000

OZM 01322 S22 25,000 0 25,000

Ot S s2IE 20,000 0 20,000

OB X4 s2mE 20,000 0 20,000

O iAlR] 25 S2EE 30,000 0 30,000

£42 X2 MY 94,000 0 94,000

3 47,000 0 47,000

= 47,000 0 47,000

401 Al HI L2 0HY| 9,000 0 9,000

3 47,000 0 47,000

= 47,000 0 47,000

01 AIZH] 94,000 0 94,000

OR+Z PEE3 MY 9,000 0 94,000

= 47,000 0 47,000

= 47,000 0 47,000

B SESNp[I=EYNE: 58,000 0 58,000

3 29,000 0 29,000

= 29,000 0 29,000

401 Al H1 2204 58,000 0 58,000

= 29,000 0 29,000

= 29,000 0 29,000

01 AI&H] 58,000 0 58,000

SARAR HELALY 58,000 0 58,000

3 29,000 0 29,000

= 29,000 0 29,000

SEDN 2HIRSS 924,000 624,000 300,000

= 250,000 0 250,000

= 674,000 624,000 50,000

403 REXI IS KH0I & 924,000 624,000 300,000

3 250,000 0 250,000

z 674,000 624,000 50,000

02 2O 2SO AN 924,000 624,000 300,000

OSUNSA RY4+Z MAIILIIA 0 220,000 220,000

02013 SUMADIBINA SRIZ2 220,000 0 220,000

Ot 2SX7 JIHSIIXZ HEH 0 300,000 300,000

0¥z Bazo s=stuy 550,000 0 550,000
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S A
K| ZH -
(=

&l

Far=L=p\nl;
SOHEXS i
SEIIBHEHIANY

[
$
P
rio

S - BB () - HRAY - BaES Arod plEE" SImE==
= 250,000 0 250,000
= 300,000 0 300,000
O%= =22 M3t 50,000 0 50,000
=c|H 2EXZ A 20,000 0 20,000
= 10,000 0 10,000
i 10,000 0 10,000
307 SI2H0| A 20,000 0 20,000
= 10,000 0 10,000
i 10,000 0 10,000
02 RIHBAEX 20,000 0 20,000
O==c|H 2 X2 A 20,000 0 20,000
= 10,000 0 10,000
= 10,000 0 10,000
AN E(EX) 200,000 0 200,000
= 200,000 0 200,000
401 AIEHIZL 20| 200,000 0 200,000
= 200,000 0 200,000
01 Al&HI 200,000 0 200,000
OZMH GAHKIF? =2 2E 30,000 0 30,000
L= 30,000 0 30,000
OUoHH E= ti+==2&H| 15,000 0 15,000
= 15,000 0 15,000
ORgH Mael s22E 20,000 0 20,000
= 20,000 0 20,000
OZEH A2 s22HE 35,000 0 35,000
& 35,000 0 35,000
OzdH 24 s2EHE 35,000 0 35,000
L= 35,000 0 35,000
O=gH =2 =28l 15,000 0 15,000
= 15,000 0 15,000
OU=g 4otAle] s22F 50,000 0 50,000
= 50,000 0 50,000
HEHAMXSEONY 5,611,468 5,122,857 488,611
& 3,586,000 3,586,000 0
o 2,025,468 1,536,857 488,611
401 AIEHIZL S008I 5,611,468 5,122,857 488,611
& 3,586,000 3,586,000 0
o 2,025,468 1,536,857 488,611
01 AlEHI 5,556,228 5,067,617 488,611
OYGMHALTHA SEEHIA (SENH) 488,611 0 488,611
SHEMESZZY| 3,087,000 2,892,000 195,000
= 1,169,000 1,169,000 0
i 1,918,000 1,723,000 195,000
MY 272 AP (XEA) 1,055,000 860,000 195,000
401 AlEHIZL 048I 1,055,000 860,000 195,000
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SN ALY
N =X Jpe
B9l SOlEMB AT CERE)
A -3 - SRA(ZH) - MRAY - BES Oll &+t JIEN HwE2
01 AIZH] 1,085,000 860,000 195,000
OMOIZ AlZZ FH 2 HDIZ Hel 50,000 30,000 20,000
Ofs YYny AN 20,000 0 20,000
OS2 o1y AL Hh+2FH| 20,000 0 20,000
O¥Z =5 HS2Y &1 35,000 0 35,000
O¥4 UN0IE LA 25,000 0 25,000
022 =8 =i+ | 20,000 0 20,000
OZM D& 42 =l 10,000 0 10,000
OS2 4R2| =528 24 10,000 0 10,000
092 2 YADY B4 10,000 0 10,000
0L &52l SSAAIS 23| 25,000 0 25,000
cE2Y =5 9,210,317 6,210,717 2,999,600
= 115,000 115,000 0
3 15,000 0 15,000
2 9,080,317 6,095,717 2,984,600
DCHET ALY 1,300,000 1,145,000 155,000
JIE BEAY 300,000 145,000 155,000
401 Al B2 CHY] 300,000 145,000 155,000
01 A& 300,000 145,000 155,000
OZE R (4H=& 1.4kn) 100,000 70,000 30,000
OBE XHIZM(11Hmd 32, 4kn) 50,000 30,000 20,000
ORZI0SH(EU-TY) ARIBLTA} 70,000 0 70,000
OPEI6EH (YL-F2) S| 20,000 0 20,000
OBt 2 T2 SHTIALY 15,000 0 15,000
SOECHRY A 2,708,000 1,925,000 783,000
JIEt S0E SEAIY 968,000 485,000 483,000
401 Al HI L2 0HY| 968,000 485,000 483,000
01 AI&H] 968,000 485,000 483,000
OS0ET2 HM2IIZAH3MH = 4I3.3kn) 170,000 85,000 85,000
OS0EEE XHIEA (874 &114.3kn) 60,000 30,000 30,000
OR&E~ANB2E C2TE(L=0.25kn) 200,000 100,000 100,000
OFO-ZX2 BT FHIZA 120,000 0 120,000
0222 2202 JYZ UM RIIBAF 40,000 0 40,000
ONS-SNSS D2 C2A SHTIAY 108,000 0 108,000
FS-IBIE C2 A 800,000 500,000 300,000
401 Al B2 20HY| 800,000 500,000 300,000
01 AIZH] 79,425 496,425 300,000
ORIt &2 796,425 496,425 300,000
cEnsoEpel 2 24 3,250,787 2,161,487 1,098,300
= 115,000 115,000 0
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SN ALY
M C2 EF
oel: CRuEoHNae & B (St &J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
== 15,000 0 15,000
o 3,129,787 2,046,487 1,083,300
SE2RAE2| ML AL 168, 122 113,122 55,000
206 TH24 168, 122 113,122 55,000
01 =4l 168, 122 113,122 55,000
AoHCHE T 135,650 90,650 45,000
—gszs 115,000 75,000 40,000
—H&esgsz 13,000 8,000 5,000
OO0l 2 (2, sHEERE =/ Bx) 20,000 10,000 10,000
JIEt =2 EHIAS 2,831,665 1,818,365 1,013,300
201 Let2dy| 139,265 103,265 36,000
02 S324H] 115,015 79,015 36,000
OAIEEHI= XL 26,000 6,000 20,000
—HIEZ&HI(HAED2, 4XED2, WEI1) 22,000 2,000 20,000
OXt & dl 80,744 64,744 16,000
—HEst=2(30) 48,020 32,020 16,000
203 FLF&| 1,900 2,000 A100
03 AIBFAAHRZXY| 1,900 2,000 2100
ONlatEZ A100 0 A100
401 AlEHIZ 2| 2,337,500 1,537,500 800,000
01 A&t 2,337,500 1,537,500 800,000
OS2 Y BAH|(0I2EX) 100,000 50,000 50,000
OSZE EX(14H2) 110,000 90,000 20,000
oStz && Y A 30,000 0 30,000
OMaHIg X7 L JIEtE 30,000 0 30,000
OuESAtL {12 Edl 40,000 0 40,000
Osdd B 30,000 0 30,000
ONM&2e|At & F=HEH| 20,000 0 20,000
S0HAWE J=F 20,000 0 20,000
osg=zels &xl 10,000 0 10,000
OXZE g5 e (BHy o) 82 XM
H 20,000 0 20,000
Oga gae| =02 o2 E| 25,000 0 25,000
OZ& sAel 230t ti=2&H| 45,000 0 45,000
Qe Zhate] A=0tS ti+=23| 30,000 0 30,000
Oy =0 =¥ ==&l 25,000 0 25,000
Oz=d gretel tietits E7E| 20,000 0 20,000
ORY st=0l=2 o2 E| 15,000 0 15,000
O GtAe] =2 XEE 20,000 0 20,000
ORg &2=0t2 o3| 10,000 0 10,000
Og 2de| O=etZ &l 20,000 0 20,000
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A ALYt
S
o C2uSorMA| & B4 (e ®d)
2A - M G2 () - HRAY - BES Ol Akt JIEH Hws2
Ogat dl-e| s22& 15,000 0 15,000
Oga AlEe| ti=23b| 30,000 0 30,000
Ogad dyeel =2 ¥ =23| 35,000 0 35,000
OU0t BHE0ts ot M RD| 25,000 0 25,000
Ogat 42| ME s22H 20,000 0 20,000
Otz StAr| REsd =22 25,000 0 25,000
O Xde| s22E 20,000 0 20,000
O2M OtE M E=22E 25,000 0 25,000
O SA2| &eZTd 15,000 0 15,000
O2Y 2ELNIE 2EEX 20,000 0 20,000
O==s 2X0tE2 SHEX 30,000 0 30,000
Ot S4l4e| ot L& 30,000 0 30,000
OB el th=2 ¥ s=3H| 30,000 0 30,000
405 XHAHE S| 303,000 125,600 177,400
01 R 2 SF S 303,000 125,600 177,400
Ogstzs AL 55,000 0 55,000
O&EZ8H| 24| 130,000 0 130,000
OularE 2 AT,600 0 7,600
HE2XEYI 30,000 0 30,000
[ 15,000 0 15,000
i 15,000 0 15,000
401 AlEHIZL 20| 30,000 0 30,000
< 15,000 0 15,000
= 15,000 0 15,000
01 Al&HI 30,000 0 30,000
OHSEX HBI(1H2) 30,000 0 30,000
& 15,000 0 15,000
= 15,000 0 15,000
HLEHE 37,530 39,230 1,700
A2 29 21,876 22,626 AT50
203 HRF=&IH| 14,250 15,000 AT750
03 AIRFRIHRFEIH| 14,250 15,000 AT50
OullArE 2 AT50 0 AT750
=M Ak 5,818 5,918 A100
202 441 1,700 1,800 2100
01 24| 1,700 1,800 A100
ONlatE 2 A100 0 A100
CHA Y SANXS S 6,500 7,350 2850
201 LBH=2Z| 6,500 7,350 A850
01 Ar=22t2ld| 6,500 7,350 A850
Ol &= 2 2850 0 2850
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SN AL
B C2Y =S
SRl SOlE MBEY KA (Er9): &)
A -3 - SRA(ZH) - MRAY - BES Oll &+t JIEH HwsZ
O%= Zasel iz S 30,000 0 30,000
O =A2| 52 28 20,000 0 20,000
Oz HFI2l 42 F| 10,000 0 10,000
Owz orso2| B2 HH| 30,000 0 30,000
O BH412| 52 B& 20,000 0 20,000
Otz iote| Bi42 FHIBA 20,000 0 20,000
Otis HI2| 42 FHIBA 20,000 0 20,000
Oz siotz| AY2 THBA 10,000 0 10,000
O2A 222l TotE 52 2 25,000 0 25,000
Oz 22| I 20,000 0 20,000
Oy ouel O2sl 42 20,000 0 20,000
OYY 2T 2 ZHIBA 30,000 0 30,000
Oy oisrel SHARIBA 20,000 0 20,000
Oy stdel & AYZ T 5,000 0 5,000
OBl =2l 42 Bl 5,000 0 5,000
Oga gel 2 MHED| & 5,000 0 5,000
Oy =22 4SS W42 F| 15,000 0 15,000
Ogy 2dt Fia Y3 &1 30,000 0 30,000
Ogls atgoel 42 FHIBA 15,000 0 15,000
OBl Ml S2EE U ARIRs 17,000 0 17,000
CELR=VLLNIE CRIBIEREY 10,000 0 10,000
OBl R BAIE BA 8,000 0 8,000
OtioH 22| F1 BH+2 FH| 30,000 0 30,000
OCHOH 212l 81 Bi+2 FH| 30,000 0 30,000
OTHOH &&F B2 FHIBA 20,000 0 20,000
OCHOF &3t B2 ZHIBA 30,000 0 30,000
HEoHol 2 =Pseias 14,085,275 1,048,658 3,006,617
2 4,932,691 2,081 4,930,610
s 700,000 0 700,000
= 949,026 10,000 939,026
2 7,473,558 1,036,577 6,436,981
THE G CHE = 578,119 137,343 440,776
2 4,081 2,081 2,000
= 17,600 10,000 7,600
2 556,433 125,262 431,176
R =S 2 78,016 78,430 A414
201 Yer2| 16,030 16,230 2200
01 AFR22IH] 2,500 2,700 A200
OvAE £200 0 £200
202 Oft| 1,140 1,200 260
01 =LH0iHI 1,140 1,200 260
OoflarE £60 0 £60
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M ALY
ZE: oMY ¥ SR=s2235)
Sl THHKHOHCHEH = (e ®d)
SA - FB - 2(3) - MPAIY - BAS Ofl koY oy Hlm=2t
203 R=&H| 1,900 2,000 A100
03 AIF=AALFAIL| 1,900 2,000 A100
OollarEZ A100 0 A100
405 XHAHFE S| 946 1,000 A54
01 ARIL2EFHSHI 946 1,000 NB4
oollarEZ Ab4 0 AB4
THhTHOH Ol AbY 424 141 34,751 389,390
201 LBt2Y| 9,290 9,800 A510
01 At22eld| 6,940 7,450 2510
OollarE 2 A510 0 A510
301 LB AZ 3,400 3,500 A100
10 HALAHI2 A2 1,400 1,500 A100
Ol atE 2 A100 0 A100
401 AlEHIL 20| 395,000 5,000 390,000
01 AI&HI 395,000 5,000 390,000
OgZ Hsti=2HHISA 10,000 0 10,000
OgZ QA== ZBISA 20,000 0 20,000
OgZ =22 IS A 20,000 0 20,000
O A2l s2EE 20,000 0 20,000
Oulig= k2| THAEAE BiI=2 NESSAF 20,000 0 20,000
Oss 22 0222 JUISAt 30,000 0 30,000
O&s= Aolel 42 HUISAF 10,000 0 10,000
OU0t Hat == 84| 15,000 0 15,000
OUot 3t ==&t 15,000 0 15,000
ORZ a&e| 2 HUISAt 30,000 0 30,000
O22 =8| &t =2 FHISAt 15,000 0 15,000
OS2 H=Re|~otde| =2 HUISA 15,000 0 15,000
OZA 2t32l THHRIEAIE HBISA 30,000 0 30,000
Ozd HAllE AETZ HEFIA 30,000 0 30,000
Og4 orgl1el Ol2IXIF THoHRAIEAIE EHIS
A 40,000 0 40,000
OY4d std1e| dEs tie=2 HUISA 20,000 0 20,000
Ogl4 g4el orML2t AXISAL 20,000 0 20,000
O=E THoHRAZAIE SA 30,000 0 30,000
CELURSI| HAIY 27,000 0 27,000
< 4,500 0 4,500
= 22,500 0 22,500
401 AlEHIZL 20| 27,000 0 27,000
[ 4,500 0 4,500
= 22,500 0 22,500
01 AIEHI 27,000 0 27,000
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S ALY
I TGO @ =TS
Pl THTHOHCh 2

(S92
SN - ZH - GRI(E) - HRAY - BES ol&tey plE-L! HImz2
O WA 9,000,000&*370 2 27,000 0 27,000
S 4,500 0 4,500
= 22,500 0 22,500
HED CHNRE2S 20,800 0 20,800
= 2,100 0 2,100
i 18,700 0 18,700
201 LEt2 | 8,800 0 8,800
= 800 0 800
i 8,000 0 8,000
01 AtS2teld 8,800 0 8,800
Ot Estzs =8 23 A 8,800 0 8,800
== 800 0 800
fiis 8,000 0 8,000
202 Oid| 3,000 0 3,000
== 400 0 400
i 2,600 0 2,600
01 SLHOYI 3,000 0 3,000
OetdZstzs =& 3,000 0 3,000
S 400 0 400
s 2,600 0 2,600
301 Let2L=s 9,000 0 9,000
= 900 0 900
i 8,100 0 8,100
10 HAHRHIE &3 9,000 0 9,000
Ottd=zslzs SSAMY &4 24 9,000 0 9,000
= 900 0 900
fiis 8,100 0 8,100
MHHE etMet=Ed 4,000 0 4,000
= 2,000 0 2,000
= 1,000 0 1,000
i 1,000 0 1,000
201 LEt2EH| 4,000 0 4,000
= 2,000 0 2,000
S 1,000 0 1,000
i 1,000 0 1,000
01 At2teld| 4,000 0 4,000
Oe¢tdst=Ed MHAM=s 222 2,000 0 2,000
= 1,000 0 1,000
= 500 0 500
i 500 0 500
OMEUS eHMEt == S4| 2,000 0 2,000
= 1,000 0 1,000
= 500 0 500
fia 500 0 500
Mol XI= &l 8,829,061 350,000 8,479,061
= 3,180,000 0 3,180,000
S 700,000 0 700,000
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S ALY

S THH KO & STsEdst

&2l: Mol X+ &2 (el &)

SN - ZH - GRI(E) - HRAY - BES ol&tey plE-L! HlimE==l
= 791,426 0 791,426
i 4,157,635 350,000 3,807,635
HRE MolAZ X =ZHIAIS 4,394,390 0 4,394,390
= 2,880,000 0 2,880,000
i 1,514,390 0 1,514,390
401 Al&HIZLROHY| 4,394,390 0 4,394,390
= 2,880,000 0 2,880,000
i 1,514,390 0 1,514,390
01 Al&HI 4,254,443 0 4,254,443
OAHSRH Mol IS K FEHIALY 4,254,443 0 4,254,443
= 2,795,237 0 2,795,237
i 1,459,206 0 1,459,206
02 Zteltl 131,700 0 131,700

OAHPE THoHREXFZHIAIY HdHMYZ2ULS

= 131,700 0 131,700
= 79,020 0 79,020
i 52,680 0 52,680
03 Al =0 8,247 0 8,247
OARE Mol RIFXI=ZHIA 8,247 0 8,247
= 5,743 0 5,743
s 2,504 0 2,504
SRAF HH=EFA 200,000 0 200,000
401 Al&HIYLROHY| 200,000 0 200,000
01 Al&HI 200,000 0 200,000
OFAAINESFASE 200,000 0 200,000
EHZLIoH SFRAIE (A HZ2AIA) 164,461 0 164,461
= 154,461 0 154,461
= 10,000 0 10,000
401 Al&HIYLROY| 164,461 0 164,461
L= 154,461 0 154,461
i 10,000 0 10,000
01 AlZHI 164,461 0 164,461
OZE8 2we =S7AMZ 154,461 0 154,461
S 154,461 0 154,461
OZE 2we SPAIY 24| 10,000 0 10,000
EHETIHE 2 (oHE) At 987,150 0 987,150
= 579,456 0 579,456
= 407,694 0 407,694
401 AlIEHIZL S OHEI 987,150 0 987,150
S 579,456 0 579,456
= 407,694 0 407,694
01 AlZHI 987,150 0 987,150
O&EA o= A 16,110 0 16,110
L= 16,110 0 16,110
OEgd o= AH 46,678 0 46,678
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SN AL
I OO ¥ =RseYs
Sl THAHRIB IR ) (B9l =)
A - 3 - SRA(3H) - MM - Oll &+t JIEN HwE2
3 76,678 0 76,678
OUAIE =AY 815,388 0 815,388
3 407,69 0 407,69
= 407,694 0 407,69
OAHE =RAY 63,067 0 63,067
3 63,067 0 63,067
OF2NF STA 21,357 0 21,367
= 21,357 0 21,357
OYYEH 2RA 24,550 0 24,550
3 24,550 0 24,550
BIZLH=R(IIE=R) 30,000 0 30,000
3 30,000 0 30,000
401 AlSHIL S THY| 30,000 0 30,000
= 30,000 0 30,000
01 AI&H] 30,000 0 30,000
OHASLE =AY 30,000 0 30,000
3 30,000 0 30,000
ENZTISH SPARI(0 - ZRAIE) 27,509 0 27,500
3 27,509 0 27,500
401 AlSHIL S THY| 27,509 0 27,500
3 27,509 0 27,500
01 AI&H] 27,509 0 27,500
O221 SRAY 13,259 0 13,259
= 3,259 0 13,259
OL2YAE =AY 14,250 0 14,250
3 14,250 0 14,250
EEXNT SLNBAIE HXIAY 500,000 0 500,000
= 300,000 0 300,000
= 200,000 0 200,000
401 AlEHIL 2 0HY| 500,000 0 500,000
= 300,000 0 300,000
= 200,000 0 200,000
01 AI&H] 496,400 0 496,400
OESX7 S+HBALER 496,400 0 496,400
= 297,840 0 297,840
= 198,560 0 198, 560
03 Al&=CHHI 3,600 0 3,600
OESX7 S+NRALER 3,600 0 3,600
= 2,160 0 2,160
2 1,440 0 1,440
QIEHE! 2-GHOI AL 700,000 0 700,000
s 700,000 0 700,000
401 AL 2 0HY| 700,000 0 700,000
s 700,000 0 700,000
01 AIZH] 695,618 0 695,618
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S ALY

o LG ¥ =SPsAs

el TSHPIEXIT Fb) (=S H-EY

S - B - S9(3H) - HRA - BES ol&ey J|Eo AimE=T
OAETE +oHOZAY 69,618 0 695,618
= 695,618 0 695,618
03 Al 0HH| 4,382 0 4,382
OQUAEHE SoH0ILAIY 4,382 0 4,382
s 4,382 0 4,382
EHXIT THOHOI ALY 1,475,551 0 1,475,551
401 AlSHIL =T 1,475,551 0 1,475,551
01 AIZH] 1,470,258 0 1,470,258
OTUXIT TaHOI LA (S3) 1,470,258 0 1,470,258
03 Al 24| 5,293 0 5,293
OFILAXIT THOHOI ALY 5,293 0 5,293
StEEHl Y StEEs 4,643,901 557,121 4,086,780
2 1,748,610 0 1,748,610
= 140,000 0 140,000
= 2,755,291 557,121 2,198, 170
CEE RN 156,681 157, 121 1440
201 Ler2i| 8.360 8.800 440
01 AFRZ21H] 8.360 8.800 NGO
OnarE A440 0 A440
SHEAIE ALY 810,000 400,000 410,000
401 AlSHIL =T 810,000 400,000 410,000
01 AIZH] 810,000 400,000 410,000
OZgd Jl=He+e S| 180,000 0 180,000
OxSF2d FHIBA 15,000 0 15,000
OMIFE FHIBA 10,000 0 10,000
OOtE HHIBAF 20,000 0 20,000
OLed FHIBA 80,000 0 80,000
O==& FHIZA 80,000 0 80,000
OS2 MAN 45+ otael 10,000 0 10,000
Ogy S MY 5224 15,000 0 15,000
ABHE BHIAY 3,497,220 0 3,497,220
= 1,748,610 0 1,748,610
2 1,748,610 0 1,748,610
401 Al2HIL =T 3,497,220 0 3,497,220
= 1,748,610 0 1,748,610
= 1,748,610 0 1,748,610
01 AIZH] 3,487,803 0 3,487,803

OBrEAGHE 2 304 FHIAY(SSHEHE

Hl) 3,487,803 0 3,487,803
= 1,739,193 0 1,739,193
2 1,748,610 0 1,748,610
03 Al il 9.417 0 9,417
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SN AT
Zal WLoHolY & ZRseYst
ool SIEEH ¥ sz EA (Sr9): 1)
S - T B2I(3) - HIRAIY - BAS 0 et plE<El HlRE2
ObrgLotd ¢ 3HA FOlAe 9,417 0 9,417
2 9,417 0 9,417
SHEDISRI FUIAY 22,000 0 22,000
= 1,000 0 1,000
2 11,000 0 1,000
401 AIZBIL 2T 22,000 0 22,000
= 11,000 0 1,000
2 1,000 0 1,000
01 A&t 22,000 0 22,000
ORISR FHIAY 22,000 0 22,000
= 11,000 0 1,000
2 1,000 0 1,000
SNEES U HEHDI 158,000 0 158,000
= 129,000 0 29,000
2 29,000 0 29,000
401 AIZBIL 2T 158,000 0 158,000
= 29,000 0 29,000
2 29,000 0 29,000
01 A&t 158,000 0 58,000
OXE U 2518 Z4 L H4BA 58,000 0 58,000
= 29,000 0 29,000
2 29,000 0 29,000
OII0IE ABEE| 25,000 0 25,000
= 25,000 0 25,000
Oaslole AstEE| 25,000 0 25,000
= 25,000 0 25,000
OJtS0te ABHEE| 25,000 0 25,000
= 25,000 0 25,000
OYnte AsHEHY| 25,000 0 25,000
= 25,000 0 25,000
HRES (A=) 8,606,869 7,605,798 1,001,071
TESIERES 8,606,869 7,605,798 1,001,071
FLRIR BRAS ALY 8,381,041 7,379,970 1,001,071
701 JIEFEIEES 8,381,041 7,379,970 1,001,071
UPIEEEES] 8,381,041 7,379,970 1,001,071
ORIKT BR40 1Y S HE3 8,381,041 7,379,970 1,001,071
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20138= =& 1 8
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AN = G

LB A

FAEE E A A

2A: SAICIXRI Bt
. HHSHAHI(SAICIAHRID)
chefr QIR (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
S AICI ARl Bt 15,365,736 11,894,561 3,471,175
= 28,500 0 28,500
& 2,142,000 2,142,000 0
= 154,800 0 154,800
o 13,040,436 9,752,561 3,287,875
SHA2HAYI(SAICIAHRI D) 171,295 142,343 28,952
ol 2| 95,115 71,168 23,947
o124d| 95,115 71,168 23,947
101 21244| 91,125 66,968 24,157
01 E= 87,643 63,921 23,722
OAIRII2R4L HHZ(21H) 21,462 18,150 3,312
—53 11,3643 %1 *10AI 2+ 122 1,364 1,321 43
—62 9,6912*4H*10A|I 2123 4,652 5,630 A978
72 8, 743 *5H*10AIZ2H12& 5,253 4,069 1,184
—8= 7,859R*9H+10AIZH12& 8,488 5,479 3,009
—9= 7,1043x2Gx10A1 20128 1,705 1,651 54
O=2e=e 8,754 x21B*30A 2+ 128 66,181 45,771 20,410
02 JIEtE & 3,482 3,047 435
OFEAE(1Y) 3,482 3,047 435
—Z222Y 7,252« 1H*30A12H+ 128 2,611 2,176 435
203 R =&IH| 3,990 4,200 A210
04 FN2ISRFAHI 3,990 4,200 A210
ONlatE 2 A210 0 A210
Jl2Zl 76,180 71,175 5,005
J|l2&| 76,180 71,175 5,005
201 LBH=2| 43,653 42,925 728
01 AtR2telt] 38,297 38,069 228
Ol SHAH & 20,473 17,880 2,593
ONlatE 2 A2,365 0 A2,365
02 3223l 5,356 4,856 500
OMIItsxt B2 500,000 *1CH 500 0 500
202 Odd| 32,527 28,250 4,277
01 =2WHY| 27,397 22,850 4,547
O=UAYI(2LH) 18,388 14,750 3,638
O=3UoibI(=22l) 10,152 8,100 2,052
OollarE 2 A1,143 0 21,143
02 WL 5,130 5,400 A270
OoflarE 2 2270 0 2270
SADHE A 9,008,490 6,981,581 2,026,909
& 2,142,000 2,142,000 0
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S SAICIXRI D
I CADHEALY
CHRl: DAHRIAIL AN (S &)
2A - M G2 () - HRAY - BES Oi &FoH JIEA Hws2t
[ 77,500 0 77,500
z 6,788,990 4,839,581 1,949,409
ZHEAILAS 8,702,273 6,867,235 1,835,038
z 2,142,000 2,142,000 0
< 12,500 0 12,500
z 6,547,773 4,725,235 1,822,538
D2CIHE S 324,735 4,735 320,000
401 AlEH| 22 OHH| 320,000 0 320,000
01 AlZH] 320,000 0 320,000
OZ2A2IHE (HEH) 28 HIEA 300,000 0 300,000
OZHBANE(ER)HAZY 2A 20,000 0 20,000
Atz JHa 1,204,000 1,074,000 130,000
401 AlEH| 2L 2 OHH 1,204,000 1,074,000 130,000
01 Al&H] 1,200, 168 1,070,168 130,000
OB A W2~ AIXI 72 S2IH4(1,095m) 1,194,306 1,064,306 130,000
ZHE 24 653,500 253,500 400,000
401 AlEH| 22 OHH 650,000 250,000 400,000
01 Al&H] 645,710 248,570 397,140
OZsel(YEHY) T2(A23-24) M8 397,140 0 397,140
03 Al 2 CHH 4,290 1,430 2,860
OSse(BSEY) T2(L23-24)14
397, 140,00024%0.72% 2,860 0 2,860
FHEEINA 646,432 394,000 252,432
401 Al&EH| 22 OHH 646,432 394,000 252,432
01 AlZH] 643,615 391,183 252,432
OFHEEMNEANL(BEX R, 2H=d) 643,615 391,183 252,432
SEFXE & 400,000 0 400,000
401 Al&H| 22 OHH| 400,000 0 400,000
01 Al&H] 397,140 0 397,140
Oz ==EFH =X 397,140 0 397,140
03 Al CHHI 2,860 0 2,860
Os SEEFH =X
397, 140,00024%0.72% 2,860 0 2,860
EI0IE FHE2 FH 20,106 0 20,106
401 AlEHI 2L 2 CHH 20,106 0 20,106
01 Al&H] 20,106 0 20,106
OEOIg FHZZ2 FHI(2010~2011E S2) 20,106 0 20,106
SEEADIC~EEERAZ T2 E DA 461,000 161,000 300,000
401 AlEH| 2L 2O 461,000 161,000 300,000
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SA: SAICIXRI
M ZTADHE ALY
Sl ZAHAEAS CERE)
2A - M G2 () - HRAY - BES Of] AboH JIEH HwsZ
01 Al&HI 461,000 161,000 300,000
OE=AEEER2H(UZ21-2) E2EE S
AH(480m) 461,000 161,000 300,000
Moo= ALS 12,500 0 12,500
= 12,500 0 12,500
401 AlZ2HIL20HYI 12,500 0 12,500
= 12,500 0 12,500
01 AIZE] 12,500 0 12,500
OAZEIS 472] Z8S SPTAHEHZIIH) 12,500 0 12,500
& 12,500 0 12,500
HEHHARFX 172,360 110,286 62,074
[ 25,000 0 25,000
= 147,360 110,286 37,074
ASHEARF 55,054 55,320 A266
201 L2 | 3,344 3,520 A176
01 At22teld| 3,344 3,520 A176
OulatE A176 0 176
202 Odb| 1,710 1,800 A0
01 =2WHY| 1,710 1,800 A90
Oul&HE 2 290 0 290
2ANSAMY =& 17,306 4,966 12,340
202 04| 1,140 1,200 260
01 =LHOAHI 1,140 1,200 AB0
OulatE 2 260 0 260
301 LEEAZ 5,000 0 5,000
12 JIEt2 43 5,000 0 5,000
O2Y RSZUIE =H 24 5,000 0 5,000
401 AlZHIZL 20| 7,400 0 7,400
01 Al&HI 7,400 0 7,400
OHIZ &I & X[2H H A 80,0003 *307H 2,400 0 2,400
O8N 2= 500,000 * 1071 2~ 5,000 0 5,000
S&NE FIHEAMY 50,000 0 50,000
& 25,000 0 25,000
= 25,000 0 25,000
401 AIEHIZ 20| 50,000 0 50,000
& 25,000 0 25,000
= 25,000 0 25,000
01 Al&HI 50,000 0 50,000
OSFWHEAHAILH &X 50,000 0 50,000
[ 25,000 0 25,000
= 25,000 0 25,000
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SAM: SAICIARI 2

B G ADHZAY

S9l: TAICIRH EERE)
S - T B2I(3) - HIRAIY - BAS 0 et plE<El HlRE2

SAICIXtQ! 133,857 4,060 129,797

= 40,000 0 40,000

= 93,857 4,060 89,797

S AICIXtR! 3,857 4,060 1203

201 Yete| 1,805 1,900 ~%

01 AFRZ:21H] 1,805 1,900 A%

Ovjl&rE 2t 195 0 1%

202 01t 2,052 2,160 A108

01 =IO 2,052 2,160 2108

Ol INE=ET 108 0 A108

ZRINE AL 130,000 0 130,000

3 40,000 0 40,000

2 90,000 0 90,000

401 Al B2 20HY] 130,000 0 130,000

3 40,000 0 40,000

2 90,000 0 90,000

01 AIZH] 130,000 0 130,000

OCIEER =S 80,000 0 80,000

= 40,000 0 40,000

2 40,000 0 40,000

O=2M |1 SEAQ! FHIAY 50,000 0 50,000

HaE IS2s Y= 5,140,116 3,925,837 1,214,279

=2 28,500 0 28,500

= 77,300 0 77,300

2 5,034,316 3,925,837 1,108,479

DENAILE =5 720,516 507,384 193, 132

= 27,050 0 27,050

z 693,466 507,384 166,082

DSOHEALE M Y B4 693,466 507,384 166,082

201 2t ey| 111,882 95,800 16,082

01 AfRZ:2/H] 4,282 5,000 AT18

Ovjl&rE 2t AT18 0 AT18

02 2B 107,600 90,800 16,800

OZB22 % A 57,600 40,800 16,800

—~DENSS ¥ FES WI| A8E

3,000,0002! 128 36,000 19,200 16,800

401 Al B2 2 0HY| 581,584 431,584 150,000

01 AlZH 580,000 430,000 150,000

OLSOHHAILE (BAIZS) X L DA 40,000 30,000 10,000

OHE U XBPS OV X L 85K 340,000 220,000 120,000

OAIIXI R E (SRS 2 9521) 100,000 80,000 20,000

WEON AlEZ MoH=TAS 27,050 0 27,050
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S A

X ZH -
o= -

S AICI AR 2t

d=& usS=s d5

&Rl NSCHNAIEE =E (el &)

S - T - SRI(SH) - HRA - BES 0 apot pE-L AimE=T
= 27,050 0 27,050
401 AIEHIZL 048I 27,050 0 27,050
= 27,050 0 27,050
01 Al&HI 27,050 0 27,050
OXSSE L WEEXE SASAHEHSIIGH) 13,300 0 13,300
L= 13,300 0 13,300

OZES BAES nSAEAIEE SPSAHEL

Z0I5H) 13,750 0 13,750
S 13,750 0 13,750
M2EEN SHE 4,298,419 3,296,019 1,002,400
= 28,500 0 28,500
& 50,250 0 50,250
i 4,219,669 3,296,019 923,650
ME XA 1,846,419 1,796,019 50,400
301 et2Bag 900 0 900
10 SALAHI2 A4S 900 0 900
O2+3AMA U=F 1,500&*600H 900 0 900
402 2I2EXHE0I1 A 49,500 0 49,500
01 QI EEX 49,500 0 49,500
O3GHA XA 49,500 0 49,500
U i S=RUNI=| 2,323,000 1,500,000 823,000
307 SI2H0I A 2,323,000 1,500,000 823,000
09 2+HHELS 2,323,000 1,500,000 823,000
OXtsAt 2+ KIE4AH 2,323,000 1,500,000 823,000
SEHA 2 KRAAMS 72,000 0 72,000
L= 36,000 0 36,000
= 36,000 0 36,000
402 212EXH201 M 72,000 0 72,000
S 36,000 0 36,000
i 36,000 0 36,000
01 BIMNEEX 72,000 0 72,000
O2gHA 72 XIZAHY 72,000 0 72,000
= 36,000 0 36,000
= 36,000 0 36,000
CXE 2HIISEX EHXH 57,000 0 57,000
= 28,500 0 28,500
= 14,250 0 14,250
i 14,250 0 14,250
307 BI2H0I& 57,000 0 57,000
= 28,500 0 28,500
= 14,250 0 14,250
= 14,250 0 14,250
09 2+HELS 57,000 0 57,000
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S A

X ZH -
o= -

S AICI AR 2t

d=& usS=s d5
£

Gl HUSSEM & (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
OtIXg 2#IISTX A=A 57,000 0 57,000
= 28,500 0 28,500
& 14,250 0 14,250
= 14,250 0 14,250
wWEHE N= 121,181 102,434 18,747
HALE WESKIA 28,000 25,783 2,217
201 L2 2| 17,398 14,623 2,775
01 At22teld| 11,275 8,500 2,775
O#AIE WEXE 22=(Z)1) 7
40,0002 =80+ 15 3,200 0 3,200
OoflarE 2 2425 0 N425
301 LEIEAZ 10,602 11,160 A558
10 EARHIEAZ 10,602 11,160 A558
OulatEZ A558 0 /558
=Y FEI =5 55,051 42,221 12,830
201 LEH2 | 40,830 28,000 12,830
01 At22teld| 16,230 3,400 12,830
OXt=xt WEHZ CIOIEHIoNA eSSt T2
=N 13,000 0 13,000
ONlatEZ A170 0 A170
ASA2ESEL Xl 38,130 34,430 3,700
201 2| 29,430 28,430 1,000
01 At22teld| 4,350 3,350 1,000
OXtsxt UEHE MEXtE XIS WM& 500 0 500
OALSH 0Dt X XS M 500 0 500
202 04| 5,700 6,000 A300
01 SLHOYI 5,700 6,000 A300
ONlatEZ A300 0 A300
405 KHAHE S| 3,000 0 3,000
01 ML 2EFHSHI 3,000 0 3,000
OXtsxt 858 g e gxA3e
3,000,000 = 1CH 3,000 0 3,000
SR=AIAS 1,045,835 844,800 201,035
SEEEAMS 1,045,835 844,800 201,035
ZHEEZ FAE> 412,580 221,500 191,080
401 AlEHIZL 048I 411,080 220,000 191,080
01 Al&HI 410,000 220,000 190,000
O22z &= FUISA 150,000 0 150,000
OADIXI &2 AUtE 16,000, 0002 *5IH 2 80,000 60,000 20,000
OAIIHAI &2 TM 2T 100,000 80,000 20,000
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SAM: SAICIARI 2

Ha: DR=TIAY
ol BRATHAY (Er9): &)
A -3 - SRA(ZH) - MRAY - BES Ol &FoH JIEH HwsZ
03 A= CHE] 1,080 0 1,080

0222 2T IIBA
150,000, 00021%0.72% 1,080 0 1,080
IETSIVES 633,255 623,300 9,95
201 B2 ] 511,355 511,400 A5
01 AFR22IH] 865 900 A5
OvAE2 A5 0 A5
401 AlZEI LS TH] 92,000 82,000 10,000
01 Al&H] 92,000 82,000 10,000
O2HTO| OISCI2 ARl Hors &b 5,000 0 5,000
OZ2A 22X JH2S FH| 5,000 0 5,000
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N = 0l & AHSE B Al M

20138 =& 1 3 LetsH M
B 2AA
M AI2IIHI(E22H)
el Q23| (et &)
A - FH - GR(3H) - NRAY - BES Ofl &tk IEH HuESZ
2 5,466,416 4,879,052 587,364
2 329,786 351,326 ~21,540
7 973,873 876,706 97,167
= 327,669 309,053 18,616
s 3,835,088 3,341,967 493,121
HY2AIHI(E2HL) 800,756 766,550 34,206
I EE| 422,842 376,442 46,400
ukals] 422,842 376,442 46,400
101 e124d] 3%4,576 348,362 46,214
01 E== 158,757 139,476 19,281
OAlZte| 284 ZHZ(56E) 60,641 59,733 908
—53 11,3642+ 12+ 10AI2H 12 1,364 1,321 43
—62 9,691+ 17 10AIZH 12 19,770 19,142 628
—7= 8,75431x35EH*10A12H 128 36,767 36,617 150
—8= 7,850 %2 *10AI2Hx 123 1,887 1,827 60
—9= 7, 1043 %1+ 10A12H 123 853 826 27
Ozxu=z22sd 98,116 79,743 18,373
—2AL 8,754 *30&*30A1 2+ 12E 94,544 76,284 18,260
-2, S 8, 754 17 H=2AI 212 3,672 3,459 113
02 JIEt=E 4= 217,558 190,625 26,933
OSSEHIAHEZYR) 213,120 186,720 26,400
-2 800,000 x6E*12& 57,600 50,400 7,200
g taDN E 800,000 x16H*12& 153,600 134,400 19,200
OH= (0Fs,1E 956 858 98
—AZtel2R4E 7,9613*18x10A12t 123 956 858 98
OFHZZE(1E) 3,482 3,047 435
— =2 f=E 7,252 % 1&8*30AI1 2t 123 2,611 2,176 435
203 g4 7,866 8,280 N414
02 HAOKHR=AH| 2,280 2,400 2120
OollarEz A120 0 A120
04 FEANEIHRFAYI 5,586 5,880 avies
Oollar =2 1294 0 N294
204 22| 20,400 19,800 600
03 SR 18,600 18,000 600
OtjelgSH| 50,000&*31F+12& 18,600 18,000 600
dhl 377,914 390,108 12,194
=34 285,024 294,923 29,899
201 Yek2 | 143,789 144,455 1666
01 AtR2t2lHl 59,966 64,032 14,066
OSgH| S9Ae 35,146 36,010 A\BB4
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AN B4
i SHHIAHI(E2HL)
o2l D23 (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
Ol atE 2 A3,202 0 A3,202
02 2223l 83,823 80,423 3,400
O3323 & MA 44,223 42,823 1,400
—24EXE BEZ 5,100 4,600 500
HINSKEES L SAL4(10H) 500 0 500
—2AL ol 450,000 *23] 00 0 900
OAld &l SXldl 6,776 4,776 2,000
— 8240l 224 (SIHl6H) 2,000 0 2,000
202 Ot 107,227 116,460 29,233
01 =LHOAHI 43,627 46,860 23,233
O=LHoBI(2LH) 27,574 28,780 A1,206
O=3Uolbl(=22l) 17,39% 18,080 A684
OularE 2t 21,343 0 21,343
02 NI 63,600 69,600 6,000
OollarE 2 26,000 0 26,000
Jl2gdul(82AX4) 92,890 95,185 A2,295
201 Ler2ZH| 72,886 73,385 A499
01 At22teld| 9,462 9,961 A499
ONlatEZ A499 0 A499
202 o4t 14,640 15,840 21,200
01 =LHOHI 14,640 15,840 A1,200
OollarE 2 21,200 0 21,200
405 KHAHE SHI 5,364 5,960 A596
01 ML 2EFSHI 5,364 5,960 FANGI®'¢
OoflarE 2t 2596 0 NG
22012 28 L AASIAHIA 4,665,660 4,112,502 553,158
= 329,786 351,326 A21,540
J| 973,873 876,706 97,167
& 327,669 309,053 18,616
o 3,034,332 2,575,417 458,915
S0z dlA XA 519,001 389,971 129,030
= 226,012 226,012 0
Il 91,700 700 91,000
= 76,003 56,503 19,500
i 125,286 106,756 18,530
SAHOSHE L MHIADIBIRHF 32,840 33,340 A500
201 2| 3,540 4,040 A500
01 AtR2telt] 2,740 3,240 A500
Oufl et 2t 2500 0 2500
S Z Al IS AL 11,143 11,613 AN470
201 B2 | 2,200 2,500 A300
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B 2AA
S P01 29 L HLYSEAMYIA
&l BAoSAHIA XA (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
01 AtR2t2lt| 2,200 2,500 A300
Ol 2 A300 0 A300
405 AR S| 1,530 1,700 A170
01 AL =SEFHSHI 1,530 1,700 A170
OularE A170 0 A170
XS 2OMAT2Y 131,000 1,000 130,000
J| 91,700 700 91,000
= 19,500 0 19,500
iy 19,800 300 19,500
401 AlZHIL20HY| 130,000 0 130,000
| 91,000 0 91,000
< 19,500 0 19,500
o 19,500 0 19,500
01 Al&H| 129,064 0 129,064
OHES0|E EDAFE HE 129,064 0 129,064
Jl 90,344 0 90,344
= 19,360 0 19,360
iy 19,360 0 19,360
03 AIE20b| 936 0 936
OHES0 T eDAFE HE 936 0 936
J| 656 0 656
< 140 0 140
= 140 0 140
HEH g & ook 22| 376,771 343,252 33,519
= 53,831 75,371 21,540
D) 13,436 14,741 21,305
= 18,603 19,254 651
iy 290,901 233,886 57,015
24 Mgy 22| 29,500 19,300 10,200
201 LBr2AHH| 3,000 3,400 A400
01 At22teldl 1,800 2,200 400
Ol 2 A400 0 2400
206 =8| 20,500 9,900 10,600
01 =4l 20,500 9,900 10,600
O2EHEE ol 20,500 9,900 10,600
—RFOI2AIE0E JIOH 7
3,000&%3,5000H4 10,500 4,500 6,000
—HSELAS HEEA 2
2,000&*5,0007H 10,000 5,400 4,600
oty MY 22| 24,620 23,690 930
201 LBH23Y| 2,375 2,550 AN V()
01 AtR2t2lt| 1,575 1,750 N175
Ol atE 2 A175 0 A175
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S A
K| ZH -
(=

&l

SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
202 04| 2,280 2,400 A120
01 =LHOHI 2,280 2,400 A120
OulatE2 A120 0 2120
301 LEBAS 1,100 1,300 A200
10 EARHIEAS 1,100 1,300 A200
OulatEZ 2200 0 2200
405 KHAHE SHI 2,925 1,500 1,425
01 XA =S SFHSHI 2,925 1,500 1,425
OZ&al II|aR)| dx(lWezE 8) 3,000 1,500 1,500
OoollarE 2 AT5 0 AT5
YAHAALS 220,192 174,024 46,168
101 21244| 4,706 4,321 385
04 DI H22SEs 4,706 4,321 385
OMEE = 4,278,000&*10% 428 43 385
201 LEr2 2| 28,534 28,551 A7
01 AtR2telt] 333 350 A7
OollsrE 2 A7 0 A7
206 M= 4| 161,602 115,552 46,050
01 M=zl 161,602 115,552 46,050
OX=2¢at NJAZE LIAUSE 149,202 103, 152 46,050
—=SEASH 30,000 *1 £ *307 4 &+93] 82,890 36,840 46,050
405 KHAHE SHI 25,350 25,600 A250
01 ML 2EFHSHI 25,350 25,600 A250
OoflarE 2 2250 0 2250
LEAEE olg2el 9,513 9,142 3n
| 4,571 4,571 0
& 4,572 4,571 1
i 370 0 370
101 @1244| 4,113 3,742 371
J| 1,871 1,871 0
= 1,872 1,871 1
o 370 0 370
04 JIZtHI22AS 2+ 4,113 3,742 371
Ooggdas olgael 3,743 3,742 1
| 1,871 1,871 0
= 1,872 1,871 1

OgAs o2 JI2tH 22X 282

185,000 *2H 370 0 370
22| AIS 12,820 15,430 A2,610
| 6,410 7,715 21,305
& 3,205 3,857 AB52
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2 BHA
M S| 28 L HASAAHIA
o MY olg & oer e (St X))
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
o 3,205 3,858 A\B53
202 o4H] 780 2,890 A2,110
J| 390 1,445 21,055
= 195 722 NB27
= 195 723 N528
01 2LH04Y| 780 2,890 A2,110
OZsHog AR Faiae| 780 2,890 A2,110
J| 390 1,445 1,055
== 195 722 NB27
= 195 723 N\528
307 2IZt01A 5,960 6,460 AB00
J| 2,980 3,230 A250
< 1,490 1,615 A125
= 1,490 1,615 A125
01 222 =H| 2,500 3,000 AB00
OZsHae| BAAIE 500 1,000 AB00
J| 250 500 A250
& 125 250 A125
= 125 250 A125
SHAIQITIIBHAFA T GH AL MEHX| A= KIRAAFS 32,460 54,000 221,540
= 32,460 54,000 A21,540
301 LEtEA= 32,460 54,000 A21,540
= 32,460 54,000 221,540
01 AR E&E & 02 32,460 54,000 21,540
OSHAIOITI G A TLIGHA MHEHXRZ2 32,460 54,000 21,540
= 32,460 54,000 21,540
SEEAHAIA 1,081,890 1,049,460 32,430
= 12,247 12,247 0
Dl 485,304 472,670 12,634
< 43,527 39,027 4,500
o 540,812 525,516 15,296
ols2da 29 6,490 6,750 260
201 LEH2HY| 2,170 2,400 A230
01 At22teldl 1,170 1,400 A230
OularE 2 A230 0 A230
301 LEtEA= 570 600 A30
10 SHALAIHIE A2 570 600 N30
Ol atE 2 A30 0 A30
SEEAHAIA 69,610 65,650 3,960
101 2124d| 47,520 43,200 4,320
04 JI2tHIZ22XNsEE S 47,520 43,200 4,320
OSEHLSEAY J|2BE BE23
,160,000&*17H 36,720 32,400 4,320
201 LEt2HAH| 6,498 6,840 N342
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B 2AA
M P02 28 L HLSEAHIA
SR UEREAHAS (CH9): HSl)
SN - ZH - GRI(E) - HRAY - BES ol&ey plE=L! HlmE2
01 AtR2t2lt| 6,498 6,840 A342
OulatE2 N342 0 N342
202 o4H] 342 360 N 18
01 2LHOH| 342 360 A18
Ol atE 2 A18 0 A18
OFY A S 22 ALY 5,965 4,763 1,202
307 Q20| A 4,813 3,563 1,250
01 2 22RZH| 4,813 3,563 1,250
GL2INEPI-TFEIN=1= LN 25,0003 %1002 2,500 1,250 1,250
405 RHAEEISHI 1,152 1,200 A48
01 A 2EFSHI 1,152 1,200 A48
OullarE 2 A48 0 A48
HABAHEHSS 182,600 152,600 30,000
J| 91,300 76,300 15,000
= 27,390 22,890 4,500
= 63,910 53,410 10,500
307 Q20| ™ 182,600 152,600 30,000
J| 91,300 76,300 15,000
= 27,390 22,890 4,500
= 63,910 53,410 10,500
05 DIZtRIEr= 182,600 152,600 30,000
OFMBAHMEHEZY 182,600 152,600 30,000
J| 91,300 76,300 15,000
= 27,390 22,890 4,500
= 63,910 53,410 10,500
X0 XIS 228l XI&ArS 89,890 94,622 N4, 732
J| 44,945 47,311 N2,366
= 44,945 47,311 N2,366
403 MXIHMSA=01H 89,890 9,622 N4, 732
J| 44,945 47,311 N2,366
= 44,945 47,311 2,366
02 SI|2ASOICHSICHEAFIE] 89,890 94,622 N4, 732
OXIOH2EMIH] K& AFS 89,890 94,622 N4, 732
J| 44,945 47,311 A2,366
= 44,945 47,311 N2,366
sgtojsrutets] (M) 4,235 1,975 2,260
201 L8H23H| 3,275 1,375 1,900
01 Ar22t2ldl 3,275 1,375 1,900
OSgostdes =82 29 3,275 1,375 1,900
—E52 N 2,000 *1,000H 2,000 600 1,400
—ga SSNE JAl & EE
50,000&x10 500 0 500
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B 2AA
I 22012 29 & ATSTAHIA
CHel LR2EAAY (et &)
A - FH - GR(3H) - NRAY - BES Ofl &tk IEH HuESZ
202 04| 960 600 360
01 =LHALI 960 600 360
OSgolstetgs 22X
60,0002 x2&+8 960 600 360
NSALe] SSALSTAY 605,626 605,626 0
Jl 302,813 302,813 0
z 302,813 302,813 0
101 el24d] 334,380 334,080 300
7l 167,190 167,040 150
= 167,190 167,040 150
04 JIZtH22 RS2+ 334,380 334,080 300
Ot AAHUSTALIIZHNIZ 2K 08|
60,0002 x5! 300 0 300
Jl 150 0 150
[ia 150 0 150
201 k=& 112,606 112,606 0
7l 56,303 56,303 0
= 56,303 56,303 0
01 At22teld] 108,226 105,226 3,000
OEAAAZANUS Z208 2P (LA, 22
Hl) 100,00024*302! 3,000 0 3,000
Jl 1,500 0 1,500
= 1,500 0 1,500
03 &A=& H] 4,380 7,380 A3,000
SAALBAUS T2 2L (LA, 29
BI) 0 3,000 23,000
7 0 1,500 21,500
= 0 1,500 1,500
301 et = 19,300 19,600 A300
Jl 9,650 9,800 A150
s 9,650 9,800 A150
10 AAIH|I2at= 19,300 19,600 A300
OXN SN SHHEAIG 24 2,000 %305 610 2,500 1,890
Jl 305 1,250 A945
= 305 1,250 2945
OXSAISI SETHEAY SAH
7,000 %152 183 1,890 0 1,890
Il 945 0 945
= A5 0 945
OstootAAEx T2 O 2HAl
2,0003 50572 5,700 9,500 23,800
Il 2,850 4,750 21,900
i 2,850 4,750 21,900
OstooAAST T2 O SAI
7,000& 502102 3,500 0 3,500
Il 1,750 0 1,750
= 1,750 0 1,750
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S A

A
. 2A
El

S AN (S &8)
2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
OB2AAIE ZaUlsl ZAXE 2+AH|
1,500& *30H +103] 450 1,500 21,050
J| 225 750 N525
= 225 750 A\b25
OB2AAIE ZaUlsl &AX 24|
7,000 *30H 53] 1,050 0 1,050
J| 525 0 525
= 525 0 525
AEAHEL| 97,545 96,854 691
J| 46,661 46,664 A3
iy 50,884 50,190 694
L EH2e A 4,223 3,525 698
201 LEt2HAY| 1,250 500 750
01 At22t2ldl 1,250 500 750
ORLBAHIY SAI=X B2 722
1,500&*500H* 15 750 0 750
301 LEtB A= 473 525 aNeYA
10 ALAIHIE &2 473 525 VANGYA
Ol atE 2 A52 0 N
SOl OIX|E & A 90,322 90,329 Vav4
Dl 45,161 45,164 A3
iy 45,161 45,165 N4
307 2I2t01A 90,322 90,329 NT
Dl 45,161 45,164 A3
iy 45,161 45,165 N4
01 222 =H| 90,322 90,329 N7
OL0Io X S H A (M2 XI75HI014L) 2,772 2,779 AT
J| 1,386 1,389 A3
i 1,386 1,390 A4
AL SEAS 124,404 122,304 2,100
Dl 23,727 23,727 0
= 30,000 30,000 0
7 o 70,677 68,577 2,100
AU MEARALS 16,950 14,850 2,100
201 LEt2AY| 14,100 12,000 2,100
01 AtR2t2ldl 14,100 12,000 2,100
OBHAY HAls 24X I8 22
80,000&*30H 2,400 0 2,400
OB HAIY FAHHSE| &I J|IXHH 2L
20,000&*30Y 600 0 600
OularE 2 A900 0 A900
SAEHAS 1,768,584 1,623,499 145,085
= 37,696 37,696 0
J| 191,856 192,015 A159
= 117,239 120,472 N3,233
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M BAL
M S| 29 U ALSTAUIA
Sl BXEAMY (=S k)
SA - ZH . GA(SH) - HRAY - B82S Oi &K JIEA HwsZ
= 1,421,793 1,273,316 148,477
AR AR0F ALl 1,012,770 1,007,450 5,320
201 L2 | 6,250 4,250 2,000
02 3223l 2,000 0 2,000
ORti< J20ds BEZIH FAE= 2,000 0 2,000
307 SI2H0| A 13,320 10,000 3,320
01 2 =2L+=H| 13,320 10,000 3,320
OUERE & HHIRF AZZE Al FY 3,320 0 3,320
Y SAY 160, 182 38,100 122,082
201 LEH2 | 2,700 600 2,100
NCEEE 2,700 600 2,100
OQIZR0X} LTS SAX S4l]
7,000&*10Z*30 2,100 0 2,100
301 LBIEAZ 1,000 0 1,000
12 JIEt243 1,000 0 1,000
OBCGS O1&BISXt XIZEAS3 200,000&+5H 1,000 0 1,000
307 QI2to1 & 141,482 37,500 103,982
01 22L=H| 132,482 37,500 9,982
OR2HLEEAS 130,982 36,000 94,982
—QIER0ITH(F2) 56,000 0 56,000
-0y W72 6,750 * 11,550 x50% 38,982 0 38,982
05 RIIREZ 9,000 0 9,000
OASZHE oig&SHl XA
30,0002 * 100 *33] 9,000 0 9,000
405 THAEE SHI 15,000 0 15,000
01 At S SFSHI 15,000 0 15,000
OHANMZHZD F 15,000,000 *1CH 15,000 0 15,000
Al HEES 107,500 108,432 A932
| 53,750 54,216 A466
& 26,875 27,108 A233
= 26,875 27,108 A233
307 QI2t0|H 107,500 108,432 A932
J| 53,750 54,216 A466
& 26,875 27,108 A233
i 26,875 27,108 A233
01 A=Y =H| 107,500 108,432 A932
O8I 83,764 84,696 A932
| 41,882 42,348 A466
& 20,941 21,174 A233
= 20,941 21,174 A233
SHE A0 2=SHIXIR 144,000 150,000 6,000
& 72,000 75,000 3,000
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B 2AA
I8 22012 29 & AISTAHIA
el 2XEAAIY (et &)
A - 3 HA(ZH) - HRAY - BES Ofl &tk IEH HuESZ
o 72,000 75,000 A3,000
301 eI A= 144,000 150,000 26,000
= 72,000 75,000 23,000
= 72,000 75,000 /3,000
01 ABI2E A =5= 144,000 150,000 26,000
Os0E ot 2=H| XA 144,000 150,000 6,000
= 72,000 75,000 23,000
= 72,000 75,000 23,000
R0 AFEOIYS A2 A 33,978 32,248 1,730
7l 16,989 16,124 865
= 16,989 16,124 865
307 glztolA 33,978 32,248 1,730
D) 16,989 16,124 865
z 16,989 16,124 865
01 22X F2H] 33,900 32,156 1,744
O &Ed A0l ZAF & 80t 11,606 10,820 786
Il 5,803 5,410 393
s 5,803 5,410 393
Ol 0t U HESA 694 936 N242
Il 347 468 A121
= 347 468 A121
O0l=0t & &d&H0I&0t 2 ZHIXIA 21,600 20,400 1,200
l 10,800 10,200 600
= 10,800 10,200 600
05 BIZt?IE = 78 92 A4
Odldor F2HEHAL S 24| 78 R2 A4
7l 39 46 VAV
= 39 46 AT
HLES SSHEHEZY 21,555 21,554 1
Jl 10,778 10,778 0
= 10,777 10,776 1
101 2244 21,555 21,554 1
p) 10,778 10,778 0
= 10,777 10,776 1
04 JIZHNI22 XS24+ 21,555 21,554 1
OugEs SEUE=2Y 21,555 21,554 1
7 10,778 10,778 0
= 10,777 10,776 1
go|E ZSH 122,608 99,724 22,884
p) 49,304 49,862 558
[ 73,304 49,862 23,442
307 glztolA 122,608 99,724 22,884
7l 49,304 49,862 A558
= 73,304 49,862 23,442
01 2=, =H| 122,608 99,724 22,884
Ogoa g3 98,608 99,724 A1,116
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B 2AA
I8 22012 29 & AISTAHIA
el 2XEAAIY (et &)
A - FH - GR(3H) - NRAY - BES Ofl &tk IEH HuESZ
Jl 49,304 49,862 /558
= 49,304 49,862 A\558
Ogold FEHI(XXH £E) 24,000 0 24,000
KHEAAS 251,138 260,898 N9, 760
Jl 121,189 126,189 5,000
= 42,297 43,797 21,500
= 87,652 90,912 A3,260
e At 2=l XIZ AR 175,561 185,561 210,000
D) 87,781 92,781 25,000
= 26,334 27,834 21,500
= 61,446 64,946 3,500
307 glztolA 175,561 185,561 A10,000
Jl 87,781 92,781 5,000
s 26,334 27,834 21,500
= 61,446 64,946 23,500
01 22X+ =l 175,561 185,561 210,000
O&xt Xzl K& 175,561 185,561 A10,000
7l 87,781 92,781 25,000
= 26,334 27,834 1,500
= 61,446 64,946 A3,500
Lol ABXHAH (2D) 5,041 4,801 240
= 4,081 4,081 0
s 960 720 240
301 Et2d= 240 0 240
10 AMAHI 284S 240 0 240
O QlAHARE HEIX} 24 2,000&+120H 240 0 240
2H4 =LA 164,160 16,960 147,200
2A4 UMY 164,160 16,960 147,200
307 giztol™ 164, 160 16,960 147,200
01 22X T2 164, 160 16,960 147,200
O=g HEES 4= 74,160 16,960 57,200
— QISR HLES 43
8,000& 7,000 56,000 0 56,000
—BE2E HYESE 4= 4,000 *300& 1,200 0 1,200
OEAXNANZAF 90,000 0 90,000
—LUET} AgoE & ARS 90,000 0 90,000
2ATZA +AUHZLI 282,167 209,304 72,863
A=A 2 282,167 209,304 72,863
201 fEH=2 ] 101,334 102,834 21,500
01 AtR2t2|H] 23,400 24,900 21,500
Oolla =2 1,500 0 A1,500
301 et = 2,593 2,730 VAN 74
10 YAHAHI 2 4= 2,593 2,730 VAN 74
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N = O &

-

20138 = =& 1 3] LS| &l

AP & A A

2N s2II=SHEH
M HY2AGH(sLII=HH)
e ol RAEY| (e ®d)
2A - M G2 () - HRAY - BES Ol Akt J|EH Hws2
SeI|=HIH 4,509,223 3,740,460 768,763
= 885,685 786,585 99,100
= 173,000 173,000 0
= 237,418 98,318 139,100
= 3,213,120 2,682,557 530,563
HY2HAH| (=S I=46H) 359,491 316,685 42,806
ol 2| 206,615 163,699 42,916
Q124 206,615 163,699 42,916
101 QI24H| 173,786 130,279 43,507
01 2=+ 133,806 109,744 24,062
OAZII2R4E HHZ(32Y) 34,918 32,684 2,234
=, 11, 1952«2* 10A| 2+ 12& 2,687 2,602 85
-5 11,3642« 1 *10A| 2+ 12& 1,364 1,321 43
— A 9,341 * 1Y+ 10AI2H 123 1,121 1,086 35
—XSAH21S20(4})
9, 1392x12H*10A| 2++12& 13, 161 12,742 419
—XZ=AH2052015t)
8,564 *11H*10AI2++12& 11,305 10,946 359
—6= 9,6912x2H*10AI 2123 2,326 1,126 1,200
—73 8,7543x2H*10AI 2t 128 2,101 2,035 66
-9 7,1042+ 18 *10A 2+ 12& 853 826 27
Ox22Y 8,584 *32H*30A 2++ 12E 98,888 77,060 21,828
02 JIEtE B 2,851 2,274 577
OA2%=!(0+2, 1Y) 2,851 2,274 577
— N2 2R BHUZ)
5,938 * 1+ 10A|2++12& 713 650 63
—Z22=g 5,9383*1H*30A| 2t 128 2,138 1,624 514
03 SIAHA2Z =2 N2 = 37,129 18,261 18,868
OArR&(2%) 37,129 18,261 18,868
-= = 40,4003 *2H*250 20,200 10, 100 10,100
—&03 40,4002 *2H+100 8,080 4,040 4,040
— N2 2R BHZ)
5,050 *2H*10AI2H 123 1,212 606 606
—F=5R==Y 40,4002 *2H+523= 4,202 2,101 2,101
—dieasd 40,4003*2H* 12 970 404 566
—gd=2ey 60,6003 *1H*24 1,455 0 1,455
203 AR=&IH| 11,229 11,820 2591
01 J|2A2ILRFA| 3,135 3,300 2165
Oollara 2 A165 0 165
02 BRIMLSFEI| 1,254 1,320 A\66
OollsrE 2 266 0 A6
04 EM2IERFEHI 6,840 7,200 360
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2A: sellsdH
X

MM HEL2ARH|(SYIIEHH)

o9 oA (Erel:E)

2 - F3® - H2A(ZH) - HI2AY - HES 0ff Ao J| &M Hlus2
‘ ‘ OOl AR A360 0 A360
J|2&| 152,876 152,986 A110
J|=2AH| 152,876 152,986 A110
201 LBt23Y| 9%, 191 95,306 885
01 AtR2t2lH| 58,141 57,256 885

OsI|HLHAIE A LRI4E

60,0002« 12+602 3,600 0 3,600
O3 SHH & 26, 164 25,300 864
Ol atEZ A3,579 0 A3,579
202 0iH| 56,685 57,680 995
01 2LHodH| 47,565 48,080 515
O=Z2LHOHI (2tLH) 32,906 31,700 1,206
O2U0HI(=22l) 17,064 16,380 684
OollatE 2 A2,405 0 A2,405
02 M0 9,120 9,600 2480
Ol atEZ A480 0 A480
SesE AT 4,149,732 3,423,775 725,957
= 885,685 786,585 99, 100
Z 173,000 173,000 0
[ 237,418 98,318 139,100
o 2,853,629 2,365,872 487,757
SEXCIIBEN 511,697 445,298 66,399
= 0 8,400 28,400
z 38,000 38,000 0
[ 19,650 22,950 23,300
= 454,047 375,948 78,099
SEXSI|EEY 76,000 76,000 0
Z 38,000 38,000 0
o 38,000 38,000 0
401 AI&HIZL 200 40,000 0 40,000
2 20,000 0 20,000
=2 20,000 0 20,000
01 Al&HI 39,600 0 39,600
Ozg=24 4X 39,600 0 39,600
& 19,800 0 19,800
= 19,800 0 19,800
03 A& 20| 400 0 400
Oz=3sl=24l 400 0 400
= 200 0 200
= 200 0 200
405 Kt SH| 36,000 76,000 240,000
= 18,000 38,000 A20,000
= 18,000 38,000 220,000
01 ML EEFSH| 36,000 76,000 240,000
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S A

I‘iiH:

Il Mg
\—04\— HADKE

SesST

Sl EERXEIIBHES (91 HE)
2A - M G2 () - HRAY - BES Oi &K JIEA HwsZ

OZZHLEY 7L 36.000 76,000 40,000

& 18,000 38,000 A20,000

= 18,000 38,000 220,000

stel=setets =8 X 13,773 14,300 NB2T7

== 7,150 7,150 0

i 6,623 7,150 AB27

201 B2 | 3,473 4,000 A527

& 2,000 2,000 0

2 1,473 2,000 527

01 At22teld| 3,473 4,000 AB27

Ooflar= 2 527 0 NB27

sHolaEs 29 67,606 66,800 806

301 LEBE NS 900 0 900

10 EAAHIEA= 900 0 900
OYHsAtLs 44Xt 24

1,500 2«30 *23]* 100 2 900 0 900

405 THAEE SHI 6,106 6,200 A

01 XA S SFHSHI 6,106 6,200 AA

OollsrE 2 294 0 A4

sENCSAME =& XN & A 29 202,268 154,148 48,120

101 C1244| 11,064 7,299 3,765

04 JIZtHI22ASE =+ 11,064 7,299 3,765
OFArZe| & Meta 2g)

42,7802 x2 B2 U523 8,899 5,134 3,765

201 LEH2 | 146,864 102,339 44,525

01 At22t2ldl 9,025 9,500 YAV:V(S)

OlllarEZ A4T75 0 N4T75

02 Z=24| 137,839 92,839 45,000

O3=2a ¥ HAl 50,660 5,660 45,000

—Sssgolay xel Ald dX 5,000 0 5,000

—AMP4 AUS LED WAl 40,000 0 40,000

202 o4d| 1,140 1,200 60

01 =W 1,140 1,200 AB0

Oul&HE 2 260 0 280

405 RHAEE SHI 2,090 2,200 A110

01 XL =2SFHSHI 2,090 2,200 A110

OollarE 2 A110 0 A110

hetel= =YHetets X 15,550 10,550 5,000

206 M4 5,000 0 5,000

INEE] 5,000 0 5,000
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S A

I‘iiH:

Jl=diE

Z%*;_ AR

o SEXC|BEA EERE))
A - FM . S(SH) - MEAIY - BES Oil AboH JIHH HnE2
‘ OetE FHAESRH| 27 5,000 0 5,000
AsHERAAS 31,000 48,000 A17,000
=2 0 8,400 18,400
[ 12,500 15,800 A3,300
2 18,500 23,800 25,300
201 LBr2dy| 2,800 0 2,800
[ 1,400 0 1,400
2 1,400 0 1,400
01 Al2Z2IH] 2,800 0 2,800
O2GH AsDSM SZNS TR}
700,000 %22 %235 2,800 0 2,800
[ 1,400 0 1,400
2 1,400 0 1,400
301 LBH AR 9,200 12,000 22,800
[ 4,600 6,000 21,400
= 4,600 6,000 21,400
10 BAIAIH B A2 9,200 12,000 A2,800
2CH JsNSM SHTNS 9,200 12,000 A2,800
[= 4,600 6,000 21,400
= 4,600 6,000 21,400
402 QIZHRHE0| A 15,000 32,000 A17,000
2 0 8,400 18,400
[ 4,500 7,800 23,300
2 10,500 15,800 25,300
01 DI2IXIEE X 15,000 32,000 A17,000
OAsol asxe 0 0 12,000 A12,000
=2 0 8,400 18,400
[= 0 1,800 21,800
2 0 1,800 A1,800
OAS0l Sop=er 2p|| 15,000 20,000 25,000
[ 4,500 6,000 21,500
2 10,500 14,000 23,500
AsHER A 105,500 75,500 30,000
402 QIZHRIE0| A 105,000 75,000 30,000
01 DI2IXIEE X 105,000 75,000 30,000
OAsOl =Itz=ed 22|d| X2
5,000, 0002 *6IH A 30,000 0 30,000
oI B0l2eky 326,139 302, 165 23,974
2 83,130 83,130 0
[+ 14,468 14,468 0
2 223,541 199,567 23,974
S0l 180,260 180,260 0
=2 83,130 83,130 0
= 92,130 92,130 0
101 @244 28,360 28,360 0
=2 14,180 14,180 0
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S A

I‘iiH:

HE]

=

S%*;’: AR
SoIx
&

Gl 2OlEAS (S &8)
2A - 33 H2A(ZH) - HEF = 04| AroH J| &M Hns2

= 14,180 14,180 0

04 JIZtMI2Z2XESE S 28,360 28,360 0

OsETEANY NSRS M2 U 11,000 18,181 AT7,181

= 5,500 9,090 A3,590

= 5,500 9,091 A3,591

O=EXEAE XA 12 7,181 0 7,181

= 3,590 0 3,590

= 3,591 0 3,591

202 odd| 27,960 27,160 800

= 13,980 13,580 400

= 13,980 13,580 400

01 2LHOHI 23,760 22,960 800

OB H2AHL(2HE) 3,200 2,400 800

—&2H> 3 2O 1,600,000 22 3,200 2,400 800

= 1,600 1,200 400

= 1,600 1,200 400

207 AN 4,000 4,800 A800

= 2,000 2,400 2400

= 2,000 2,400 2400

03 AlIE 72| 4,000 4,800 A800

OXN=BLY H2AHL(2HE) 0 800 AB800

—ted 3 | 0 800 AB800

=2 0 400 2400

= 0 400 2400

ME) | & MESLUE 29 9,985 12,600 A2,615

301 LEEAZ 1,995 4,600 N2,605

10 AAH|EAIS 1,995 2,100 A105

OularE 2t A105 0 105

12 JIEt2 A2 0 2,500 A2,500

OsdSIISE2NEEH 0 2,500 22,500

405 KHAESISHI 4,990 5,000 A10

01 A EEFSHI 4,990 5,000 A10

Ol atE 2 A10 0 A10

S0l st 24 74,726 49,280 25,446

201 LBH2AH| 6,750 5,000 1,750

01 At22teldl 1,900 2,000 A100

Ol atE 2t A100 0 A100

03 A2 HH| 4,850 3,000 1,850

OJtF2t FLSD| #HAIZSE 20,0003 *200H 4,000 2,000 2,000

Ol atEZ A150 0 A150

301 LEEAZ 15,976 8,280 7,696

10 AIAH|EAIS 15,976 8,280 7,696
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S A

sgJl=dH

M s@sE HIARE

o2l =g8dg (cHel:&J)

SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
= 60,700 60,700 0
= 20,000 0 20,000
= 60,490 60,700 A210
=4 &M 4 3,990 4,200 A210
201 LEL2 | 1,140 1,200 AB0
01 At22teld| 1,140 1,200 AB0
ONlatEZ 260 0 260
202 o4t 855 900 A5
01 =LHOAHI 855 900 A5
Ooflar= 2 A45 0 NG5
301 LEBAS 1,99 2,100 A105
10 EAIRHIEAZ 1,995 2,100 A105
OulatEZ A105 0 2105
=% FEEy XA 20,000 0 20,000
& 20,000 0 20,000
307 QI2t0| A 20,000 0 20,000
& 20,000 0 20,000
02 BltAAE X 20,000 0 20,000
O=g FHa NSAM 20,000 0 20,000
= 20,000 0 20,000
SEMEINAXIA 156,851 143,182 13,669
& 50,000 50,000 0
= 106,851 93,182 13,669
stESIE Wsd 29 27,717 13,917 13,800
201 LEH2 | 1,950 2,000 B0
01 AtR2telt] 950 1,000 A50
OularE 2t 250 0 250
207 A2IHEH| 2,850 3,000 A150
03 Al A 2H| 2,850 3,000 A150
OulatEZ A150 0 A150
403 X HMSAH=01& 14,000 0 14,000
02 3I|2SH CHSHCHEAIE I 14,000 0 14,000
OASI IsdEIIEMS NMHEES 14,000 0 14,000
s=ME AN 29,134 29,265 A131
101 @1244| 324 865 Ab41
04 JIZtHI2 2RSS E+ 324 865 Ab41
Ogs g & TAIP SHesd 29 315 856 ANV
201 Ler2Zh| 150 600 A450
01 At22teld| 150 600 A450
ONlatEZ YaviS0) 0 450
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S A

X ZH -
o= -

S o1D|SHIE
SolsE MAXE

SEST

Chel: sEMEIIEXI (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
206 H=H| 2,000 1,000 1,000
01 M=zl 2,000 1,000 1,000
Ogst us 2 &5 M= 10,0002 *103+20H 2,000 1,000 1,000
301 LEBAS 950 1,000 AB0
10 EARHIEAS 950 1,000 A50
OularE 2t 250 0 250
405 KHAHE SHI 1,710 1,800 A0
01 XA =S SFHSHI 1,710 1,800 A90
OoollarE 2 290 0 290
MIl=E3 1,639,134 1,663,220 A24,086
= 575,000 575,000 0
& 46,500 58,500 212,000
= 1,017,634 1,029,720 212,086
A28 Jl=E3 167,630 165,400 2,230
201 LEr2 2| 11,835 9,300 2,535
01 At22teld| 11,835 9,300 2,535
ORSBSY F=UX ME 1,50084%2,0008 3.000 0 3,000
OoflarE 2 2465 0 A465
202 o4t 1,140 1,200 AB0
01 2| 1,140 1,200 AB0
Ol &= 2 AB0 0 260
207 &H=1IHEH| 950 1,000 AB0
03 Al A 2H| 950 1,000 AB0
OoollarE 2 250 0 250
301 LBrEAZ 3,705 3,900 2195
10 #AIAHIZ A3 3,705 3,900 2195
ONlatEZ A195 0 A195
W2 D23 166,841 164,780 2,061
201 LEr2 | 4,370 4,600 A230
01 AtR2telt] 4,370 4,600 A230
Oul &2 2230 0 2230
202 Ot 855 900 A5
01 =LHOHI 855 900 A5
OollarE 245 0 A5
207 AN 12,350 13,000 AB50
03 Al A 2H| 12,350 13,000 AB650
OoflarE 2t 2650 0 2650
301 LEB NS 3,266 280 2,986
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2AM: JlsHIE
L ggg_ AR E
el MDIsE3 (S &8)
A - FM . S(SH) - MEAIY - BES 04| AroH J| &M Hlus2
10 AAIHIE A2 3,266 280 2,986
ORS00t sgolNs AEA
60,000& x50 3,000 0 3,000
Ol atE 2 A4 0 A4
DI =IN = 46,163 46,540 N377
201 LEtEAH| 1,235 1,300 A\B5
01 AFR2t2ld| 1,235 1,300 A\B5
OularE 2 AB5 0 AB5
202 o481 513 540 VAVAA
01 2L I 513 540 NPT
Ol A= 2 N7 0 N7
207 AN 4,750 5,000 A250
03 AlE 24| 4,750 5,000 A250
OularE 2 A250 0 A250
301 LEtB A= 665 700 A35
10 AAIHIE A2 665 700 A35
OulaE2 N35 0 A35
SAMSEEIIBIIE XA 500,000 500,000 0
= 250,000 250,000 0
o 250,000 250,000 0
101 2124d| 10,970 19,720 N8,750
= 5,485 9,860 N4, 375
= 5,485 9,860 N4,375
04 J12tNI2EXNSE 10,970 19,720 28,750
OsttE2 E8IaHIH 42 7801 x234 10,011 17,968 NT,957
= 5,005 8,984 A3,979
= 5,006 8,984 A3,978
o4ty 282 10,011,000&%9.57% 959 1,752 793
= 480 876 396
o 479 876 N397
201 LBH2AY| 16,980 10,330 6,650
= 8,490 5,165 3,325
= 8,490 5,165 3,325
01 AtR22|d| 16,980 10,330 6,650
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—SAMEIE DWAHE & el
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= 2,500 0 2,500
= 2,500 0 2,500
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= 10,000 22,500 212,500
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= 14,500 500 14,000
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= 2,500 0 2,500
= 2,500 0 2,500
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= 9,000 0 9,000
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= 2,500 0 2,500
= 2,500 0 2,500
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01 RIZEXIEE X 0 28,000 228,000
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& 0 12,000 A12,000
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01 AFR2t2lt| 3,060 2,460 600
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—SEAFA 2 AEH> /e =5
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= 900 1,200 A300
01 2LHAY] 1,800 2,400 600
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oAt 2= 9,412,000& x10% A2 835 107
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03 Al | 38,950 41,000 A2,050
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401 AIEHIZL 204 28,500 30,000 21,500
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101 2124d| 13,397 7,347 6,050
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- 4,000 0 4,000
Ol &= 2 A800 0 A800
SIHLUAMSE A 29 E IS 100, 362 87,234 13,128
101 @1244| 17,820 8,472 9,348
04 JIZtHI2 2R SE+ 17,820 8,472 9,348
OsJIHLUAIE A 2 45,0002 %2 1802 16,200 7,701 8,49
oAl 282 16,200,000 *10% 1,620 771 849
201 B2 | 57,582 53,962 3,620
01 AtR2elt] 5,516 5,596 A80
OAEAHLIH HAFSWE AHMTH| 2
10,000&*x20H 200 0 200
OoflarE 2 2280 0 2280
02 2223l 52,066 48,366 3,700
OINE=T={s[E=ON] 39,950 36,250 3,700
—50t CCTV &bl SXidl 100, 0002 *7CH 700 0 700
—28 A4 Hoetdus 23|
1,000, 0002 *20t= 2,000 0 2,000
—AFALI|H HEHHUE HHIRFHIFL
500,000 *2CH 1,000 0 1,000
301 LEBAS 400 0 400
10 EARHIEAZ 400 0 400
OASAHAEI|H HAHNMIF 2A=
100,000 *4H 400 0 400
405 KHAHE S| 4,560 4,800 A240
01 IRIL2EFHSHI 4,560 4,800 A240
OoflarE 2 2240 0 2240
LSS =X 33,700 18,700 15,000
= 16,850 9,350 7,500
= 16,850 9,350 7,500
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o 7,500 0 7,500

SIAHLUAME A SIAH 2L XA 334,000 0 334,000

& 100,000 0 100,000

= 234,000 0 234,000

401 AIEHIZL 048I 170,079 0 170,079

& 50,854 0 50,854

= 119,225 0 119,225

01 AlEHI 169,672 0 169,672

OSIIHAUASE A CHHA NSE NS

169,672,000 * 171 2 169,672 0 169,672

= 50,733 0 50,733

= 118,939 0 118,939

02 2elbl 285 0 285

OsIIHAUAE A CHHA NEE IS 285 0 285

= 85 0 85

i 200 0 200

03 AIES0HHI 122 0 122

OsIIHAUAE A CHHA NEE IS 122 0 122

= 36 0 36

= 86 0 86

405 KHAHE SHI 163,921 0 163,921

& 49,146 0 49,146

i 114,775 0 114,775

01 IR EZFSHI 163,921 0 163,921

OsIIHS A sIH 2 163,921 0 163,921

= 49,146 0 49,146

i 114,775 0 114,775

AAE FWS ML 48,000 0 48,000

T 14,400 0 14,400

= 33,600 0 33,600

403 IXIHMSAH=01& 48,000 0 48,000

& 14,400 0 14,400

= 33,600 0 33,600

01 XM E X 48,000 0 48,000
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OoflarE 2t 240 0 A0

207 A2IHEH| 5,700 6,000 A300

03 Al &2l 5,700 6,000 A300

Ol atE 2 A300 0 A300

301 LEIBAZ 1,995 2,100 A105

10 HARHIEAS 1,995 2,100 A105

OO0l ara 2t A105 0 2105

NEESAE WY =4 34,552 35,298 AT46

201 22| 855 900 A5

01 At22teld| 855 900 A5

OollarE 245 0 A5

202 Ot 513 540 N2T

01 =LHOAHI 513 540 NPT

OoflarE 2 N2T 0 N7

207 A2IHEH| 11,875 12,500 A625

03 A& 2| 11,875 12,500 A625

oollarE2 2625 0 2625

301 LB AZ 931 980 A49

10 SHAAHIE & Z 931 980 A49
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HIOIQUUX &= A3 3,340 3,405 AB5

201 B2 | 1,791 1,856 AB5

01 AtR2elt] 1,235 1,300 AB5

oollarEZ 265 0 A\B5

SAIRIFX 211,070 11,070 200,000

= 100,000 0 100,000

= 20,000 0 20,000

= 91,070 11,070 80,000

SAISERXIKIRALS 200,000 0 200,000

= 100,000 0 100,000

= 20,000 0 20,000

= 80,000 0 80,000

101 @1244| 14,400 0 14,400

= 7,200 0 7,200

= 1,440 0 1,440

o 5,760 0 5,760
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= 7,200 0 7,200
& 1,440 0 1,440
= 5,760 0 5,760
201 B2 Y| 69,200 0 69,200
= 34,600 0 34,600
[ 6,920 0 6,920
o 27,680 0 27,680
01 Ar22t2ldl 34,800 0 34,800
OZAICIRX EESHE L 2HUER 20,000 0 20,000
= 10,000 0 10,000
[ 2,000 0 2,000
= 8,000 0 8,000
OH=sHEL AHASIWE M7 &L ME 8,000 0 8,000
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OA=sHEL! FE2AstWs 23| 5,000 0 5,000
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OAsHEL ==SSHEHS HUR
600,000&*33] 1,800 0 1,800
= 900 0 900
& 180 0 180
= 720 0 720
02 S=23| 2,400 0 2,400
OZAIL! st=Hg2 A2t 200,000&*12& 2,400 0 2,400
= 1,200 0 1,200
[ 240 0 240
= 960 0 960
03 SHAF2GHI 32,000 0 32,000
OZAIRISX NSEEN 10,000 0 10,000
= 5,000 0 5,000
& 1,000 0 1,000
= 4,000 0 4,000
OZAPISX MEZZOH 2F 17,000 0 17,000
= 8,500 0 8,500
& 1,700 0 1,700
= 6,800 0 6,800
OZAISI=E ZIHEl 2 5,000 0 5,000
= 2,500 0 2,500
& 500 0 500
= 2,000 0 2,000
202 44| 1,800 0 1,800
= 900 0 900
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206 2| 10,000 0 10,000
2 5,000 0 5,000
= 1,000 0 1,000
2 4,000 0 4,000
01 W2t 10,000 0 10,000
OASAAE ABLSDSK W2 10,000 0 10,000
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= 1,000 0 1,000
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10 EAEI 2 &S 12,200 0 12,200
OFsAE AzLsins 24 3,000 0 3,000
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= 300 0 300
2 1,200 0 1,200
OFSAE ABLSNS SALY 3,200 0 3,200
2 1,600 0 1,600
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OFsPE BFsE 24 6,000 0 6,000
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2 7,500 0 7,500
< 1,500 0 1,500
2 6,000 0 6,000
02 SRIFAEE 15,000 0 15,000
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= 1,000 0 1,000
2 4,000 0 4,000
OFs7=0 ZSH2As N2 5,000 0 5,000
2 2,500 0 2,500
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2 2,000 0 2,000
401 Al&EI L2 TH| 57,000 0 57,000
= 28,500 0 28,500
= 5,700 0 5,700
2 22,800 0 22,800
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= 1,200 0 1,200
[ 4,800 0 4,800
OZAIR HAIFEANS2E =4
43,606,000 * 11 & 43,606 0 43,606
= 21,803 0 21,803
= 4,361 0 4,361
= 17,442 0 17,442
02 Zeldl A1 0 A1
OZAIgl dAIFEHEB2tES 941 0 941
= 470 0 470
= A 0 %A
i 377 0 377
03 AlIES0HHI 453 0 453
O A2 LAIFHS2HES 453 0 453
= 227 0 227
& 45 0 45
o 181 0 181
402 R2I2ERH201 M 15,000 0 15,000
= 7,500 0 7,500
= 1,500 0 1,500
o 6,000 0 6,000
01 QIIGEEX 15,000 0 15,000
Oan2 s =4 5,000,000&*34 2 15,000 0 15,000
= 7,500 0 7,500
= 1,500 0 1,500
i 6,000 0 6,000
405 X S| 5,400 0 5,400
= 2,700 0 2,700
= 540 0 540
i 2,160 0 2,160
01 IR EZF=HI 5,400 0 5,400
OZAlgl SXXZHE HISFL
1,350,000 *44! 5,400 0 5,400
= 2,700 0 2,700
= 540 0 540
i 2,160 0 2,160
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201 LBr2 | 20,257 21,323 1,066
01 Al 22l 20,257 21,323 1,066
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401 AIZBIL ST 22,500 17,500 5,000
01 Al=t] 22,500 17,500 5,000
OARDATAS HXIA Bh4X &t
2,500, 0002+20H A 5,000 0 5,000
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OuBteE BIIYSE HES 357,383 363,222 15,839
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—5= 11,3643 *x3H*10A1 2t 122 4,092 3,961 131
—6= 9,691 2x2H*10A|2H 123 2,326 2,252 74
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73 8, 7543 *7TH*10AIZH12E 7,354 7,120 234
—8= 7,859 x8H*10AI 2t 128 7,545 7,305 240
—9= 7,104 «5H*10A12H 128 4,263 4,127 136
O=UI2R= 8,754 *27 B+30A 2+ 128 85,089 68,656 16,433
203 R =&H| 11,742 12,360 A618
01 71223 &yl 6,270 6,600 A330
ONlatEZ A330 0 A330
02 BRIMLIFEI| 1,482 1,560 AT8
OollsrE 2 AT8 0 AT8
04 FNSIHRFNY| 3,990 4,200 A210
ONlatE 2 A210 0 A210
J|l23| 194,227 200,023 Ab,796
23| 194,227 200,023 Ab, 796
201 Ler2ZH| 116,919 119,619 A2,700
01 AtR2telt] 60,785 63,985 A3,200
ONlatEZ A3,200 0 A3,200
02 2224 56,134 55,634 500
OMIINSK B8g 2 SXE4=(101) 500 0 500
202 Ot 74,008 77,904 A3,89%6
01 =LHOAHI 12,448 13,104 A656
OoflarE 2 2656 0 2656
02 NI 61,560 64,800 A3,240
Ol &= 2 A3,240 0 A3,240
405 THAHE SHI 3,300 2,500 800
01 XA =S SHSHI 3,300 2,500 800
O#gALE HE 500, 0002 *2J4 1,000 0 1,000
OouflarE 2t 2200 0 2200
HZS ArEH 431,868 430,560 1,308
AXEE As 131,725 129,728 1,997
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AQ2S
IS ArZI
XXy as (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S AboH HwsZ
FOUEHHEA 14,060 14,800 AT40
301 LEEAZ 14,060 14,800 AT40
10 SHAAHIE A& Z 14,060 14,800 AT740
Ol arz 2t AT40 0 AT40
=AM 29 80,056 77,044 3,012
101 C1244| 13,332 8,000 5,332
04 I H2ENSES 13,332 8,000 5,332
O=2IXXIME 2tel 40,4002 x2%H*150 12,120 7,272 4,848
@ZIN t=F= 12,120,0002 *10% 1,212 728 484
201 LEH2 | 60,340 62,324 A1,984
01 AtR2telt] 53,696 55,680 A1,984
Og9Zs FAUXXIME 2t Fo| 800 0 800
OullarE 2 N2, 784 0 N2, 784
301 LB AZ 6,384 6,720 A336
10 SHAAHIE & Z 6,384 6,720 A336
ONlatEZ A336 0 A336
SABEES 14,299 14,574 VAVAY(S)
201 LBH=2| 5,225 5,500 VAVAY(S)
01 AtR2telt] 5,225 5,500 A275
oollarE 2275 0 N2T75
2Igtet it 23tAL =& 5,985 6,300 A315
0Pl 2sas AR 4,750 5,000 A250
307 QI2t0|H 4,750 5,000 A250
04 QIZFHALE X 4,750 5,000 A250
OO0l ara 2t 2250 0 A250
HS2SHAIA 1,235 1,300 JANG'S)
301 LB AZ 1,235 1,300 YANG'S)
10 SHAAHIE A& Z 1,235 1,300 JANG'S)
Oollara 2t 265 0 AB5
S A 294,158 294,532 A374
28 HF02HNHA 294,158 294,532 A374
201 L2 | 7,106 7,480 A374
01 AtR2elt] 7,106 7,480 A374
Ooflare 2 N374 0 N374
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20138 =& 1 3] &gt

AN = 0l &

A &H

AP & A A

2A HaE
. SHHSIAH|(HI)
chefr QIR (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
WrZ 570,576 565,329 5,247
HY2AAH|(H+S) 213,930 205,698 8,232
ol | 90,653 79,681 10,972
o1 24H| 90,653 79,681 10,972
101 21244| 75,471 63,921 11,550
01 8= 75,471 63,921 11,550
OAlIZtel22aY HHZ(18H) 18,745 18,150 595
-5z 11,3643 1H*10A1 20+ 123 1,364 1,321 43
—6= 9,691 &x5H*10AI2H+12F 5,815 5,630 185
73 8, 7542 *4Hx10AI 2123 4,202 4,069 133
—8= 7,8593*6H*10A12H+ 128 5,659 5,479 180
—9= 7,10423x2Bx10A[ 2123 1,705 1,651 54
O=UI2R= 8, 7543 * 18 *30A 2+ 128 56,726 45,771 10,955
203 AR =&IH| 10,982 11,560 A578
01 71223 &yl 6,270 6,600 A330
ONlatEZ A330 0 A330
02 HRANMARFAIH| 722 760 A3B
OollsrE 2 A38 0 38
04 FN2IHRFEHI 3,990 4,200 2210
ONlatE 2 A210 0 A210
J|l23| 123,277 126,017 A2, 740
J|l2&| 123,277 126,017 A2, 740
201 Ler2ZH| 70,671 72,701 22,030
01 AtR2telt] 43,855 46,385 A2,530
OullarE 2 A2,530 0 A2,530
02 Z524| 26,816 26,316 500
OIS BEE Y |AB4(1U) 500 0 500
202 Ot 49,706 52,416 A2,710
01 =LHOAHI 8,666 9,216 A550
OoflarE 2 2550 0 AB50
02 NI 41,040 43,200 A2,160
OulatEZ 2,160 0 22,160
405 THAHE SHI 2,900 900 2,000
01 XA =S SHSHI 2,900 900 2,000
OS&0t01=2(900MHz) wH(TME) 2,000 0 2,000
ELE =N STl 335,265 338,100 A2,835
NXHEAS 46,832 47,472 2640
=2 FHEE 11,210 11,800 A5
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SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
301 LEIBAS 11,210 11,800 A5
10 HARHIEAS 11,210 11,800 A5
OoullarE 2t 2590 0 2590
3TE=HNE 5,950 6,000 AB0
201 B2 | 5,950 6,000 A50
01 AtR2telt] 950 1,000 A50
OularE 2t 250 0 B0
=0Isle ) 2otAL F= 40,435 42,300 A1,865
HdE23t Al 1,235 1,300 AB5
301 LEBAS 1,235 1,300 AB5
10 EARHIEAZ 1,235 1,300 AB5
OularE 2t 265 0 265
E3=E)] 34,200 36,000 A1,800
201 LEr2 2| 950 1,000 A0
01 AtR2telt] 950 1,000 A0
OoollarE 2 250 0 250
307 2Izto|A 33,250 35,000 A1,750
04 BIZHHAIE 33,250 35,000 A1,750
ONlatEZ A1,750 0 1,750
KGN ALS 247,998 248,328 A330
22 FH2AHMA 247,998 248,328 A330
201 LEH2 | 6,270 6,600 A330
01 AtR2telt] 6,270 6,600 A330
Oul&HE 2 2330 0 2330
2Zo|etetE 2 2l 21,381 21,531 A150
22 X2 21,381 21,531 A150
2 R=HE| 21,381 21,531 A150
201 LEH2 | 2,850 3,000 A150
01 AtR2telt] 2,850 3,000 A150
Oul &2 A150 0 2150
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AN = 0l &

AP & A A

013HE =F 1 .3 LBHg|H &
2M: &S
. HH2IAH(E=S)
chel: oA Y| (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
== 570,328 553,136 17,192
HY2AAHI(E=S 253,923 245,158 8,765
ol | 109,114 98,067 11,047
o1 24H| 109,114 98,067 11,047
101 21244| 93,818 82,187 11,631
01 2= 75,476 63,926 11,550
OAZI2I2R42 HHZ(18Y) 18,750 18,155 595
-5z 11,3643 1H*10A1 20+ 123 1,364 1,321 43
—6= 9,691 3x6H*10AI2H 12 6,978 6,756 222
73 8, 7542x2H*10AI 2123 2,101 2,035 66
—8= 7,859 x7H*10AI 2128 6,602 6,392 210
—9= 7,10423x2Bx10A[ 2123 1,705 1,651 54
O=uZR=E 8, 7543 * 18 *30A 2+ 128 56,726 45,771 10,955
03 PIAHL2=2 X2+ 18,342 18,261 81
OsXal22el (1Y) 18,342 18,261 81
—tmaEsg 40,4003 12! 485 404 81
203 F=&H| 11,096 11,680 Ab84
01 J|22IHRF&I| 6,270 6,600 A330
OoollarEZ A330 0 A330
02 BRIMHSFE| 836 880 N4
oollarEZ N44 0 A4
04 EA2ILRFLEI 3,990 4,200 A210
OO0l ara 2t 2210 0 A210
JlE2Zzl 144,809 147,091 A2,282
=234l 144,809 147,091 A2,282
201 L2 2| 85,803 87,611 21,808
01 At22teld| 43,847 46,155 A2,308
Ol atE 2 A2,308 0 A2,308
02 2323H| 41,956 41,456 500
OFMIINSA BEE L KAB4(10) 500 0 500
202 o4l 55,106 58,080 A2,974
01 =W 9,576 10,080 A504
OoollarE2 AB04 0 A504
02 EHoHI 45,530 48,000 N2,470
Ol &t A2 AN2,470 0 N2,470
405 KHAHE SHI 3,900 1,400 2,500
01 IRILSEFSHI 3,900 1,400 2,500
ORIEMFEEE 23D 2,500,000 = 1CH 2,500 0 2,500
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XSS A (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S JIEH 2z
S AlE 234 316,405 307,978 8,427
AUXHE S 51,040 49,790 1,250
FUEHHE 12,540 13,200 A660
301 ite 12,540 13,200 2660
10 SAHAS 12,540 13,200 2660
Ol &t 2660 0 2660
C2HSAEEAEY 20,153 18,193 1,960
201 ek 760 800 240
01 At 760 800 240
Ol &t A0 0 A40
206 =4l 4,500 2,500 2,000
01 =4l 4,500 2,500 2,000
OJtz&t
1,000&*2,000= 2,000 0 2,000
Szt 4,608 4,658 A0
201 YLy 4,608 4,658 A50
01 At 950 1,000 250
ONlatEZ AB0 0 A50
lstetlt 23t AL = 5,985 6,300 A315
otz st 4,750 5,000 A250
307 QI2t0| A 4,750 5,000 A250
04 QIZFHALE X 4,750 5,000 A250
Ol &t A250 0 A250
HS2SHAIA 1,235 1,300 AB5
301 LB 1,235 1,300 AB5
10 &AHA 1,235 1,300 AB5
OlllarEZ 265 0 265
NSO AL 259,380 251,888 7,492
28 HF0 259,380 251,888 7,492
201 g2y 9,652 10,160 £508
01 At 9,652 10,160 A508
Ooll&t A508 0 A508
401 Al&HI 249,728 241,728 8,000
01 Al&HI 248,000 240,000 8,000
Ogs 8,000 0 8,000
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N = 0l & AHSE B Al M

20138 = =& 1 3] LS| &l

2A: oA

HH: HHSHAHI(CHOHH)

chefr QIR (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ

CHOtEH 438,259 433,283 4,976
HY2AAH|(TH0HH) 158,741 152,550 6,191
ol | 67,270 59,677 7,593
elals] 67,270 59,677 7,593
101 2124y] 54,870 46,517 8,353
01 B2 54,870 46,517 8,353
OAIZII2RAYEHHZ(13Y) 13,901 13,460 441
-5z 11,3643 1H*10A1 20+ 123 1,364 1,321 43
—6= 9,691 &*4Hx10AI2H12F 4,652 4,504 148
73 8, 743+ 4B+ 10AIZ2H+ 123 4,202 4,069 133
—8= 7,850@x3H*10AI 2122 2,830 2,740 0
—9= 7,104« 1H*10A12H+ 128 853 826 27
O=uZR=E 8, 7543 *13F*30A 2+ 128 40,969 33,057 7,912
203 R =&H| 9,400 10,160 AT760
01 J|22IHRFXIH| 6,270 6,600 A330
ONlatEZ A330 0 A330
02 BRIMLIFEI| 280 560 A280
OulaHE 2 2280 0 2280
04 FNSIHRFNY| 2,850 3,000 2150
ONlatE 2 A150 0 A150
44| 91,471 92,873 1,402
23| 91,471 92,873 1,402
201 Ler2ZH| 52,558 54,017 1,459
01 AtR2telt] 34,126 36,085 1,959
ONlatEZ 1,959 0 1,959
02 2224 18,432 17,932 500
OMIINSA B8g 2 sX2el(1t) 500 0 500
202 Ot 36,343 38,256 A1,913
01 =LHOAHI 6,703 7,056 A353
OoflarE 2 2353 0 2353
02 NI 29,640 31,200 1,560
OularE 2t 1,560 0 21,560
405 THAHE SHI 2,570 600 1,970
01 XA =S SHSHI 2,570 600 1,970
OS&0t01=2(900MHz) wH(TME) 2,000 0 2,000
OollarE 2 A30 0 A30
A ZH] 279,518 280,733 A1,215
HEY A 46,933 47,569 A636
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CHObEH
© CHOMH AN AEHI

XY A CERE)

SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
=0 FHEH 8,645 9,100 A455
301 LB LS 8,645 9,100 A455
10 SHAAHIE A& Z 8,645 9,100 A455
OoflarE 2t 2455 0 455
T2H SFEFH| 16,547 16,587 A0
201 B2 | 760 800 240
01 AtR2elt] 760 800 240
OulatEZ 240 0 A0
FRIA2 LS HIE 22 12,959 13,100 A4
201 LEH2 | 9,480 9,600 A120
01 AtR2telt] 2,280 2,400 A120
OoollarE A120 0 A120
405 THAEE SHI 3,479 3,500 A21
01 XA S SHSHI 3,479 3,500 A21
OollarE 2 N21 0 21
QIStetut 23tHAL =& 5,985 6,300 A315
HoPte 2EsKE 4,750 5,000 A250
307 SI2H01 ™ 4,750 5,000 A250
04 BIZIHAIE 4,750 5,000 A250
OullatEZ 2250 0 2250
HNEZ3H AlAH 1,235 1,300 AB5
301 LEBAS 1,235 1,300 AB5
10 EARHIEAS 1,235 1,300 AB5
OoflatE 2 265 0 265
=Py 226,600 226,864 A264
A2 FFH2AHMA 226,600 226,864 A264
201 LEr2 | 5,016 5,280 A264
01 AtR2telt] 5,016 5,280 A264
OularE 2t 2264 0 2264
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Nl = 0 &k At Al A
0138% =& 1 3 LLSIH MA
2A QA
M SHHSIAH(REH)
chefr QIR (cHel:&J)
2A - M G2 () - HRAY - BES Oi &K JIEA HwsZ
QA 459,001 433,145 25,856
HY2AAH(LEH) 164,044 156, 104 7,940
ol | 67,612 59,764 7,848
elals] 67,612 59,764 7,848
101 2124y] 54,960 46,604 8,356
01 B2 54,960 46,604 8,356
OAlIZte22aY HHZ(13H) 13,991 13,547 444
-5z 11,3643 1H*10A1 20+ 123 1,364 1,321 43
—6= 9,691 &*4Hx10AI2H12F 4,652 4,504 148
73 8, 743+ 4B+ 10AIZ2H+ 123 4,202 4,069 133
—8= 7,850@x4H*10A1 2122 3,773 3,653 120
Oxu=224- 8,754 13 *30AI2H+ 123 40,969 33,057 7,912
203 =&l 9,652 10,160 508
01 J|22IHRFXIH| 6,270 6,600 A330
ONlatEZ A330 0 A330
02 HRANMARFAIH| 532 560 A28
OoollarE 2 A28 0 A28
04 EM2IERFELI 2,850 3,000 2150
ONlatEZ A150 0 A150
J|l23| 96,432 96,340 R
J|=23Hl 96,432 96,340 R
201 Ler2ZH| 53,549 54,884 1,335
01 At22teld| 34,055 35,890 1,835
OoflarE 2t 21,835 0 21,835
02 2223l 19,494 18,994 500
OMIINSK 282 Y SX24=(101) 500 0 500
202 04| 36,343 38,256 21,913
01 =LHOHI 6,703 7,056 A353
OollarE 2 A353 0 A353
02 2HNLI 29,640 31,200 1,560
ONlatEZ A1,560 0 1,560
405 XHoHESHI 6,540 3,200 3,340
01 XL =2SFHSHI 6,540 3,200 3,340
OgiAE &t 500,000 & x22= 1,000 0 1,000
OS&0t01=2(900MHz) wH(TME) 2,000 0 2,000
ONzsZL=E ZelE (1) 500 0 500
OoflarE 2 2160 0 A160
SH ARG EI 294,957 277,041 17,916
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2A QA
M QM ARG
chelr XHHAS (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
X HEAS 45,279 38,784 6,49
FEHHEA 8,645 9,100 A455
301 LB A3 8,645 9,100 A455
10 HAtAHIE &3 8,645 9,100 A455
ONlatEZ A4B5 0 455
T2H SHFET| 21,790 14,790 7,000
206 M= 4| 11,500 4,500 7,000
01 MZHl 11,500 4,500 7,000
OJt2stet E2IJ 24 & B4
1,00084%10,000 10,000 4,000 6,000
OFZ2e| =22 Albl S 1,500 500 1,000
2g ZE==E & 5,950 6,000 250
201 L2 2| 5,950 6,000 AB0
01 AtR2telt| 950 1,000 A0
OollarE 2 250 0 250
=0Istetlt EaFEAFEE 5,985 6,300 A315
HOPt= 2SI 4,750 5,000 A250
307 QI2t0| & 4,750 5,000 2250
04 BIZFHALE X 4,750 5,000 2250
ONlatEZ A250 0 2250
HEZSH Al 1,235 1,300 AB5
301 LB AZ 1,235 1,300 AB5
10 SHAAHIE & Z 1,235 1,300 AB5
OoflarE 2 265 0 265
KISIHL AL 243,693 231,957 1,736
A2 EEFH2HHA 238,600 226,864 11,736
201 LEr2 2| 5,016 5,280 N264
01 AtR2telt] 5,016 5,280 N264
OuflarE 2t N264 0 2264
401 Al2HIL20HYI 233,584 221,584 12,000
01 Al&H] 232,000 220,000 12,000
OUMPL 22 DHIBA 12,000 0 12,000
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AN = 0l &

He =3 1 3 Leta &
=20
B2 %2 (2201)
ol (S92
S - B S9(30) - HRAY - BES ol&tey pE-L HImz2
=2 492,753 466,012 26,741
SHHE2AZH(ELY) 183,855 166,644 17,211
lE2E | 67,533 59,660 7,873
als] 67,533 59,660 7,873
101 el24H] 54,853 46,500 8,353
01 2= 54,853 46,500 8,353
OARIRIZ2RE HHEZ(13Y) 13,884 13,443 441
— 55 11,3643+ 18+ 10A12H 123 1,364 1,321 43
— 62 9,691& x4 10AI2H 123 4,652 4,504 148
- 7= 8,754 x3E~10AI2H+12E 3,152 3,052 100
— 8= 7,850 x5&*10A12Hx12E 4,716 4,566 150
OESN st 8, 7543132 *30A[2H 12 40,969 33,057 7,912
203 g2 9,680 10,160 A480
01 1228 HR=8| 6,270 6,600 A330
OularEz A330 0 A330
04 FEAEIHRFAYI 2,850 3,000 A150
SIEE A 150 0 A150
&l 116,322 106,984 9,338
=34 116,322 106,984 9,338
201 Le+2H| 57,283 53,728 3,555
01 AtR-2teld] 36,738 34,883 1,855
OMEES 2l AHE YX=(660M) 3,600 0 3,600
OullatEZ 1,745 0 A1,745
02 324 20,545 18,845 1,700
OFIINsx BEE 2 RXE2HI(10H) 500 0 500
Odbtel ZEAE MRS 100,000 122 1,200 0 1,200
202 04l 36,415 38,256 1,841
01 =LHOHI 6,775 7,056 A281
SLINEE 7281 0 281
02 ZH0iH| 29,640 31,200 21,560
OullatEZ 21,560 0 21,560
405 XHHH =4 22,624 15,000 7,624
01 NHHH=ZF SH| 22,624 15,000 7,624
OAMRA = Sctels wH 3,200 0 3,200
Oglaal 2I=D| WHI(1TH) 2,500 0 2,500
OS0t0I=2(900MHz) RHM(THIE) 2,000 0 2,000
OularEz NT6 0 AT6
2 AIEZHI 308,898 299,368 9,530
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PN 249
mu: 220 AR
ool IXdEE o8
S - B S9(3IH) - ARAY - BES 0] apot plEE"
XSS A 41,893 43,301
=G 1P 7,792 9,100
301 LetBa=g 7,792 9,100
10 SALAHI24Z 7,792 9,100
oollarE 2 21,308 0
ST=E=Y 29 9,900 10,000
201 LBt2Y| 9,900 10,000
01 At22teld| 900 1,000
oollarE2 A100 0
F0lotElt EateAL =& 7,750 8,300
0Pt 24Es Nd 4,750 5,000
307 SI2H0| A 4,750 5,000
04 BIFHAIE X 4,750 5,000
Ovllarz2: A250 0
HdE23H Al 1,200 1,300
301 LEIBAS 1,200 1,300
10 SAIAHI2 4 Z 1,200 1,300
OvllerE2: A100 0
KHOHZ & A 1,800 2,000
301 L2 A=3 1,800 2,000
10 SHAAHIE A& Z 1,800 2,000
oollarE2 A200 0
KGN ALS 259,255 247,767
22 WA 237,864 226,864
401 AIEHIZ 20| 232,584 221,584
01 Al&H| 231,000 220,000
OFD L MO F=EM BxTA 8,000 0
OZA 2IHT DA 3,000 0
22X FHE| 21,391 20,903
101 @1244] 15,911 15,423
04 122 SEs 15,911 15,423
OutI?l =EAIE =8 JH(Z&E S)
60,3302 x4 B 12 *53] 1,207 724
OMEE = 15,753,000 * 1% 158 153
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AN = 0l &

AP & A A

0138% =& 1 3 LLSIH MA
A 2HH
i #HHSIAHI(ZAMH)
chefr QIR (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEA HwsZ
A 433,576 430,580 2,9%
HY2AAH|(Z2MH) 162,665 158,647 4,018
ol | 67,415 59,573 7,842
o1 24H| 67,415 59,573 7,842
101 2124y] 54,763 46,413 8,350
01 B2 54,763 46,413 8,350
OAlIZte22aY HHZ(13H) 13,794 13,356 438
-5z 11,3643 1H*10A1 20+ 123 1,364 1,321 43
—6= 9,691 &*4Hx10AI2H12F 4,652 4,504 148
73 8, 7543 *3H*10AIZH12& 3,152 3,052 100
—8= 7,850@x4H*10A1 2122 3,773 3,653 120
—9= 7,104« 1H*10A12H+ 128 853 826 27
O=UI2R= 8, 7543 *13F*30A 2+ 128 40,969 33,057 7,912
203 R =&H| 9,652 10, 160 A508
01 71223 &yl 6,270 6,600 A330
ONlatEZ A330 0 A330
02 AN REXIY| 532 560 A28
OollsrE 2 A28 0 A28
04 FNSIHRFNY| 2,850 3,000 2150
ONlatE 2 A150 0 A150
J|l23| 95,250 99,074 A3,824
J|l2&| 95,250 99,074 A3,824
201 Ler2ZH| 53,416 55,146 21,730
01 AtR2telt] 35,315 37,545 A2,230
OoflarE 2t 22,230 0 22,230
02 2224 18,101 17,601 500
OMIINSK B8g 2 SXE4=(101) 500 0 500
202 Ot 39,034 41,088 A2,054
01 =LHOAHI 7,114 7,488 A374
OoflarE 2 A374 0 N374
02 NI 31,920 33,600 1,680
OularE 2t A1,680 0 21,680
405 THAHE SHI 2,800 2,840 A0
01 XA =S SHSHI 2,800 2,840 A0
OollarE 2 240 0 A40
TAH At ZH] 270,911 271,933 1,022
KX SHE A S 34,314 34,809 2495
FUEHHE 8,645 9,100 A455
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0
>
o
0
40
]
0

S - BB () - HRAY - BaES 0] apot plEE SImE==
301 LEIBAS 8,645 9,100 A455
10 HAtAHIE &3 8,645 9,100 A455
OulatE2 2455 0 2455

29 3| 16,250 16,290 A0
201 B2 | 760 800 A0
01 AtR2telt] 760 800 240
OulatEZ 240 0 A40

oISt tE St A& 8,325 8,500 A175
HEZSHAIAH 1,235 1,300 AB5
301 LEBAS 1,235 1,300 AB5
10 EARHIEAZ 1,235 1,300 AB5
OulatEZ 265 0 265
KHHZ ALY 2,090 2,200 A110
201 LEr2 2| 2,090 2,200 A110
01 AtR2telt] 2,090 2,200 A110
OulatE2 A110 0 A110
KIS ALS 228,272 228,624 A352
2 2EFHAHMNS 228,272 228,624 A352
201 LEt2EH| 6,688 7,040 A352
01 AtR2elt] 6,688 7,040 A352
OoollerE 2 A352 0 A352
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H = 0l AF AFSE E Ml A
01BEE FZ 1 3 Luks|H ®A
SA: 2
M HHSAHH|(RLH)
ol o2 (CHl R )
SA - B SRI(E) - NIRAY - BES 0l st plEE" HIDEY
SIuEe] 539,804 501,615 38,279
A SAAH|(2D) 191,087 183,457 7,580
NECET 9,067 81,474 8,593
o121 9,067 81,474 8,593
101 0124 77,307 68.234 9,073
01 24 58,965 49,973 8,99
OAZI2R4L HHL(14) 14,844 14,373 471
—53 11,36420% 12+ 10AI 2128 1,364 1,321 8
62 9,691 21x424x10A| 2+ 122 4,652 4,504 148
72 8, 75424+ 10A| 2H 12 4,202 4,069 133
—82 7,85021%424x10A|2H 122 3,773 3,653 120
932 7, 10420%124x10A| 2H 122 853 826 o7
OE =P 8, 75421 % 14Zx30AI 2+ 122 44,121 35,600 8,521
03 RIHA22 A% 18,342 18,261 81
O=xlslz 22|(1) 18,342 18,261 81
—oixeaay 40,4002+ 12 485 404 81
203 2= 9,760 10,240 480
PR 6.270 6.600 330
Ol atE 2 A330 0 A330
04 BAERYL =AY 2,850 3,000 A150
ONlatE 2 A150 0 A150
J|=2| 100,970 101,983 A1,013
1= 2| 100,970 101,983 A1,013
201 L2 59,436 60,895 A1,459
01 Al 22| 36,599 38,558 1,959
OO AFE 2t A1,959 0 1,959
02 2Z2%H| 22,837 22,337 500
ORISR EEE L SX=2(10H) 500 0 500
202 04t 39,034 41,088 2,054
01 =LHoib| 7114 7,488 374
OOl A= 2 N374 0 N374
02 ZH0iH| 31,920 33,600 A1,680
OO AFE 2t A1,680 0 A1,680
405 XHAHE S| 2,500 0 2,500
01 AL 2EF S| 2,500 0 2,500
OpIglAl TeIEd| R 500 0 500
OS2 &0H012(900MHz) DH (THIE) 2,000 0 2,000
e Al 348,857 318,158 30,699
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A 2dH
M YO Al
chelr XY A8 (cHel:&J)
SA - ZH . GA(SH) - HRAY - B82S Of] AboH JIEH HwsZ
HE A 33,677 34,197 A520
g FHHA 8,645 9,100 A455
301 LB A3 8,645 9,100 A455
10 HAtAHIE &3 8,645 9,100 A455
ONlatEZ A4B5 0 455
2 SZJH| 13,250 13,290 240
201 LBr2ZH| 760 800 240
01 At22teld| 760 800 240
OoflarE 2t 240 0 240
MsZ=HE0E 2Y 2,636 2,661 A5
201 B2 | 475 500 A25
01 AtR2telt] 475 500 A25
OularE 2 25 0 A5
Stetlt SStA =2 8,360 8,800 A440
0Pl 2= AR 4,750 5,000 A250
307 QI2to| & 4,750 5,000 A250
04 QIZFHALE X 4,750 5,000 2250
OulatEZ 2250 0 2250
s=38t Al 1,235 1,300 AB5
301 LB AZ 1,235 1,300 AB5
10 SHAAHIE A& Z 1,235 1,300 AB5
OoflarE 2 AB5 0 65
OtAFAl =KX= KHIHZ H AL 2,375 2,500 A125
201 B2 | 475 500 A25
03 A2 475 500 A25
OularE 2 25 0 N5
301 LEIBAS 1,900 2,000 A100
10 HARHIEAS 1,900 2,000 A100
Oul &2 A100 0 A100
KSR ALS 256,600 226,864 29,736
A28 FF0A O 256,600 226,864 29,736
201 L2 2| 5,016 5,280 A264
01 At22teld| 5,016 5,280 A264
ONlatEZ A264 0 A264
401 AIEHIZ 2| 251,584 221,584 30,000
01 Al&H| 250,000 220,000 30,000
O3JIE8d =H 20,000 0 20,000
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N £ 0ol & AFSE H Al A
013HE =F 1 .3